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20180402 [F XN [k2#in —  |BiRER AT R AR AT 20182 [PUE S w2 (BTHA) &%, by |[E74A [k 75.0 75.5 75.35
20180403 | 4R | K2E5E . |Bii e B R A R AT (20182 |WIES 2 (A iz, s | EAA  [IkR 16.5 52 41.35
20180404 |17 | K2A9uiE . |Bi e A B BB R AR (201828 |WES 2 (BFA) iR, s | EAA  [IkR 44.6 74.5 65.53
20180405 | By pkydi [RZEdeil = |BRPEAEISHE B AR A A 120184 [981E (A4 ik THA kR 0 0
20180406 |# KM [RZEdiBE = |BPEEISHE R AR AT 120184 [981E (A4 ik LA kR 54.5 74 68.15
20180407 [EE48 RN |2 deiE = |BRIEIR A E BRI A R A A (20184 [0 (LT-A) M4 ERA [k 0 0
20180408 |fii & [R=FEdiE = |BRPEEISHE RHA R AT 120184 [98iE (BHAD ik LA kR 100.0 66 76.2
20180409 [Frx | K2E5uiE . |BRiu e A B BB AR AT (201828 |WIES 2 (LFA) iR, s | EAA  |[&wi 0.0 46 32.2
20180410 [&ifk | K2A9uiE . |B R A B REH R AT (20182 |WHES % (BFA) iR, s | EAA  |[&wi 86.5 84 84.75
20180411 |ZffE | R2AouiE —  |Biii e A B R H R AR (201828 |WOES 2 (BFA) iR, s | EAA |[&wi 0 0
20180412 [ E [ kFEiE = |BONERAFEH AR AT 20182 [PUES w2 (BTFA) EfR. by | EIA [EiR 0 0
20180413 [Z M | K2E0E . |Bii R B B R A A (201828 |WES L2 (BFA) iR, s | EAA @i 0 40 28
20180414 Xt | K2E9uiE . |BRUER A B BB R A F (201828 |WOES X (BFA) iR, s | EAA @i 0 0
20180415 [ [ ki BB AF AR AT 20182 [PUES w2 (BT EfR. s | EIA [EE 0 0
20180416 [# = | K2ETuE . |Bi R A B BRI R AT (201848 |WHES 2 (BFA) iR, s | EAA (&R 0 0
20180417 [FIBE [ K3E = Bl A EREA R A A [20182 |G w2 (BFA) m#. iy [ 4k |E# 84.7 78 80.01
20180418 |Fhepe | K220uiE —  |Bu e A E R R A F] (201848 |WES 2 (BFA) Big. s | EAA |[&i% 33.3 9.99
20180419 | | K2EouiE —  |Bii R A E R R AR (201848 |WHES 2 (BFFA) BiR. s | EFAA  [&i% 0 0
20180420 [l 30 | KZE9uiE . |BRIU R A E BRI IR AR (201848 |WHES 2 (BFHA) BiR. s | AL (&R 36.6 66 57.18




20180421 [Z=7T [ k2B = BB AF R AR AT |2018%% [PUEF w2 (BTHA) BRIy | ETA [Eig 79.7 77.5 78.16
20180422 [ RE [ X¥3iE = B ERHAEREARAR 20182 [WGES oy CEFA) . g [Hr4k  |miz 0 0
20180423 [Z4:4l  [ K diiE = B ERH B RHEA R A R (20182 [BGES 0 CEFHA) mf. g [EAA |miR 0 0
20180426 |25 )% [ KR~ [P ERAFT R AR AT |2018% [iHENEIESHA (74K mig | L74A [ 88.2 72 76.86
20180427 Wkttt | R=Fdcil—  |BEPH RIS E R AR A A 20184 [MEE TR (TAHA) M LTIHA  |ER 66.0 50 54.8
20180428 | T #f [ R&dcil—  |BEPH RS E R AR A A 20184 [ TR (TAHA) Mz LTHA  |HR 0 0
20180429 [4=W| | R#FIiE " |BEPE RS HE RHE AR A A 20184 [ME TR (TAHA) M LTIHA | 0 72 50.4
20180430 [ pt v | R&deif —  |BEPEAESRHE RH AR A A 20184 [ TR (TAHA) mix LTIHA  |ER 0 27.5 19.25
20180431 [/fe [ REFIE . |BIEIR AT R RA 2018 |G (CBTFA) WMk LRA  |ER 100.0 30
20180432 [ /b7 | RF Il |BEPE RIS E R A R A A (20184 | &l (BAA) m#z LTHA  |HR 0 81.5 57.05
20180433 [k [ RFIEiIE "  |BEPEARIEHE R A IR A A | 20184 | &l (BAA) iz LTIHA  |ER 0 28.5 19.95
20180434 [ ey [ R 30E = |BIER AT R A R A A [2018%% |G CRT-A) WM LRA  |ER 0 0
20180435 |Fi4E | KRB  |BRPEEISHE R AR A A 20184 |&iF% (BAA) iz LTHA BRI 4% 76.9 71.5 73.12
20180436 [Bl & £ [ R=dil—  |BEPEAEISHE R AR A A 20184 |&1F% (BAA) iz LTHA BRI 4% 0 66 46.2
20180437 [kt [ RFdil .  |BRPEARISHE R A IR A A 20184 [&iF% (BAA) iz LTHA BRI 4% 0 0
20180438 [## [ R¥I0E BRI AR A RA A [2018%% | &1t CRTFA) W% LRA  |ER 100.0 30
20180439 | B %5 [ RZFdil—  |BRPEAEISHE R A R A A 20184 |&iF% (BAA) iz LTHA BRI 4% 0 74 51.8
20180440 | T &# [ Rl —  |BEPEEISHE RH AR A A 20184 |&iF% (BAA) iz LTHA BRI 4% 0 59 41.3
20180441 [ F15 7 [ R¥I0E = BRI A TR A RA A [2018%% | &1t CRTFA) Wi LA | 0 0
20180442 [ [RFEIE T |BEPEEISHE RH A R A A 20184 [&iF% (BAA) iz LTHA BRI 4% 0.0 75.5 52.85
20180443 [T} [ REFI0E = BRI AT R A RA A [2018%% | &1t CRTFA) Wi LHA | 0 0
20180444 | T A [ R00E = BRI AT R A RA A [2018%% | &1t CRTFA) MR LA R 0 0
20180445 [BExx [ RFI0E = BRI A TR A RA A [2018%% | &1t CRTFA) Wi LRA R 0 0
20180446 [X|7r | RZFEHIE " [PPSR E R AR A A 20184 |21 (BAA) iz THA  |[wiR 0 66 46.2
20180447 [H% | R=FHEIE BRI EISHE R AR A A 20184 |21l (BAA) miz THA  |[miR 98.4 93 94.62
20180448 | Hiwlg: | K=ol |BRIG RIS E BH A R A A 20184 [&1l% (BAA) iz THA  |[wiR 51.5 385 42 4
20180449 | sl [ RFEdiE —  |BRPS RIS E BH A R A A |2018%% [ 2115 (BAA) iz THA  |[miR 0 66.5 46.55
20180450 [{F4rf | R==dilt— [PPSR E BH A R A A 20184 |15 (BAA) iz THA  |[wiR 0 9 6.3
20180452 [+ PE | R g = |BRPE RIS E BH A R A A 20184 |15 (BAA) iz THA  |[miR 0 36.5 25.55
20180453 [#fE [ REIE BRI AE R A R A A [2018%% | &1l CRTFA) W% LIA [ 0 65 455
20180454 [FKER4r [ R2ED0iE = BRI A E R A R A A [2018%% |&i1% CRTFA) W% THA [EE 0 0
20180455 |#idE [ RFEEIE T |BPEEISHE RH AR A A 20184 |21l (BAA) iz THA  |[wiR 0 58.5 40.95
20180456 [xlfm [ R=FEdE " |BPEEISHE R AR AR 20184 | A\ i st B (B HA) iR THA  |[miR 89.8 8 32.54
20180457 [ [ R%E50E = BRI A F R A R A A [2018%% | A W ZIREH (LTA) wiix THA  |[wiR 0 69.5 48.65
20180458 |kt [ RFHiE . |BRIEEISHE R AR A A 20184 | A i BHRE R (AR iR THA  |[miR 0 62.5 43.75
20180459 | T2 [ R=ZEHiE = |BVGEISHE R AR A A 20184 |\ it sl (BHA) hiz THA  |[wiR 0 59.5 41.65
20180460 |4 [ KRB  |BPGEISHE R AR A A 20184 [\ it B (BHA) iz THA  |[wiR 100.0 30
20180461 [ )2 [ R=FEHIE " |BRIGRISHE R AR A A 120184 [ A i Bt (BHA) iR THA  |[wiR 100.0 31 51.7
20180462 [frir [ R=FEHiE—  |BVGRISHE B AR A A 20184 |\ it Bl (A iz THA |[wiz 0 58.5 40.95
20180463 [ H [ K¥EI0E— B A AR A RA A (2018 | A SRS HE (LTHA) Hii% THA |[wiz 0 0




20180464 [ —FF [ RF¥3E = B Es A E A R A 7 (20185 [1TBUEH (BTHA) Mz T A PR % 86.6 69.5 74.63
20180465 [ik % [ R¥3iE = B s BB R R A 7 (20185 [1TBUEH (LT-A) iz LRA  |ER 0 0
20180466 [fhilfi | RFEIE . |BEPEARIEHE RHE AR A F (20184 [ATBUEHE (TAA) M LTIHA | 0 0
20180467 | HE | R&FdilE .  |BEPEESRHE R AR AR |2018%% | TEH (TAA) mix LTIHA | 43.2 69 61.26
20180468 |7 | RFEIE " |BEPEAREHE R AR A F 20184 | TEH (LAA) Mz LTIHA  |ER 0 0
20180469 |5k o B A RFIE = BRI ES A E A R A A (20185 | TriEH (LT-A) miix LRA  |ER 0 0
20180470 [X4% | RFEIE " [PPSR E R AR A A 20184 | TEH (LAHA) Mz LTIHA | 0 86 60.2
20180471 [ 30m [kl |BEPEARRHE RH AR A A |2018%% | TrEH (LAHA) M LTIHA  |ER 89.9 53 64.07
20180472 | HAiMN | R deil . |BEPEARISRHE RH AR A A |2018%% | TrEH (LAHA) Mz LTIHA | 0 58.5 40.95
20180473 [k i & | Rl  |BEPE AR E RH AR A A |2018%% | TrE s (LAHA) M LTHA  |HR 31.5 75 61.95
20180474 [Bowt | RFIE . |BEPEAREHE R AR A F 20184 | TEH (LAA) M LTIHA  |ER 55.1 49 50.83
20180475 k% | RFEIE T [PPSR E R AR A A 20184 | TEH (TAA) M LTIHA  |ER 0 0
20180476 [4IRF [ R¥30iE = B A AF R AR A A (20185 | TriEH (T4 mix TRHA R 0 0
20180477 [Juwtoik [ RFdil . |BEPEAEISHE RHE A R A A (20184 | TriE s (LAHA) M LTHA BRI 4% 0 0
20180478 [FEHRMY [ RZ=deil —  |BEPERISHE RH A R A A 20182 |HBr&F 5% 5 (BAA) miE LTHA BRI 4% 0 0 0
20180479 [FkEYL | K20l = |Biis G B A IR AR (201848 |52 (B4 LTIA BRI 4% 75.1 79.5 78.18
20180480 |Fhimeit | K20l — B A B A IR A (201848 |1E%: (BFAD LTIA BRI 4% 0 80.5 56.35
20180481 [¥i—&I| | K=ol — B aE R AR AR (20184 |¥E%: (BFHAD LTHA BRI 4% 100.0 80.5 86.35
20180482 [H[E | KZEgiE = |Biis A E R AR AR (20184 |¥E%: (LA LTIA BRI 4% 0 56.5 39.55
20180483 [#iilE | Kol —  |Biies A B A IR A F] (20184 |1E%: (LA LTIA BRI 4% 0 86.5 60.55
20180484 | T ik | K20l — B E R AR A (201828 |52 (BFAD LTIA BRI 4% 100.0 82.5 87.75
20180485 [ £ | RZFEgiE PR E R AR A F] (20184 |iE%: (BFHAD LTIA BRI 4% 26.4 77.5 62.17
20180486 [vE | RZFEgiE—  |BiuER A E R AR AR (20184 |¥E%: (BFHAD LTIA BRI 4% 23.1 50.5 42.28
20180487 [xlff | RFHIE " |BPEEISHE BHE A R A A (20184 [ATEUEE (EREA) M A | RAR 0 92 64.4
20180488 [f2% [ KRB |BRPSAEISHE BH A R A A (20184 [ (At A A | RAR 0 0
20180489 [ (154 | K2A9uiE —  |Biiu e A B B A R A A (201828 |iHEN B 5HEA GaEad) k% |mEds |[wiR 100.0 735 81.45
20180545 | T [R=EdBE | BRI SRR 20187 |PiE = e CEFRA) . Wy [HAA |b4s 85.0 48.5 60
20180546 [XIfiE  [KZEHE T |BIGE IR 20187k |7l (BTHA) Mg THA kR 81.7 24.51
20180547 % BIE [KZEHE = [Py IR 20187k |JuiE (BTHA) Mg THA kR 90.0 27
20180548 |15 | K2ETuE . |BiuIE S 2ER 20187k |JiE (BTHA) Mg THA kR 83.3 24.99
20180549 753 [R=ESE T | BRI SRR 20182 |JxiE (LF-A) A LA kR 81.7 70 73.51
20180550 [k ¥ [R=ESE T | BRI SRR 20187 |PiE= e CEFRA) . Wiy [HHAA |EiR 98.4 83 87.62
20180551 |74 [R=ESE T | BRI SR 20187 [PiE = e CEFRA) . iy [HHAA |ER 83.3 67.5 72.24
20180552 [ &5 W X, [ R=Edeil = | Bk vh i & RE )l 22 20187 |PiE= e CEFRA) Hf. iy [HHAA |ER 85.1 70 74.53
20180553 |mifhfE [A2Edein = |k B2 20187 |PUiE = e CEFbA) wi. Wiy [LHHAA |EiR 88.4 62 69.92
20180554 |FF/Mfn | K2E0eiE — | B a A S B 2EAL 20187 [PUiE= e CETEA) wf. Wiy [HHA  |EiR 80.0 61.5 67.05
20180555 [[fivE | K2EouiE . |BRHIE S BRI 2ER 20187 [PiE= e CETEA) wf. Wiy [HHAA  |Ei% 93.3 775 82.24
20180556 |48 | K2A0eiE — | BibiE S B 2EAR 20187 [PLiE = e CETEA) . Wiy [HHAA  |EiR 93.3 58.5 68.94
20180557 [ A /Mt | K2E0eiE — | B i A S B 2EAR 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 96.7 72 79.41
20180558 Bl | KZETE . |BRHIE S BRI EAR 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 93.3 89.5 90.64




20180559 XI5 iz | R2E0aiE — | Bt i BRI AR 20184 [PUET % (BAA) wfg. Wi | HALK PR % 76.6 22.98
20180560 [ A& [R¥aiE = |BbiE S E0)I R 2018%% |PUGEZ % (BIHA) MR, g | LA |[wiE 81.7 68.5 72.46
20180561 [Z&=3) [ R¥FIE " |BRAEE BFIFR 2018%% |PUES 0 CEAAD wiE. Wi | LA | 75.0 58 63.1
20180562 | TR | K2Eguil — | PRt SRR 2018%% |PUE S 2 CEFA) . g | LAA  [wi 83.4 91 88.72
20180563 |k fisE | R aeil | BEPEE D3RI 2018%% (PUGEZ % (BIHA) MR, g | HIA [ 93.4 65 73.52
20180564 | D& Hg [ RFETEE " |BRAE BIFIHR 2018%% |PUES ¥ CEAAD wiE. Wi | LA | 75.0 76.5 76.05
20180565 [kl | RFEIEE T |BEPEIE SRR 2018%% (PUGEZ % (BIHA) MR, g | LA |[wiE 98.4 63.5 73.97
20180566 [ &Pl [ RFETEE " |BRAEE BRIFR 2018%% |PUES S CEAAD wiE. Wi | LA | 83.4 77 78.92
20180567 | T lE | K2Egeil— | BRitE SRR 2018%% |PUE S 2 CEFA) . g | AL (Wi 95.0 68 76.1
20180568 |#fifnts [ RFETEiE—  |BRiE B1FIHR 2018%% |PUES ¥ CEAAD wiE. Wi | LA | 100.0 65 75.5
20180569 |57 [ RFEFEE T |BRAEE BRI 2018%% |PUES ¥ CEAAD wiR. Wi | LA | 75.0 85.5 82.35
20180570 [Z&=5% [ R¥FFE " |BRAAE BIFIFR 2018%% |2kl CETA) iR LRA  |ER 96.7 78 83.61
20180571 [ Pff  [R=Edeif = |BRPE I SR 2018% (W 2 MKl (LHA) Hix LTHA BRI 4% 91.6 80 83.48
20180572 [ H¥E [ R=Edeil = | BRI SR 20182 |4 TR (LFA) MR LTHA BRI 4% 85.1 525 62.28
20180573 [#fin  [REIEE = |BRIUIE ISR 20187 [iFEIHLEI S EAR (EHA) wig | EAA [w 81.7 73 75.61
20180574 [Hih  [REIEE = |BRIUIE ISR 20187 [iFEHLEI S EAR (EHA) wig | TAA  [wi 70.0 51 56.7
20180575 (4= & [RFEIiB | BRI SRR 20187 [thZETAESTZE (CBRAA) Hi% LTHA BRI 4% 86.7 62 69.41
20180576 [kl [=Edeil = | Bk PE I SRl 20187 [thZETHESTZE (CBRAA) Hi% LTHA BRI 4% 83.4 56 64.22
20180577 [ XLl [R=Edeif = | BkvE i & Rl A 20187 [thZETHESTZE (CBRAA) Hi% LTHA BRI 4% 73.4 61.5 65.07
20180578 [ M= B [RZEdeif = | Bk vE I & R0l A 20187 [MIETAE (LFA) iR LTHA BRI 4% 75.0 54 60.3
20180579 [#E /R | K20l = | BT IE DD 2R 2018% |5 T (LAHA) M LTHA BRI 4% 68.3 20.49
20180580 [F5i  [R=EdeiB | BRI SR R 2018%% |&IEMA TR CETHA) W% LTHA BRI 4% 85.0 725 76.25
20180581 |7kl le: [ 2Edeif = | Bk 7E I SRRl A 20187 [ifE TR (LFA) MR LTHA BRI 4% 73.3 75.5 74.84
20180582 | F 2 [KZEHiE—  |BIGE IR 2018%% (&l (LHA) miz THA  |[wiR 88.3 26.49
20180583 | B pE [ R=E gl = | Bk VG I SRR S 20187k |&@hz: (LTHA) iR THA  |[miR 93.4 82 85.42
20180584 [HiF  [R=ESE | BRI SRR 2018%% |&@hz: (LTHA) iR THA  |[wiR 73.4 83 80.12
20180585 |Fi4 bl | K20l — | BT IE S RN 2018%% &2 (BFHA) iR THA  |[miR 81.7 24.51
20180586 [#E35  [REIUIE = |BRIUIE SIS 2018%% |&it% (LHAA) W% THA  |[wiR 80.0 24
20180587 |Z/ME [ RZEdiB = |BkvE i &R 2018%% |&it% (LHAA) W% THA  |[miR 95.0 76 81.7
20180588 [#hal  [RFEIE T | Bk LRI R 2018%% |&it% (LHAA) W% THA  |[wiR 95.0 68.5 76.45
20180589 [#RIN | RZEgeE = |BRIUIE S RN AR 2018%% &2 (BFHA) iR THA  |[miR 100.0 79 85.3
20180590 [H @ [=EdeiE = |BRiUIE SIS 2018%% |&it% (LHAA) W% THA  |[wiR 80.0 70 73
20180591 |Erif | KZETiE . |BRUIE S BRI ER 2018% |&il% (BAA) Wiz THA  |[miR 85.1 25.53
20180592 | L#f [ R=EdiB = | BRI SRR 2018%% |&it% (LHAA) W% THA  |[wiR 83.4 64 69.82
20180593 [Ty | KZETE . |BRIHIE S BRI 2ER 2018% (&1l (BHA) iz THA  |[miR 75.0 22.5
20180594 |Bkiedk | K20l — | BRpiiE SRS 2ER 2018% |&il% (BHA) wiz THA  |[wiR 100.0 75.5 82.85
20180595 [BE & [KEdiB = |BUE I S EIER 2018% |&il% (BHA) wiz THA  |[wiR 85.1 71 75.23
20180596 |5 wift | K2EoeiE — | BRiuiE S BRI 2EAR 2018% |&il% (BHA) wiz THA  |[wiR 71.7 21.51
20180597 [XFFid [l = | Bk BB 2R 2018% |&ih% (BHA) iz THA |[wiz 80.0 64 68.8
20180598 [Z=hl [RGB = |BRVE I BB 2018%% | &t (LA W% THA |[wiz 96.7 70.5 78.36




20180599 |4 & [A2gdilE = |BRUG W BRI 2018%% | &1t (BTHA) iR LIA [z 98.4 74.5 81.67
20180600 [Z=7F | KRZEguE = |BRE SRR 2018%% &2 (A iR LRHA | 93.4 72.5 78.77
20180601 [#gett | R&deil—  |BEPEE B3R 2018%% | &1t (KAA) Wi LTIHA | 81.6 66.5 71.03
20180602 | ¥ | R&deif—  |BEpEE B3R 2018%% |\ RFER (LTHA) MR LTIHA | 78.4 84 82.32
20180603 |44 | R&IniE . |BEPEE D3RI 2018%% |\ JRFE R (LTHA) iR LTIHA  |ER 100.0 65.5 75.85
20180604 #4758 | RF0uif—  |BEPEE B3R 2018%% |\ RFER (LTHA) iR LTHA  |HR 76.6 69 71.28
20180605 [EadE | R deil—  |BEPEE SRR 2018%% |\ RFER (LTHA) MR LTIHA | 83.3 76 78.19
20180606 [7F £F4 | R&0eif—  |BEPEE B3R 2018%% |\ RFER (LTHA) MR LTIHA  |ER 76.7 82 80.41
20180607 [k | RFIEE . |BEPEE SRR 2018%% |\ RFER (LTHA) iR LTIHA | 96.7 74.5 81.16
20180608 [xli& | RFIEE . |BEPEE SRR 2018%% |\ RFER (LTHA) iR LTHA  |HR 81.8 56.5 64.09
20180610 455 3] | R&0eil . |BEPEE SRR 2018%% [fTHUEH (LTFA) Hiz LTIHA  |ER 76.7 84.5 82.16
20180611 [J5MdE | RE0EiE . |BEPEIE SRR 2018%% [1THUEH (LTFA) Mz LTRHA R 95.0 77 82.4
20180612 [Frlal /[ 0eiE = |BRIUIE IS4 2018%% [ATHUEHEE (CETEA) W% TRHA R 91.7 66 73.71
20180613 [#IRIR [R=Edeif = |BRPE I SR 20184 [1TBUEH (LIHA) HiR LTHA BRI 4% 80.0 60.5 66.35
20180614 [ A  [RFEICE T | BRI SRR 20184 [1TBUEH (LIHA) miR LTHA BRI 4% 98.3 85.5 89.34
20180615 (Ml | KR2Egail = |BRITIE SRR 2018%% | LiEH (LT7FA) Wiz LTHA BRI 4% 88.3 82 83.89
20180616 7k & | RSl = |BRIUIE SRR 2018%% | LiEH (LTFA) Wiz LTHA BRI 4% 88.4 78.5 81.47
20180617 [Z2dE | RZEguilk = |BRIUIE SN 2018%% | LriEH (LT1A) Hix LTHA BRI 4% 64.4 69 67.62
20180618 7k | KZEguilE = |BRIUIE SRR 2018%% | LriEH (T4 Wiz LTHA BRI 4% 91.7 27.51
20180619 [sEHE | RZEguE = |BRITIE SN 2018%% | LriEH (T4 Wiz LTHA BRI 4% 81.7 71 74.21
20180620 |3y | K2Egail = | Bt iE SRR 2018%% | LriEH (T4 Wiz LTHA BRI 4% 89.9 68.5 74.92
20180621 [y B | R2Eg0E = | BRI IE SRR 2018%% | LriEH (LTHA) Wiz LTHA BRI 4% 93.4 68.5 75.97
20180622 [Ffi il | K2Egeil — | BT IE SRR 2018%% | LriEH (T4 Wiz LTHA BRI 4% 90.1 80 83.03
20180623 |2 | K20l — | BT IE SN2 2018%% | TriEH (T4 Hix THA  |[wiR 93.4 77 81.92
20180624 [kik  [RFEIE T | BRI SRR 2018%% | TriEH (714 Hix THA  |[miR 93.3 68.5 75.94
20180625 |5t it [ K2A0uiE —  |BiibiE S22 2018%% | TriEH (714 Hix THA  |[wiR 96.7 87 89.91
20180626 [ik#i | KZETE . |BHIE S BRI EAR 2018%% | TriEH (T4 Hix THA  |[miR 95.0 28.5
20180627 [k i [R=E il = | Bk VG SRRl 2018%% | TriEH (T4 Hix THA  |[wiR 94.9 73 79.57
20180628 X Ffin | Kol = |BiuiE SRR 2018%% | TriEH (714 Hix THA  |[miR 75.0 67 69.4
20180629 (M P17 | K20l = |BRiuiE SRS 2R 2018%% | TriEH (T4 Hix THA  |[wiR 93.4 49 62.32
20180630 | [ deil = | Bkvh i &Rl 20187 [ AJLFEH (BFA) Wi THA  |[miR 91.7 70.5 76.86
20180631 |4 df il [ eiE = |BRIUIE SISk 2018%% |R4%EE (CEAAR) W% THA  |[wiR 83.4 73.5 76.47
20180632 [ A= F k. [ R dil = | Bk &R 2018% |EBr&br 5% 5 (BHA) miz THA  |[miR 84.9 67.5 72.72
20180633 [4ilfE [ R=Edeil = | BkvE i &Rl A 2018%% |EBr&br 5% 5 (BHA) miz THA  |[wiR 24.8 65.5 53.29
20180634 |[FEmeft | K2EoeiE —  |BibiE GBI 2EAL 20187 |5 (BF-AD THA  |[miR 93.3 59 69.29
20180635 [MFd | K2ETiE . |BRHIE S BRI ER 20187 % (BFHAD THA  |[wiR 88.4 775 80.77
20180636 |7k 3Cah | R2E00E = |BgE SRS AR 20187 % (BFHAD THA  |[wiR 90.1 27.03
20180637 |2 | K2E00E = | Bt iE SRS AR 20187 % (BFHAD THA  |[wiR 95.0 84.5 87.65
20180638 |73 ft [l = | Bk LI 2018 % (BTHAD THA |[wiz 95.0 67 75.4
20180639 [kt [RZEdiE = |BIG I SRR 2018 % (BTHAD THA |[wiz 86.7 58.5 66.96




20180640 [/l [ R¥FIEE = |BRAEE BRI 20184 |2 (AL T A PR % 93.4 72.5 78.77
20180641 |45 | RZESGE = BRI SRR 2018%% % (BFA) LTHA  |ER 93.3 70 76.99
20180642 | FONEH | K2Egeil — | BRI SRR 2018%% % (BFA) LTIHA | 85.0 65 71
20180643 |&F /= | R¥EgE = B SRR 20182 |5 (BF-A) LTIHA | 95.0 72.5 79.25
20180644 (X3 | KR2EguE = | BRI SRR 20182 |5 (BFA) LTIHA  |ER 91.7 44 60
20180645 [VFilf | R2EguE = | BRI SRR 2018%% % (BFA) LTHA  |HR 81.6 66 70.68
20180646 [&=E R | K2¥Eguh = | B SRR 2018%% % (BFA) LTIHA | 88.3 76.5 80.04
20180647 [ | K2EgE = | B SRR 2018%% % (BF-A) LTIHA  |ER 93.4 74.5 80.17
20180648 |- /171 | R2EgaE = | BRI SRR 2018%% % (BFA) LTIHA | 95.0 69 76.8
20180649 [T & | K2R BRI SRR 2018%% % (BFA) LTHA  |HR 98.4 85 89.02
20180650 [ A¥ ML | K2Egeil — | BRI SRR 20182 |5 (BF-A) LTIHA  |ER 95.0 64.5 73.65
20180651 MRk | KR2Eguil— | BRI SRR 2018%% % (BF-A) LTIHA  |ER 93.3 68 75.59
20180652 [F45 [ RE0E = |BRIUIE SIS 2018%% |vk2E (BTHA) TRHA R 91.7 82.5 85.26
20180653 [7k— | RSl = |BRIUIE SRR 20187 % (BFA) LTHA BRI 4% 91.7 77 81.41
20180654 [XIEE [ | K2Egeil = | BT IE SRR R 20187 |5 (BFA) LTHA BRI 4% 98.4 70.5 78.87
20180655 |4 kff [ deiE = |BhibiE IS4 2018%% |vk2E (BTHA) THA R 91.6 83 85.58
20180656 |[FKFHF | K20l — | BT IE SRR 20187 |5 (BFA) LTHA BRI 4% 88.4 88 88.12
20180657 [XIfE e [2E0eiE = |BkibiE IS4 2018%% |vk2E (BTHA) THA R 95.0 80.5 84.85
20180658 [T [2EDEiE = |BRIUIE ISR 2018%% |vk2E (BTHA) THA R 95.0 415 57.55
20180659 (M | KRZEgail = |BRITIE SRR 20187 [t TAE (BTHA) iR LTHA BRI 4% 95.0 73 79.6
20180660 [#Rias [ deiE = |BRibiE SIS 2018%% |vk2E (EikeAR) LA | 90.1 74.5 79.18
20180738 [R5 [Nl = |BRPEZRIE TAEFBe kiR 120184 [J9eiE (HAA) i THA R 85.1 74.5 77.68
20180739 ik = | K2E9LiE . |BRRIE LBl (20184 |WUES 2 (BFA) Mg, s | EAA BRI 4% 0 68 47.6
20180740 [Tk [ KETuE . |PeURIG LB EEm Ry (20184 [WHES 0% (BTHA) iR, s | EAAEA [wiw 98.3 79.5 85.14
20180741 (2 )EM [ KFETE = PRI L mRel (20184 [WHES 0% (BTHA) ®wiR. s | EHEA [z 0.0 69 48.3
20180742 (2 | KFEIE PRI LB EEm Ry (20184 [WHES ¥ (BTHA) ®miR. s | BEAAEA [ 91.7 64.5 72.66
20180743 [f[Mi7E | K¥3aiE = BRI BBkl (20182 [DGES 0 (A . Wi [H4  |mig 60.3 89 80.39
20180744 [k L3 [ KEiE =  |BiURIE L BERiRZe  |2018%% [PUES w2 (TR &R, by | E7A [Eig 88.2 68 74.06
20180745 | faflir | KdeiE = B RIS BB ket (20182 [DGES i (BFHA) mfg. Wi [Hr4k  |mig 94.9 60 70.47
20180746 [k [EtE [K2E#iE —  |BiURIE L BB RRe  |2018%% [PUES w2 (TR &R, by | ETA [Eig 71.8 61 64.24
20180747 [ /bl | RZFIE " |BRPE 2RI TAEFBe ks, (20184 [ 2h% (A4 kiR THA kR 61.7 64.5 63.66
20180748 [ iz [ RFHIET |BRPEZIE TR R R s (20184 [ AR R (AR iR THA  |[wiR 88.3 62.5 70.24
20180751 [#fi [ RFEHIE " |BRPE R BB R RsG  |20184% [ATEUE I (BAA) M THA  |[miR 0 0
20180752 [0 | k=it |BRPE I TSR kRt (20184 | TR (LA Mz THA  |[wiR 0.0 48.5 33.95
20180753 [T 77 [ R#FHiE " |BRVEZIE TAEBe kR (20184 [ (BFHA) THA  |[miR 98.4 66.5 76.07
20180774 [#EM [KiE— |[WREXAWZEH)ITO  |2018%% [MUES w2 (A &%, s |[E7A [k 100.0 54.5 68.15
20180775 [ X [Tl = | Bk s LB I 22 20187 [PUiE= e CETFbA) . Wiy [HHA |4 0 57 39.9
20180776 [XmyT [K#iE— |WRXAWZEH)ITO  [2018%% [PUES 2 (B4R &%, s |[E7A [k 100.0 65 75.5
20180777 [E Aok [KHEiE— |[WREXAWZEH)ITO  [2018%% [PUES s (B4R &%, s |[E7A [k4k 96.7 68.5 76.96
20180778 [slE | KZETuE . |BU R A E R R A F] (201848 |WES 2 (BFHA) BiR. s | EFAA kR 0 56.5 39.55




20180779 [k | KFIE S |ERXAWIE BRSO 20184 |WHES ¥ (BTHA) iR, s | EAA kA 98.4 42 60
20180780 [Z=EaE | K ouiE — | BEXAWIE BT [20184 |WUES 2 (BTHA) wiR. s | EHEA [k 100.0 69 78.3
20180781 (B | K¥FIE S |EBEXAWIETE)IF O [20184 |WHES ¥ (BTHA) iR, s | EAEA [IkA 100.0 72 80.4
20180783 iRy | KFIiE — | EXAWIE BT [20184 |WHES ¥ (BTHA) iR, s | EFEA [k 100.0 80.5 86.35
20180784 [ LigdH | K¥FTiE — |EBRXAWIBETE)IF O [20184 |WHES ¥ (BTHA) iR, s | EFEA [k 100.0 62 73.4
20180785 [#hfE | RFEFE . |ERXYWIEEE)IF 0 [2018%% |#uE (LFHA) M LRA kg 0.0 76 53.2
20180786 |7k HEsE | K2l —  |IE R XA EE I F 0 [2018%% |9uf (LFA) I LRA kg 100.0 78.5 84.95
20180787 [ | K¥FTiE — | REXAWIBEFTEI)IF L [2018% |WHES ¥ (BTHA) iR, s | EH4EA (@R 95.0 525 65.25
20180788 [ R | K 3iE — | RBEXAWIEF )T 20184 |WHES ¥ (BTHA) Wig. s | EHEA (@i 100.0 69.5 78.65
20180789 (/= A | K¥F¥uiE — | BEXAWIBEF )T [2018%% |WHES 2 (BTHA) Wig. s | EH4EA (&R 100.0 54 67.8
20180790 [k & | RHFFE" |EBRXSMBTE)IF L (20184 WAES % (HFHA) wiZ. g |[EHAHE EiEid 0 0
20180791 [xIi7 | KFIEE S |ERBRXAWIETE)IF O (20184 |WHES 2 (BTHA) iR, s | EFA (s 100.0 80 86
20180792 [#¥ A [k#iE— |[WREXAWZFRITO  |2018%% [MUEs w2 (B7HA) Fi%. i | LK BRI 4% 0 75.5 52.85
20180793 |kigas [ Rl |BRpE IR I 2R 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 100.0 84.5 89.15
20180794 [y A [ ke = |WRE KXW FR)ITO  |2018%% [MUE s w2 (BIHA) Fi%. i | LK BRI 4% 100.0 58.5 70.95
20180795 [#BH [ kiR R KXW R)IT0  |2018%% (MRS (BTHA) FiR. i |[ETAR BRI 4% 96.7 66.5 75.56
20180796 [Jik | RFEIE T R E WA TN 20184 [PUES 02 (CEAA) Wt g | &EALK BRI 4% 0 74 51.8
20180797 (x5 [ k%#EiE— |[WREXAWEERITO  |2018%% (MRS w2 (BTHA) FiR. i |[ETAR BRI 4% 100.0 80.5 86.35
20180798 (2 A [ kiR |[WREXAWEERHITO  |2018%% (MRS w2 (BTHA) ®iR. i | LR BRI 4% 0.0 63.5 44 .45
20180799 [#45 < [ kiE = |lWRE XA ER)ITO  |2018%% (MR s w2 (BIA) Fi%. i | LK BRI 4% 0 485 33.95
20180801 [k [ K%FEiIE— |WREXAWEERH)ITO  |2018%% (MRS (BTA) RiR. i | LR BRI 4% 0 82.5 57.75
20180802 [f2igr [ k#iE— |WRE KXW R)ITO  |2018%% (MRS w2 (BTHA) FiR. i | LR BRI 4% 0.0 81.5 57.05
20180803 [£:#] KR = A BB EEIIT L [2018%% |BGES CF CEIHA) ®i%. e |[ETA BRI 4% 100.0 69.5 78.65
20180804 [ Fatl | K oiE — | B XANBEEZ)IT O [2018% [WHES ¥ (BFHA) wig. s | EH4E [z 96.7 64.5 74.16
20180805 A & | K siE = | BRXAMBEE)IT O [2018% [WHES ¥ (BTHA) ®iR. s | EH4E [z 0.0 75.5 52.85
20180806 [t [ KEIiE = [EBRXANEBEE)ITO (20184 [WHES ¥ (BFHA) ®iR. s | EAAEA [z 100.0 35 54.5
20180807 i | KFEIE S |ERBRXAMEBEE)ITO (20184 [WHES ¥ (BTHA) wiR. s | EAAEA [ 100.0 65 75.5
20180808 [4-JFhi [ KsuiE — | B XAWEE )T (20184 [WHES ¥ (BFHA) wiR. s | EH4EA [z 100.0 57 69.9
20180809 [T ¥ [ K¥iE = |ERBEXAMBEEZ)ITO  [2018% [WHES ¥ (BFHA) wig. s | EH4EA [z 61.1 72 68.73
20180810 [m Ml [ KEIiE . |ERBRXAMBEE)ITO (20184 [WHES ¥ (BFHA) wiR. s | EHEA [z 0.0 80.5 56.35
20180812 [#iwk | RFIE S |ERBRXAMBEE)ITO (20184 [WHES ¥ (BFHA) wiR. s | EAAEA [z 0 475 33.25
20180813 (& | KFIE S |EREXAMBEE)ITO  [2018% [WAES ¥ (BFHA) ®iR. s | EAAEA [z 100.0 88 91.6
20180814 [Zxr | K¥FIE S |ERBRXAMBEEZ)IT O [2018% [WHES ¥ (BFHA) wiR. s | EHEA [z 0 60.5 42.35
20180815 |+ % /& [ RFHiE " |ERIXANEEREIH 0 |2018%% |24 (A4 IR LA kR 100.0 85.5 89.85
20180816 |ikfE [ KRB |IERIXANIEEREIF 0 (20184 [ 2h% (A Ik THA kR 100.0 64.5 75.15
20180818 | A [ R dit— |l RIXANEEREIH 0 |2018%% [ 2 Mkl (BHA) mix THA  |[wiR 100.0 87.5 91.25
20180819 |k ey [ Rt —  |lERIXANEEREIF 0 |2018%% [ TR (THA) HiX THA  |[wiR 98.4 78.5 84.47
20180820 s &ig [ RFwiE—  |IERIXANEEREIF 0 |2018%% |4 TR (THA) Hix THA  |[wiR 100.0 54 67.8
20180821 [ [ dE = [IER XA AR T [2018% [#A4 TR (T4 ®i% LIA [ER 100.0 44 60.8
20180822 [x) [ RFHiIE " |ERIXANEEREIF 0 |2018%% [ TR (BAHA) mix THA |[wiz 100.0 90 93




20180823 [ B ikHE [ R¥FHiE = |RRXANEERIIF L |2018% [(hETHEETE (BAA) Wi T A PR % 100.0 76.5 83.55
20180824 [ik/har [ RFHIE " |RRXANEEZIIF L |2018% [T RETS (BRAA) Wi LTHA  |ER 66.0 62.5 63.55
20180825 [F s | K¥Egih — IR XAWIEEE)IF 0 [2018%% |5 TR (LFA) RfR LTIHA | 100.0 65.5 75.85
20180826 |7k )1l | RZFEwiE = |E R XAWIEEE)IF 0 [2018%% | TR (LFA) KRR LTIHA | 0.0 49.5 34.65
20180829 [XF | RZEHiE— AR XYNIBEE)IF 0 [2018%% |HIEhE TR (BFA) KRR LTIHA  |ER 100.0 68 77.6
20180830 [ Al | RZEgiE = |IE R XA EE)IF 0 [2018%% |#IshE T/ (LA RiR LTHA  |HR 0 78.5 54.95
20180831 (M4 [ kEiE = |ERXSWZERIF0  |2018% [HEMA TR CBTHA) W% LTIHA | 100.0 74.5 82.15
20180832 [HffliA [k2#in — |l R XAWZE HIF0  |2018%% [HEMA TR CBTHA) W% LTIHA  |ER 96.6 77 82.88
20180833 [4ereve [Kin— BRI E R0 |2018%% [HEMA TR CBTHA) W% LTIHA | 0.0 83.5 60
20180834 |k tEF: [K2in — [l R XS E HIF0  |2018%% [HEMA TR CBTHA) W% LTHA  |HR 100.0 67 76.9
20180835 [fhid [ RFEHIE T |RRXIMHEEIIF L |2018% [HAEE TR CBAA) Wi LRA  |ER 100.0 71 79.7
20180836 [T M| | K2Egil = |IE R XAWIEEE)IF0  [2018%% |ilf5 T2 (BFA) KRR LTIHA  |ER 100.0 76 83.2
20180837 288 | KZFEwiE = |ERBXAWIEEE)IF0 (20185 |iEf5 L2 (LA MR LTHA BRI 4% 100.0 60 72
20180838 | My | K2EouiE . | R XAWIEEE)IF 0 (20184 |MEHARS TE (LHA) Wi LTHA BRI 4% 96.7 79.5 84.66
20180839 [£7 | KZFEHiE— AR XYW EE I F 0 [2018%% |&fl% (LK) miR LTHA BRI 4% 100.0 55 68.5
20180840 |52 | K2l —  |IE R XM EE I F 0 [2018%% |&fl% (LFAK) mi% LTHA BRI 4% 100.0 74.5 82.15
20180841 [FEALVK | K2Eguil—  |IE R XA E I F 0 [2018%% |&fl% (LK) miR LTHA BRI 4% 96.7 73 80.11
20180842 | EB I [K¥HiE— |WRXUNEEZIIF L |2018% |&@h¥ (LFA) Wm#z LA R 100.0 61 72.7
20180843 [k | RSB AR XYW EE I F 0 [2018%% |&fl® (FFA) Mm% LTHA BRI 4% 100.0 55 68.5
20180844 [FiF] | K2E5iE = | T OlHRH 2018%% |&mh% (LHA) Wmz LRA R 0 0
20180845 [A% R | R¥EgE = |FSHIRE X Wk 20187 |&ahz: (LA iR LTHA PR3 0 0
20180846 [ XSl | K2AoeiE — | B XAWEE R b0 (20184 |&fl% (LFAA) iR LTHA BRI 4% 95.0 65.5 74.35
20180847 [FK IR ¥y | Kol —  |ER XYW EE I F 0 [2018% |&1F% (BFAAR) miR LTHA BRI 4% 0.0 81.5 57.05
20180848 [P{FAFA | RFHiE— |l RIXANIEEREIH 0 (20184 [&il% (BAA) iz THA  |[wiR 100.0 72 80.4
20180849 | E [ RFHiE—  |IERIXANEEREIH 0 (20184 |&il% (BAA) miz THA  |[miR 98.3 75 81.99
20180850 | /= [ R#FHiE—  |ERIXANEEREIF 0 (20184 [&il% (BAA) miz THA  |[wiR 0.0 79.5 55.65
20180851 [N #E [ RFHiE—  |ERIXANEEREIH 0 (20184 |&il% (BAA) miz THA  |[miR 100.0 78 84.6
20180852 | L #fivdi | Rt — |l RIXANIEEREIH 0 (20184 |&il% (BAA) miz THA  |[wiR 100.0 71 79.7
20180853 [t FF [ RFdiE =  |IE R IXANEEREIF 0 (20184 |15 (BAA) miz THA  |[miR 100.0 67.5 77.25
20180854 | 43545 [ R iE "  |IERIXANIEEREIH 0 |2018%% |&il% (BAA) miz THA  |[wiR 64.4 445 50.47
20180855 [l [ Rt |IE RIXANIEEREIH 0 |2018%% |21l (BAA) miz THA  |[miR 100.0 57.5 70.25
20180856 |{Thiife | R&Edit—  |IE RIXANEEREIFH 0 |2018%% |&il% (BAA) m#z THA  |[wiR 100.0 69 78.3
20180857 |FRifg Al [ RZdiE = |IE RIXANIEE G0 (20184 |&il% (BAA) iz THA  |[miR 66.0 57.5 60.05
20180858 |[rff [ RFdiE | RIXANIEEREIF 0 (20184 |21l (BAA) miz THA  |[wiR 100.0 75.5 82.85
20180859 | 3. # KEFGUE = [ R XAMBEEF L |2018%% |&it (BHA) KR THA  |[miR 100.0 69.5 78.65
20180860 |40 BEoR [ RZEdit— |l RIXANIEE R0 |2018% |&il% (BHA) miz THA  |[wiR 100.0 75.5 82.85
20180861 |#ift [ RFHiE— | RIXANEERIF 0 (20184 [&il% (BAA) iR THA  |[wiR 100.0 66 76.2
20180862 | fi =¥ [ K&k — | RIXANEEREIH 0 |2018% [&il% (BHA) iz THA  |[wiR 100.0 90 93
20180863 [FL3ENN [R=FEdiE = |IE R IXANIEEREIH 0 |2018%% [&ih% (BHA) miz THA |[wiz 0 8 5.6
20180864 [ i [ KFEI0E = AR XS F 0 [2018%% | &1t (RTFA) MR LIA [ER 96.7 48 62.61




20180865 [z [ RFHEIE— |BRRXSWEEREIIF L |2018% [&ih% (BAA) Wi T A PR % 100.0 85.5 89.85
20180866 [#i | K2ESE = AR XM EE IS0 [2018% |&1F% (BAK) KR LTHA  |ER 0 0
20180867 | F# % [R¥HiE = |RWRXUNHEZIIF L  |2018% [&ih% (BAA) WmiR LRA  |ER 66.0 76 73
20180868 R/ | K2EguiE— | R XA EE)IF 0 [2018% |&1h% (BAK) HiR LTIHA | 100.0 58 70.6
20180869 [Z=Ffflt [K¥HiE = |RRXUNEEZIIF L |2018% [&ih% (BAA) WmiiR LRA  |ER 100.0 58 70.6
20180870 [t | K¥EsE— | R XM EE)IF 0 [2018% |&1h% (BAAR) HiR LTRHA | R 100.0 715 80.05
20180872 [y | RZFEHE . |ERXYWIBEE I F 0 [2018% |&1F% (BFAK) KR LTIHA | 84.7 77.5 79.66
20180873 [JliEds | R¥EsE = |E R XM EEIF 0 [2018% |&1h% (BFAAR) HiR LTIHA  |ER 100.0 62.5 73.75
20180874 (X755 | K¥EgiE = |ER XM EE)IF 0 [2018% |&1h% (BAK) HiR LTIHA | 100.0 87 90.9
20180875 & | KR¥EHEZ |ERXYWIBEE)IF 0 [2018% |&1h% (BFAK) HiR LTRHA | R 100.0 74 81.8
20180876 [k RN | K2Eguih—  |IE R XA EE I F 0 [2018% |&1h% (BAK) HiR LTRHA | 100.0 83 88.1
20180877 [k [ KR~ |[BRXSWIZERIF0  |2018%% | A EIEEE (CBTHA) mi% LTIHA  |ER 100.0 56.5 69.55
20180878 [kt [ KHEIE= |lE R XA EREIF  |2018% | A SEIEE . (BFA) wE LTHA BRI 4% 86.4 61.5 68.97
20180879 [l [R¥30iE = AR XSG E T [2018%% | A FIREHE (BTA) mix THA R 64.4 64 64.12
20180880 & ixsE [K¥HEIE= AR XA EEIFL  |2018% | A\ EIEE B (BFA) Wiz LTHA BRI 4% 66.0 61 62.5
20180882 [#t¥ [ K%EIE= AR XA E R IFO  |2018% |\ EIEE B (BFA) wiE LTHA BRI 4% 100.0 47 62.9
20180883 [x#ele [K%HEiE= |lE R XA ERITF0  |2018%% | AN EIEE B (BFA) Wiz LTHA BRI 4% 100.0 75.5 82.85
20180884 [k ik [ K% E=  |lE R XA E HIh0  |2018%% | AN EIEE B (BFA) wiE LTHA BRI 4% 62.7 81.5 75.86
20180885 | Efer [ K iE—  |lE R XA E B0 |2018%% | A\ EIEE B (BFA) wie LTHA BRI 4% 100.0 64.5 75.15
20180886 |7k | K2EgiE = BB XYW EE)IF 0 [2018%% | AT HEIEEH (LA pRR LTHA BRI 4% 0 80 56
20180887 [4fi. [ K%EIE= AR XA EEIFO  |2018% | AN EIEE B (BFA) Wiz LTHA BRI 4% 100.0 75.5 82.85
20180888 [HM: [ K#EiE=  |jE R XA EEIFO  |2018% | AN EIEE B (BFA) wiE LTHA BRI 4% 96.7 55 67.51
20180889 X 7kml [K%EiE= @R XA ERIF0  |2018% | AN EIEE B (BFA) wiE LTHA BRI 4% 0.0 77.5 54.25
20180890 [ [RZ=di—  |IE RIXANIEE R UIH 0 120184 [\ i ot (EHA) iz THA  |[wiR 100.0 71.5 80.05
20180891 |kt [ RZdiE—  |IE RIXANEEREIH 0 |2018%% [ATEUEE (TAHA) M THA  |[miR 100.0 85.5 89.85
20180892 [A=WenN [ A&t —  |IE RIXANEEREIF 0 |2018%% [ATEUEE (TAHA) M THA  |[wiR 100.0 74 81.8
20180893 [ | RFHEIE  |IERIXANIEEREIF 0 (20184 [ATEUEE (TAHA) M THA  |[miR 100.0 62.5 73.75
20180894 |4iHit [ RFHIE " |IERIXANIEEREIF 0 (20184 [ATEUEE (TAHA) M THA  |[wiR 100.0 68.5 77.95
20180895 |7k DLk [ RZ=dit— |l RIXANEEREIH 0 |2018%% [ATEUEH (LAHA) M THA  |[miR 91.7 60 69.51
20180896 | LM [ RFEdiE—  |IE RIX AN E G IF 0 (20184 [ATEUEE (TAHA) M THA  |[wiR 100.0 55.5 68.85
20180898 | 3% [ Rt —  |IE RIXANEEREIF 0 |2018%% [ATEUEE (TAHA) M THA  |[miR 96.7 82.5 86.76
20180899 [Z=37 47 | R&%¥EgiiE— | B XA EE )0 [2018%% | TR (LFA) iR THA  |[wiR 100.0 69 78.3
20180900 | Z#E [ RFwiE— | RIXANEEREIF 0 |2018%% | TrEH (TAHA) mix THA  |[miR 96.6 66 75.18
20180901 | ¥ | R%FwiE— |EB XYW EE)ITF0 (20185 | TR H (LFA) R THA  |[wiR 100.0 84 88.8
20180902 [F/b % [ RFHIE " |IERIXANEEREIF 0 |2018%% | TrEH (THA) HiX THA  |[miR 96.7 63 73.11
20180903 [#a4F [ KRB | RIXANIEEREIF 0 (20184 | TrEE (THA) M THA  |[wiR 61.1 83 76.43
20180904 [xliE [ RFHiE—  |ER XN EREIF 0 (20184 | TrEE (THA) MR THA  |[wiR 100.0 65 75.5
20180905 [# k[ RFHiE | R XN ERIF 0 (20184 | TrEE (THA) M THA  |[wiR 83.0 725 75.65
20180906 [ [ RFHiE " |ERIXANEEREIF 0 (20184 | TrEH (THA) miX THA |[wiz 100.0 79 85.3
20180907 |5k | RZEgGE = | RSHIEE X R 2018%% | TLriEH (714 Mz THA |[wiz 0 0




20180908 | EHiat [K¥FHiE = |RRXAUNEER P L |2018% | THEH (LAA) M T A PR % 100.0 78 84.6
20180910 |7k 4klf | K2EguE—  |E R XM EE B0 [2018%% |BE%E (LAK) KR LTHA  |ER 100.0 81 86.7
20180911 [Fiik | KRB AR XAWIBEE)IF 0 [2018% |HIE&H SRS (THA) mix LTIHA | 0 80 56
20180912 [Ak & [ RFIEIE " |FRERAE T IEEN 2018% |HBr&Br 5% 5 (THA) mz LTIHA | 0 0
20180913 [AdE | RZFEwiE = |ERXAWIEGEEIF 0 [2018%% |¥E% (LA LTIHA  |ER 0.0 76.5 53.55
20180914 [¥F# e | R¥FgiE = |[E R XAWIEEE)IF 0 [2018%% |¥E% (LA LTHA  |HR 0 26.5 18.55
20180915 [{&¥byb | RZFEgiE = |[E R XAWIEEEIF 0 [2018%% |¥E% (LA LTIHA | 0 30.5 21.35
20180916 4= 54 | R2Egail = |IE R XAWIE G EIF 0 [2018%% |¥E% (LA LTIHA  |ER 0 14 9.8
20180917 [Z&=Ffin | R¥wiE— | RXAWIEEEIF 0 [2018%% |¥E% (LA LTIHA | 0 22.5 15.75
20180918 [#oR I | K2Egaih —  |[E R XAWIE G EIF 0 [2018%% |¥E% (LA LTHA  |HR 0 21.5 15.05
20180919 [Fi% | RZFEwiE— BB XAWIEGEE)IF 0 [2018%% |¥E% (LA LTIHA  |ER 100.0 87.5 91.25
20180920 [ B4 | KR¥E9iE— (AR XAWIEEEIF 0 [2018%% |¥E% (LA LTIHA  |ER 100.0 76.5 83.55
20180921 [T+ [ RFEiIE " |ERXANEERFIIF 0 |2018%¢ [ (BHAE) LTHA BRI 4% 100.0 83.5 88.45
20180922 | Ejiifik | Rk2diE— [ BR XS EE)IF0  [2018% |VE%: (LA LTIA PR3 100.0 78 84.6
20180924 [ 137 | k2diE — [ BR XS EE)IF0  [2018% |VE%: (LA LTIA BRI 4% 90.1 74 78.83
20180925 [ 3% | kwiE— [ BR XS EE)IF0  [2018% |VE%: (LA LTIA PRI 100.0 63 74.1
20180926 [{F#E— [R¥30E = AR XA FEYI T [2018%% [V CRTHAD LHA | 0 0
20180927 [XIR | RZEwiE— BB XAWBGEE)IF 0 [2018%% |#&TAE (LA R LTHA BRI 4% 100.0 60 72
20180928 |7rlhede | K2Egil —  |IE R XAWB G E)IF 0 [2018%% |#&TAE (LA R LTHA BRI 4% 100.0 80 86
20180929 [T | RZEgiE— BB XAWBEE)IF0  [2018%% [ATEEH (SifcA) R LA BRI 4% 66.0 73 70.9
20180930 [Z=#i 7% | Rl — IR XAWB G E)IF 0 [2018%% [ATEEH (SifcA) R LA BRI 4% 0 21 14.7
20180931 |44l |kl —  |IE RIXANEEEIF 0 |2018%% [ATBUEH (EileA) M LA BRI 4% 0 17 11.9
20180932 [ M | K2EgiE = |[E R XAWBEE)IF 0 [2018%% [ATEEH (SifcA) R LA BRI 4% 0 17 11.9
20180933 [ e | R%EgiE — | B XA EE)Ih 0 [2018%% [ATEEH (SifeA) iR A | RAR 0 84 60
20180934 | =i [ K%#EE=  |EWR XA ER)ITO  |2018%% [iHENAIEEHEAR (ERA) i |&isx |[wE 57.8 89 79.64
20180989 [k 3 BL | K2Eguil — | BRI 24 2018%% |&it% (LHAA) W% THA  |[wiR 81.6 74.5 76.63
20181002 [FE: [ RFHIE BRI R 20187 |PiE = e CEFRA) . Wy [HAA |b4s 100.0 90 93
20181003 |fr[HEA | K2EgeiE — | B rp EEHRL RS 22 20184 [PUES % (BFAA) wifg. Wk | BAA  [lkR 0.0 85 60
20181004 [FE&: i | K200l — | B rp IR RS 22 20184 [PUES % (BFA) iR, Wk | TAA  [lkR 64.4 43.5 49.77
20181005 [FE [ RFHIE T |BE R IET R IER 20187 [PiE = e CEFRA) . Wy [HAA s 100.0 56.5 69.55
20181006 [ XS EHE | K2EguE — | B rp IR RS 22 20184 [PUES % (BFAA) wifg. Wk | BAA  [lkR 26.6 7.98
20181007 [Z=WN#EE [R2EdaiE = |Bkya s RL LI 8% 2018%% |PUE S % CEAAD . Wk | EHAA kg 24.8 7.44
20181008 | F 22 | K2%Eguil — | B rp EEHRL RS 248 20184 [PUES % (BFAA) wifg. Wk | BAA  [lkR 0 54.5 38.15
20181009 [#PFE | K&l — | Bkph SRR 2% 20187 [PiE= e CEFRA) . vy [HHAA |4 90.0 79 82.3
20181010 [FE=  [REFE— |BRG RN E AR 20187 |PUiE = it CEFbA) Ef. Wiy [HHA ks 100.0 63 74.1
20181014 |74 [REdEiE = |BRG RIEIELE I AR 20187 [PUiE = e CETbA) . Wiy [LHHA ks 100.0 75 82.5
20181015 [ M [REdeiE = |BkyG s I AR 20187 [PUiE= e CETFbA) . Wiy [HHA |4 100.0 62 73.4
20181016 [FALNWI | K200 — | Bepirp HEERL RS 2248 20184 [PUES % (BFA) iR, Wk | BAA [lkR 18.4 5.52
20181017 R &2 [RETE |G RN E IR 20187 |Jif (EFA) M4k EIA kR 100.0 82.5 87.75
20181020 [#h7 iR [Tl = |BkyG s E I 2R 20187 |Jif (EFA) M4k EIA kR 100.0 67.5 77.25




20181021 [ RAfFC | RZEguE = | Bt T IR R 2018%% |l (LTHA) W& TR kR 100.0 75 82.5
20181022 [#Zeze [REdiE —  |Berh Rl EOLEE AL 2018%% |¥EiE (ETHA) W& LRA kg 98.3 60 71.49
20181024 [F3e3 [R2FEFAE " |BerG R EOLE AL 2018%% |¥EiE (ETHA) W& LRA kg 0 0
20181025 |4 & [RFEaiE —  |Berg RO IEAL 2018%% |¥EiE (BTHA) W& LRA kg 100.0 725 80.75
20181026 [£E X% [R2FETE " |Berh T IFEAL 2018%% |¥EiE (ETHA) W& LRA kg 91.7 27.51
20181027 [Z= X [ Rl — | B s EOLE I AL 2018%% |¥EiE (ETHA) W& LRA kg 0.0 63.5 44.45
20181028 k% [RFEFE " |BerG R IBEOEE IR 2018%% |¥EiE (ETHA) W& LRA kg 100.0 64 74.8
20181029 [ R &my [R2FEFAE " |Berh B I 2018%% |¥EiE (ETHA) W& LRA kg 100.0 64.5 75.15
20181030 [#aBk [REdeilE = |Berh s I AL 2018%% |¥EiE (ETHA) W& LRA kg 75.1 71 72.23
20181031 [ [RFEFiE | B RO I AL 2018%% |¥EiE (ETHA) W& LRA kg 100.0 76 83.2
20181032 [k /Mg [R2ETE | B BRI A 2018%% |¥EiE (ETHA) W& LRA kg 66.0 48 53.4
20181033 [k [RFEHiE " |Berh RO I 2018%% |¥EiE (RTHA) W& LRA kg 100.0 80.5 86.35
20181034 | /b7 | R&dil—  |BEPE RIS 2R 2018%% |¥EiE (ETHA) W4k THA R 100.0 64.5 75.15
20181037 [{LHEEE [ Rl —  |BRpE RIS I 2R 2018%% |¥EiE (ETHA) W4k THA R 100.0 37 55.9
20181038 [#x% [ R&FEiE BRI 2018%% |¥EiE (ETHA) W4 THA R 100.0 49 64.3
20181039 [Xl&EE [ RFEdiE B IR IR 2018%% |¥EiE (ETHA) W4 THA R 100.0 38.5 56.95
20181040 [zize [ RFEHE B RIS ER 2018%% |¥EiE (ETHA) W4 THA R 100.0 82.5 87.75
20181041 [FF 7 [RFEIE | B RIS ER 2018%% |¥EiE (ETHA) W4 THA R 60.4 30 39.12
20181042 |F gl | Rl —  |BkpE IR I 2R 2018%% |¥EiE (ETHA) W4 THA R 100.0 72 80.4
20181043 [xht  [RFEIE T |BEPE RIS ER 2018%% |¥EiE (ETHA) W4 THA R 88.3 78 81.09
20181044 | T3R8 [ R0l = | By IR I 2% 2018%% |¥EiE (ETHA) W4 THA R 88.2 79.5 82.11
20181045 [ F/NE [ Rl B RIS I 2R 2018%% |¥EiE (ETHA) W4 THA R 100.0 52 66.4
20181046 [{T1h5 [R&Fdil—  |BpE IR I 2R 2018%% |¥EiE (ETHA) W4 THA R 95.0 64.5 73.65
20181047 [ SRR [ RZdeiE = |BkpE ISR I 2% 20187 |JxiE (LF-A) A LA kR 66.0 62.5 63.55
20181049 | Tk /= [ RZFdiE = |Bkph IR I 2% 20182 |JxiE (LF-A) A LA kR 100.0 62.5 73.75
20181050 [4-#k [ RFdiE—  |BRPE R EER R IE R 20182 |JxiE (LF-AD A LA kR 98.4 75.5 82.37
20181051 | ¥ ki [ R&=deil = |BkpE ISR I 20182 |JxiE (LF-A) A LA kR 0 84.5 60
20181052 [XI[A R | K&l = |Bkrh ISR 20182 |JxiE (LF-AD A LA kR 98.3 88 91.09
20181053 [Hxt [ RFdiE B IR IR 20182 |JxiE (LF-A) A LA kR 0 21 14.7
20181054 |k ék [ R&deil = |BkpE SRR I 2 20187 |JxiE (LF-A) A LA kR 0 21.5 15.05
20181055 [ B Lk [ R&deiE = |BkpE ISR I 2% 20182 |JxiE (LF-A) A LA kR 0 76.5 53.55
20181056 |5 dsn [ R&=deil = |BkpE ISR I 20187 |JxiE (LF-A) A LA kR 98.4 84.5 88.67
20181057 [ [R2EdcilE = |BkyG s ER I 2R 20187k |JuiE (BTHA) Mg THA kR 85.0 25.5
20181058 |45 | K& | Bk IR IR 20182 |JxiE (LF-A) A LA kR 98.4 86.5 90.07
20181059 [XiHE  [REEiE [RGB I ERL 2018%% |Jeif (EFA) Mgk THA kR 83.4 79.5 80.67
20181060 [ &t [R2Edein = | Bk s I AR 20187 |JiE (EFA) Mk THA kR 100.0 50 65
20181061 | Fxk | KSR |Bepirp IR RS AR 20187 |JeiE (BTHA) Mg THA kR 0 0
20181062 [# A4y [REdeiE = Bk s I 22 20187 |JiE (EFA) Mk THA kR 100.0 68.5 77.95
20181063 [Ar 2 5E [R2EdeiE = |BkyG RN E I 2ERE 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 0 77 53.9
20181064 | 5 #e | KR — | Bepirp dER RS 22 20184 [PUES 0% (BFA) iR, W | BAA  [mi 93.3 68 75.59




20181066 | Tl | R2EouiE — | Bt rp VBRI 220 20184 [PUET % (BAA) wfg. Wi | HALK PR % 0 0
20181067 |7tk | REgulE — | BRI R 2018%% |PUGEZ % (BIHA) MR, g | LA |[wiE 64.4 57 60
20181068 [#LEF  [RFEFE " |BerG I EOLEE IS 2018%% |PUE S 2 CEFA) . by | LAA  [wi 100.0 58 70.6
20181069 [mE [ RFEFE " |Be IO IEA 2018%% |PUE S 2 CEFA) . g | LAA  [wi 66.0 19.8
20181070 (& A REZGOE | BRpG i HRL BRI 22458 2018%% |PUE S 2 CEFA) . g | LHAA  [wi 98.4 67 76.42
20181071 [HRE [RFETiE—  |Berh R EOLE AL 2018%% |PUE S 2 CEFAA) . by | LHAA  [wi 100.0 75 82.5
20181072 |41 [ REdiE— |BeiG R BRI 2018%% |PUE S 2 CEFA) . by | LAA  [wi 0 0
20181073 [BEEE  [RFEFiE |G R IBEOE IR 2018%% |PUE S 2 CEFA) R, g | LAA  [wi 100.0 66.5 76.55
20181074 [F4E  [RFEHIE " |BeiG R IBTONEIEA 2018%% |PUE S 2 CEFA) . g | AL (Wi 100.0 57 69.9
20181075 ki [ R&deil = |BEPE SRR I B 2018%% (PUGEZ % (BIHA) MR, g | LA [ 38.4 58.5 52.47
20181076 [F KM [RFETE—  |BerG R B I 2018%% |PUE S 2 CEFA) . by | LAA  [wi 0 0
20181077 | E5cAl [RFETE " |BerG B IFAL 2018%% (PUGEE % (BIHA) mifR. g | LA |[wiE 96.7 37 54.91
20181078 [ TF/hy* [ RFFiE " |BEpE RIS I 2R 20184 [PUES 2 (BAA) Wt g | &EALK BRI 4% 0 69.5 48.65
20181079 [1B4&7 ) [RFETE—  |BRIG R IBINER I 2ERE 2018%% |PUES S CEAAD wfR. Wi | LA | 0 0
20181080 [FF/EAF | K2Eguil — | Bt ISR RS 22 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 100.0 79 85.3
20181081 |5 gl | R&deil—  |BkpE ISR I 2R 20184 [PUES 2 (CEAA) Wt Wi | &EALK BRI 4% 74.6 33 45.48
20181082 [fx¥k [ RFEIIE (B ISR IR 20184 [PUES 02 (CEAA) Wt g | &EALK BRI 4% 98.3 59 70.79
20181083 [ 53K [ RFEdiE . |BEPE IR I ER 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 0 58 40.6
20181084 |#fi £ ¥F | Rl —  |BEpE RIS 20184 [PUES 2 (CBAA) W, g | EALK BRI 4% 100.0 64 74.8
20181085 [#IL | R2EguiE — | Bt IR RS 22 20184 [PUES 2 (CEAA) Wt e | &EALK BRI 4% 0 66.5 46.55
20181086 | e | K2Eguil — | B rp IR RS 22 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 100.0 54 67.8
20181087 |2V | R2EguE — | Bt IR RS 22 20184 [PUES 2 (CEAA) Wit g | EALK BRI 4% 76.4 82.5 80.67
20181088 |/ 53 | K2Eguih — | Bepu IR RS R 20184 [PUES 2 (CEAA) Wt W& | &EALK BRI 4% 93.4 71 77.72
20181089 |#fids [ RFdiE BRI ER 20187 [PiE = e CEFRA) . Wy [HHAA  |EiR 100.0 70.5 79.35
20181090 [#ME | K&l = |BkpE ISR I 2% 20187 [PiE= e CEFRA) . Wy [HHAA |EiR 100.0 74 81.8
20181091 [4:¥F [ RFIIE B IR IR 20187 |PiE= e CEFRA) H. Wiy [HHAA  |EiR 100.0 82.5 87.75
20181092 [JEAEM [ Rl = |Bkph BRI 2% 20187 |PiE = e CEFRA) Hf. Wiy [HHAA  |E% 100.0 34 53.8
20181093 [y [ RFFIE B IR 20187 |PiE = e CEFRA) . Wiy [HHAA  |ER 100.0 69.5 78.65
20181094 | F4&Rid [RFETCE = |BRyG RN E I ERE 20184 [PUES % (BFA) iR, W | BAA  [miz 100.0 52 66.4
20181095 [fFE v | RFIIE B IR IR 20187 |PiE = e CEFRA) wi. Wiy [HHAA |EiR 86.6 74 77.78
20181096 [k [ RFdiE Bk IR IR 20187 [PiE = e CEFRA) . iy [HHAA |ER 64.4 58.5 60.27
20181097 [# et | K==l —  |BkpE ISR I 2% 20187 |PiE= e CEFRA) . Wiy [HHAA |EiR 38.4 64 56.32
20181098 [P | RFdIE | B IR IR 20187 [PiE = e CEFRA) . iy [HHAA |ER 100.0 54.5 68.15
20181099 [FFMEWE | RZ=deil — | Bkph ISR 2% 20187 |PiE= e CEFRA) Hf. iy [HHAA |ER 89.9 57 66.87
20181100 [#/NR [R2ETeiE = | BRI AL ER I 22 20187 |PUiE = e CEFbA) wi. Wiy [LHHAA |EiR 64.4 81 76.02
20181101 [#r%s [RGB |BRG RN E AR 20187 [PUiE= e CETEA) wf. Wiy [HHA  |EiR 0 14.5 10.15
20181102 [k [RFEIEE T |BRG RIS E I AR 20187 [PiE= e CETEA) wf. Wiy [HHAA  |Ei% 100.0 57.5 70.25
20181103 [BEEE [EdniB = | Bk RN E I AR 20187 [PLiE = e CETEA) . Wiy [HHAA  |EiR 100.0 71 79.7
20181104 |y [R2EdeiE = |BkyG R ENLE I 2R 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 100.0 56 69.2
20181105 |32k [R2Edeil = |BkyG R LE I 2E A 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 0 68.5 47.95




20181106 | EiH 7 [RFHIE = |Berb h BB I 20184 [PUET % (BAA) wfg. Wi | HALK PR % 95.1 62 71.93
20181107 [XiWF  [RFEFE " |BerG R IEOLEE IS 2018%% |PUE S 2 CEFAA) . g | AL (Wi 0 0
20181108 [T fL  [RZFEFE " |Berh Rl EOLEE AL 2018%% |PUE S 2 CEFA) . by | LAA  [wi 0 0
20181109 [ [RFEHIE " |Berg I EOE IR 2018%% |PUE S 2 CEFA) . g | LAA  [wi 100.0 65 75.5
20181110 [Fh.0ofn [R2FETEE " |BerG R IEOLEE IS 2018%% |PUE S 2 CEFA) . g | LHAA  [wi 100.0 49 64.3
20181111 [Fk B IR [RFEFE " |Berh BB I 2018%% |PUE S 2 CEFAA) . by | LHAA  [wi 100.0 86 90.2
20181113 [  [RFEFE T |BerG I EOEEIEA 2018%% |PUE S 2 CEFA) . by | LAA  [wi 100.0 78.5 84.95
20181114 [EsgEg | Rl |BEPE ISR B 2018%% |PUE S 2 CEFA) R, g | LAA  [wi 100.0 73.5 81.45
20181115 [X—if [R2FEFAE " |Berh B I 2018%% |PUE S 2 CEFA) . g | AL (Wi 84.7 75.5 78.26
20181116 [5kE 0 [RFEFE—  |BerG BT I 2018%% |PUE S 2 CEFA) . g | LHAA  [wi 0 0
20181117 [Bithw [RFEFiE | R EOLE AL 2018%% |PUE S 2 CEFA) . by | LAA  [wi 100.0 66.5 76.55
20181118 |73 [kl — | B SRR I B 2018%% (PUGEE % (BIHA) mifR. g | LA |[wiE 78.3 46.5 56.04
20181119 [f[fE | RZESGE | Bt IR ER AR 20184 [PUES 2 (BAA) Wt g | &EALK BRI 4% 66.0 81.5 76.85
20181120 [#lj [ RFIIE T |BEPE IR I ER 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 98.3 67 76.39
20181121 [y [ RFEIE B RIS 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 100.0 71.5 80.05
20181122 [X 5 | RZEguE | Bt BRI ER AR 20184 [PUES 2 (CEAA) Wt Wi | &EALK BRI 4% 0.0 70 49
20181123 [SefaA| | Rl |BpE RIS B 20184 [PUES 02 (CEAA) Wt g | &EALK BRI 4% 96.7 48.5 62.96
20181124 [k iR | Rl | B RIS I 2R 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 0 71 49.7
20181125 [Z=2 Kk | R2EguE — | B rp IR RS 22 20184 [PUES 2 (CBAA) W, g | EALK BRI 4% 98.3 49 63.79
20181126 | == PRy Rl = | BRPE ISR I B 20184 [PUES 2 (CEAA) Wt e | &EALK BRI 4% 100.0 68 77.6
20181127 [V % | R¥EgaE = | Bt BRI RS 2R 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 0 0
20181128 |7k B | R2EgaE = | Bt IR RS 2R 20184 [PUES 2 (CEAA) Wit g | EALK BRI 4% 0 78 54.6
20181129 [kt | K2EguE — | Bt IR RS 22 20184 [PUES 2 (CEAA) Wt W& | &EALK BRI 4% 0 0
20181130 [Fr4eA [ R gl = | Bk IR I 2% 20187 [PiE = e CEFRA) . Wy [HHAA  |EiR 66.7 54 57.81
20181131 [k B [ RFIE B IR I R 20187 [PiE= e CEFRA) . Wy [HHAA |EiR 100.0 48.5 63.95
20181132 [#ME | RFIIE BRI RIS IR 20187 |PiE= e CEFRA) H. Wiy [HHAA  |EiR 100.0 70.5 79.35
20181133 [ T HEHx [ RFHIE " | IR 20187 |PiE = e CEFRA) Hf. Wiy [HHAA  |E% 0.0 65 455
20181134 [#BH | RFHE = |BEPE IR IR 20187 |PiE = e CEFRA) . Wiy [HHAA  |ER 100.0 28 49.6
20181135 [ =B | R diE = | Bk IR I 20187 |PiE = e CEFRA) Hf. Wiy [HHAA  |E% 100.0 61 72.7
20181136 | & [ RFHiE BRI R 20187 |PiE = e CEFRA) wi. Wiy [HHAA |EiR 66.0 63.5 64.25
20181137 (4% [RFHIE T |BEE R IETERIER 20187 [PiE = e CEFRA) . iy [HHAA |ER 100.0 67 76.9
20181138 [V [ RFIIE T |BE R IET R IER 20187 |PiE= e CEFRA) . Wiy [HHAA |EiR 0.0 64.5 45.15
20181139 [My )L [ K&l = |Bkph ISR I % 20187 [PiE = e CEFRA) . iy [HHAA |ER 100.0 79 85.3
20181140 [Jp A | R&diE | BkpE SRR I 20187 |PiE= e CEFRA) Hf. iy [HHAA |ER 96.7 53 66.11
20181141 [fEFEFE [2EeiE = |BRyG R ENLE I AR 20187 |PUiE = e CEFbA) wi. Wiy [LHHAA |EiR 100.0 69.5 78.65
20181142 [Z=58 [ REIEE [RGB E I AR 20187 [PUiE= e CETEA) wf. Wiy [HHA  |EiR 100.0 74 81.8
20181143 [Bi [RGB |BRG RN E I ERL 20187 [PiE= e CETEA) wf. Wiy [HHAA  |Ei% 100.0 79 85.3
20181144 [X Rk [R2EdeiE = | Bk AL E I AR 20187 [PLiE = e CETEA) . Wiy [HHAA  |EiR 100.0 725 80.75
20181145 [ R 155 [RETE = |BRyG R ENLE IERE 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 100.0 74 81.8
20181146 [# 5 [RFEIEE T |G RN E IR 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 100.0 65 75.5




20181147 [ABk | K2R | BRI ER R 20184 [PUET % (BAA) wfg. Wi | HALK PR % 100.0 76.5 83.55
20181148 [ [RFEFE " |BerG R IBEOEE IS 2018%% |PUE S 2 CEFAA) . g | AL (Wi 100.0 14.5 40.15
20181149 [X—5 [R2FEFAE—  |Berh R EOL I 2018%% |PUE S 2 CEFA) . by | LAA  [wi 100.0 50.5 65.35
20181150 [/ Wik [l  |Berh R EOL I AL 2018%% |PUE S 2 CEFA) . g | LAA  [wi 80.2 715 74.11
20181151 [ fESR [RFETE | BRI EOLE AL 2018%% |PUE S 2 CEFA) . g | LHAA  [wi 100.0 57.5 70.25
20181152 &35 | KRR | B RETO R R 2018%% (PUGEZ % (BIHA) mifR. g | LA [wiE 64.4 54.5 57.47
20181153 [Z=fpiy [Tl = | B R EOL I #AL 2018%% |PUE S 2 CEFA) . by | LAA  [wi 100.0 85.5 89.85
20181154 [ F¥E [ RFEHE " |BerG BTN IR 2018%% |PUE S 2 CEFA) R, g | LAA  [wi 100.0 85 89.5
20181155 [H 3  [RFEHIE T |Be R IBEONEIEA 2018%% |PUE S 2 CEFA) . g | AL (Wi 100.0 42,5 60
20181156 | Filg [l |Berg il B I AL 2018%% (PUGEZ % (BIHA) MR, g | LA [ 61.1 63 62.43
20181157 [A £ [RFETiE " |Berg BB I 2018%% |PUE S 2 CEFA) . by | LAA  [wi 100.0 56 69.2
20181158 [BAAEME [l = | B s B I AL 2018%% |PUE S 2 CEFA) . g | LHAA  [wi 100.0 78.5 84.95
20181159 B | RZEFuE = |Biurh BRI RS AR 20184 [PUES 2 (BAA) Wt g | &EALK BRI 4% 0 0
20181160 [# = 0d [ Rl = |Bkph IR 2% 20184 [PUES 2 (CBAA) Wit Wi | &EALK PRI 4% 100.0 30
20181161 [#E42 [ RFEIE | R IETERIER 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 100.0 0 30
20181162 [#L#ksE [ Rl B IR I ER 20184 [PUES 2 (CEAA) Wt Wi | &EALK BRI 4% 83.3 48.5 60
20181163 [X4E0% [ Rl |BkpE ISR 2R 20184 [PUES 02 (CEAA) Wt g | &EALK BRI 4% 100.0 62.5 73.75
20181164 [ ER [ RFEEE T |BEPE RIS R 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 100.0 62.5 73.75
20181165 [k nl ik [ R&deil | BkpE ISR I R 20184 [PUES 2 (CBAA) W, g | EALK BRI 4% 100.0 61.5 73.05
20181166 R4, [ Rl |BkpE SRR I 2R 20184 [PUES 2 (CEAA) Wt e | &EALK BRI 4% 100.0 64.5 75.15
20181167 [X¥ [ RFEE BRI ER 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 95.0 55 67
20181168 [Bi5E [ RFEdiE B RIS R 20184 [PUES 2 (CEAA) Wit g | EALK BRI 4% 95.0 74.5 80.65
20181169 [T & [ R&FHiE " |BEE IR IR 20184 [PUES 2 (CEAA) Wt W& | &EALK BRI 4% 100.0 88.5 91.95
20181170 [kl [RFdiE = |BkpE SRR 2 20187 [PiE = e CEFRA) . Wy [HHAA  |EiR 100.0 69 78.3
20181171 [X7 % [ R&FdiE = |BrE IR IR 2018%% |PUES 2 CEFA) . g | AL [ 0 0
20181172 [X|BE | RZEguE— | Bepurp IR RS AR 20184 [PUES % (BFA) wifg. Wk | BAA  [miz 100.0 30
20181173 [ MG [ RFdiE = |BrE IR I 2% 20187 |PiE = e CEFRA) Hf. Wiy [HHAA  |E% 100.0 71 79.7
20181175 [ A [ R IE | B ISR I 20187 |PiE = e CEFRA) . Wiy [HHAA  |ER 93.3 80 83.99
20181176 [fa[f [ RFEdE Bk IR I R 20187 |PiE = e CEFRA) Hf. Wiy [HHAA  |E% 88.4 84.5 85.67
20181178 [#dE — | KRB —  |BkyE IR I 20187 |PiE = e CEFRA) wi. Wiy [HHAA |EiR 100.0 83 88.1
20181179 [l [ RFEE T |BEE R EER R IER 20187 [PiE = e CEFRA) . iy [HHAA |ER 100.0 74 81.8
20181180 [l K= | K&l = |Bkyb BRI 20187 |PiE= e CEFRA) . Wiy [HHAA |EiR 90.0 74 78.8
20181181 |/ | K%¥EguE = | B rp IR RS 22 20184 [PUES % (BFA) wifg. W | BAA  [miz 0 0
20181182 [#4tg | RZ=deil = |BkpE ISR I 2% 20187 |PiE= e CEFRA) Hf. iy [HHAA |ER 98.3 81.5 86.54
20181183 [B&gr % [REdeiB = |BkyG s I 22 20187 |PUiE = e CEFbA) wi. Wiy [LHHAA |EiR 100.0 57 69.9
20181184 [N [R2FETeiE = | Bk s E I AR 20187 [PUiE= e CETEA) wf. Wiy [HHA  |EiR 83.5 25.05
20181185 [JufliEy [REdeilE = | Bk s I AR 20187 [PiE= e CETEA) wf. Wiy [HHAA  |Ei% 93.3 68.5 75.94
20181186 [X¥EvE [RFETEiE | Bk RN I AR 20187 [PLiE = e CETEA) . Wiy [HHAA  |EiR 66.0 66 66
20181187 [t [REFEIEE T |BRYG I ES I AL 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 96.7 54.5 67.16
20181188 [ B [RKEdeiE = |Bkyb s I 2R 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 0 80.5 56.35




20181189 [¥rE [ RFEHIE = |Berb R IBEOE AL 20184 [PUET % (BAA) wfg. Wi | HALK PR % 100.0 64.5 75.15
20181190 [#LEEEE [RFETE " |BerG R EOLEE IS 2018%% |PUE S 2 CEFAA) . g | AL (Wi 0 0
20181191 (B3 [ RFdeif —  |BEPE ISR IR I B 2018%% (PUGEZ % (BIHA) Mg, g | LA |[wE 100.0 61.5 73.05
20181192 [=#a | RFdiE . |BEPE RIS IR B 2018%% (PUGEE % (BIHA) mifR. g | LA |[wiE 0 84 60
20181193 [ FRE S [R2FEFiE—  |Berh Rl B I 2018%% |PUE S 2 CEFA) . g | LHAA  [wi 0 47 32.9
20181194 [kt [ RFdeif — | BRSSO IERL 2018%% (PUGEZ % (BIHA) mifR. g | LA [wiE 100.0 62.5 73.75
20181195 |k /M | KSR = | B TR BRI R 2018%% (PUGEZ % (BIHA) MR, g | LA |[wiE 0 67 46.9
20181196 [k Al | R2EguE = | Bt T BRI R 2018%% (PUGEE % (BIHA) mifR. g | LA |[wiE 98.4 59 70.82
20181197 [ik#4x  [RFEFE " |BerG R IBEOE IS 2018%% |PUE S 2 CEFA) . g | AL (Wi 89.8 77 80.84
20181198 [#% | RFEE . |BEPE RIS IR B 2018%% (PUGEZ % (BIHA) MR, g | LA [ 91.6 66.5 74.03
20181199 [k ERfiE [ R&=deif —  |BEPE SRR IERL 2018%% (PUGEZ % (BIHA) mifR. g | LA [ 98.4 52 65.92
20181200 [¥r&s=e [RFETiE—  |Beig RO I AL 2018%% |PUE S 2 CEFA) . g | LHAA  [wi 86.4 54.5 64.07
20181201 [ | RZESGE | Bt BRI ER R 20184 [PUES 2 (BAA) Wt g | &EALK BRI 4% 0 0
20181202 |44 | R&FdiE . |BEPE RIS ER 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 67.0 57 60
20181203 [fhiE [ RFEdEE BRI ISR IR 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 78.3 725 74.24
20181204 (4% [RFEGE . |BEPE ISR ER 20184 [PUES 2 (CEAA) Wt Wi | &EALK PRI 4% 79.8 23.94
20181205 |#Hm /= [ Rl —  |BkpE IR I 2R 20184 [PUES 02 (CEAA) Wt g | &EALK BRI 4% 100.0 61.5 73.05
20181206 |24y | R2Eguil — | B rp IR RS 22 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 0 78.5 54.95
20181207 [&vE | KRR | Bt IR ER AR 20184 [PUES 2 (CBAA) W, g | EALK BRI 4% 0 0
20181208 [3y]T | KZEguE = | Bt IR AR 20184 [PUES 2 (CEAA) Wt e | &EALK PRI 4% 66.0 19.8
20181209 [ Mg [ Rl |BEpE R ITR R IE R 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 100.0 72 80.4
20181210 [BHundp | R2Egeil — | Bt IR RS 2R 20184 [PUES 2 (CEAA) Wit g | EALK BRI 4% 100.0 88 91.6
20181211 [ME  [RFEIE T | RIS R 20184 [PUES 2 (CEAA) Wt W& | &EALK BRI 4% 100.0 70.5 79.35
20181212 [ ik [ RFIIE T |BEE R IETR I ER 20187 [PiE = e CEFRA) . Wy [HHAA  |EiR 98.3 525 66.24
20181213 [fa[)ii [ REEGEE Bk ISR I 20187 [PiE= e CEFRA) . Wy [HHAA |EiR 100.0 49 64.3
20181214 [k A5 | R gl = |BkpE IR I 2% 20187 |PiE= e CEFRA) H. Wiy [HHAA  |EiR 64.4 47 52.22
20181215 [fhER [ RFEGEIE BRI ISR I 20187 |PiE = e CEFRA) Hf. Wiy [HHAA  |E% 83.3 73 76.09
20181216 [ Fif0 [ RFHE | IR I 2% 20187 |PiE = e CEFRA) . Wiy [HHAA  |ER 100.0 525 66.75
20181217 [k R [ RFIE |y IR I 20187 |PiE = e CEFRA) Hf. Wiy [HHAA  |E% 100.0 85.5 89.85
20181218 |Z= A e | K%¥EguE — | B rp IR RS 22 20184 [PUES % (BFAA) iR, W | BAA  [miz 0 64.5 45.15
20181219 [#&ii [ RFEdiE B IR IR 20187 [PiE = e CEFRA) . iy [HHAA |ER 100.0 62.5 73.75
20181221 [fa[fk [ RFEGEE | BRPE RS IR 20187 |PiE= e CEFRA) . Wiy [HHAA |EiR 100.0 86 90.2
20181222 [t mite | Rl —  |Bkph SRR 2% 20187 [PiE = e CEFRA) . iy [HHAA |ER 0 70.5 49.35
20181223 [# ki | R2EguE — | B rp IR RS 22 20187k | #5e (LTHA) M THA kR 100.0 66 76.2
20181224 [3k%  [RFETEE T |BRIG RN E I ERL 2018%% |25 (LA W&k THA kR 100.0 93.5 95.45
20181225 [ &1 [REdiE = |BkyG R 2ERE 2018%% |25 (LA W&k THA kR 100.0 28 49.6
20181226 [Z=y [ RFEIEE T |BRIG RO E I 2ERL 2018%% |25 (LA W&k THA kR 81.3 81 81.09
20181227 [FESR [RGB |BRIG RN E I AR 2018% [ 2 MKkl (LHA) HiX THA  |[wiR 100.0 70.5 79.35
20181228 [xil#e1 [ R2EDaE = By s ERML B I A 2018%% | W2kl (BTA) % THA |[wiz 100.0 30
20181229 [ RS [R2E0aE = By s IRML B I 4% 2018%% |2kl (CBTA) % THA |[wiz 0 0




20181230 [##% | KSR | BRI RIETOL R R 2018%% [z MKkl (LAHA) mix T A PR % 100.0 81.5 87.05
20181231 [P K [RFETE | B I EOLEE AL 20187 [T/ (EAHA) MR LTHA  |ER 100.0 78 84.6
20181233 [& o v | R2EguE = | B Th ORI R 20187 | 1TLAE (LFA) miR LTIHA | 0 79.5 55.65
20181234 [Fru] )L | R2EguE — | B Th ORI R 20187 |1k TAE (LFA) miR LTIHA | 75.0 62.5 66.25
20181235 |Flids | R2Eguil = | B tp ORI R 20187 [iFEALEIEESHEA (LHA) wmig  [THAA |EiR 64.4 65 64.82
20181236 [ AP | R2EguE — | B Th ORI R 2018%% [iFEAEIEESHEA (LA wmig  [THAA |EiR 0.0 70.5 49.35
20181237 [FriE [ R deil —  |BEPE SRR I B 2018%% [iFEALEIEESHEA (LHAA) i [THAA |EiR 5.0 1.5
20181238 [k | RZEgE | B RETO R R 2018%% [iFEAEIEESHEA (LHAA) wmig [THAA |EiR 100.0 56 69.2
20181239 [k A | R&deif = |BEPE SRR I B 20187 [iFENEIEESHEA (LA i [THAA |EiR 0 73 51.1
20181240 [ E %k [ RFdil = | IR IRIER 2018%% [iFEAEIEESHEAR (LHA) wmig  [THAA |EiR 100.0 65.5 75.85
20181241 [k [RFEIE . |BEPE RS I ER 20187 [iFEHLEIEESHEA (LA i [THAA |EiR 100.0 59.5 71.65
20181243 |[Z=F A | REgE = | B Tp PR R 20187 [iFEHLEIEESHEA (LHAA i [THAA |EiR 100.0 77 83.9
20181244 [Hxk | RFIE B IR IR 2018%% [iFENLEIESEAR (BHA) iR |[EFAAE BRI 4% 100.0 71.5 80.05
20181246 [fhdullk | K2Egul — | B rp IR RS 2R 20182 [FEMLEIESEAR (BHA) iR |[EFAA BRI 4% 100.0 70.5 79.35
20181247 [F x40 [ RFD0E = |Byu iSOV B A% 20187 [iFEIHLEI S EAR (EHA) wig | EAA [w 100.0 95 96.5
20181248 [{LZ# | K2Eguil — | B rp IR 2R 20182 [1FENLEIESEAR (BHA) iR |[EFAA BRI 4% 100.0 69.5 78.65
20181249 [Jfipe s [R2E00iE = |BkyU iRV B I A% 20187 [iFEHLEI S EAR (EHA) wig | EAA (Wi 66.0 68.5 67.75
20181250 [ G [R2E00iE = |Bya s LB I A 20187 [iFEHLREI S EAR (EHA) wig | EHAA  [w# 73.6 62.5 65.83
20181251 [R/2 [ REFE = |BRyU STV I AL 20187 [iFEHLEI S EAR (EHA) wig | EAA  [w 64.4 58.5 60.27
20181253 [Rkpk [ REEDEE = |BRyU iSRRI AL 20187 [iHEHLREI S EAR (EHA) wig | TAAR  [wi 66.0 78 74.4
20181254 |15 4F [ R20E = |Byu iSOV B I A% 20187 [iFEHLEI S EAR (EHA) wig | LEAA (Wi 33.3 715 60.04
20181255 [FkBiT el | R2EgeiE — | Bt IR RS 22 2018%% [FENLEIESEAR (BHA) iR |[EFAA BRI 4% 0 62 43.4
20181256 |3t [ RFEEEE B RIS ISR 2018%% [FENLEIESEAR (BHA) iR |[EFAA BRI 4% 0 72 50.4
20181257 it | R&=deil — | BkpE ISR I 20187 [iFENEIESHEAR (LA wig [THA  |EiR 78.2 57.5 63.71
20181258 |ifivk & | R&deil = |Bkph SRR I 2% 20187 [iFENEIESHEAR (LA wmig [THA  |EiR 100.0 68 77.6
20181259 [[A1ZE | R&diE = |BkpE IR IR 2018%% (b THRETE (T4 W% THA  |[wiR 91.6 70 76.48
20181260 [xz [ RFdiE B AR IR 2018%% (b THRETE (T4 W% THA  |[miR 100.0 58 70.6
20181261 [ 57w | R&deil = |Bkph ISR I 2% 2018%% [tk THRETE (T4 W% THA  |[wiR 100.0 78 84.6
20181262 [Fim | RFHIE B IR 2018%% (b THRETE (LTHA) W% THA  |[miR 89.8 76.5 80.49
20181263 [y [REFEFEE T |BRIG RIS ER I ER 2018% (ML THE (LHA) M THA  |[wiR 83.2 0 24.96
20181264 [Z=P8 % [RFETEE—  |BRIG RN E IR 2018%% | THE CETEA) i THA  |[miR 0.0 45 315
20181265 |BrikE | KEguE — | B rp IR RS 22 2018% [MAEETHE (LHA) HiX THA  |[wiR 100.0 83 88.1
20181266 [ RN [ K2EI0E = BB IR 2 2018%% | THE CETEA) i THA  |[miR 19.8 5.94
20181267 [FEAA [RFETE T |BRG RN E I ERE 2018% [MAEETHE (LHA) HiX THA  |[wiR 100.0 49 64.3
20181268 [%%: [ REIEiE BRI RN E I ERL 20187 [T (BTHA) iR THA  |[miR 100.0 70 79
20181269 |7k /B | K2Eg0E = | Bt rp EE R RS 224 2018%% [T (BTHA) iR THA  |[wiR 100.0 86 90.2
20181270 [sk/DE | K2Eg0E = | Bt rp IR RS 224 2018%% [T (BTHA) iR THA  |[wiR 0 77.5 54.25
20181271 [Fhn  [RFEFE = |BRIG RN E I 2ERL 2018%% |geEfbE TR (CBTHA) W% THA  |[wiR 64.4 65.5 65.17
20181272 [¥hri [ RFGEIE T [RGB R 2018%% |geiEfbE TR (CBTHA) Mm% THA |[wiz 0 10 7
20181273 A& [ RFEIE T |G RN E IR 2018%% |ZEMA T (BTHA) W% THA |[wiz 100.0 51.5 66.05




20181274 [#fiE | RZEgGE | BRI R IETOL R R 2018%% |&IEMA TR CBTHA) % T A PR % 100.0 0.5 30.35
20181275 |G T8y [ R#Fdif =  |BEPE SRR IR 2018%% |#IEMA TR CETHA) W% LTHA  |ER 100.0 68.5 77.95
20181276 | FJF & | R2Eguil— | B Tp PO R 2018%% |HIEMA TR CBTHA) W% LTIHA | 69.4 80.5 77.17
20181277 [Mocih [R2FEFE | B s B I AL 2018%% (M PR T CETHA) W% LTIHA | 100.0 78 84.6
20181278 |7k )L [ RFIE . |BEPE ISR ER 2018%% (M TFEETIE (BFA) Wz LTIHA  |ER 0 67.5 47.25
20181279 [ B [RFEFE " |Beig R EOLE AL 2018%% (M5BT CETHA) W% LTHA  |HR 100.0 40.5 60
20181280 |A =7 | K2R = | B Th BRI R 2018%% (M TFEETIE (BFA) Wz LTIHA | 100.0 75.5 82.85
20181281 [Z=if  [RFEFE " |BerG R IBEOLEE IS 2018%% (M PR T CETHA) W% LTIHA  |ER 100.0 75 82.5
20181282 [H¥F  [RFEFAE " |Berh RO IEAL 2018%% (M5 R T CETHA) W% LTIHA | 100.0 75.5 82.85
20181283 [ [RFEFiE—  |BerG I EOLEE A 2018%% (M5BT CBTHA) W% LTHA  |HR 0.0 86 60.2
20181284 [Fhyl [l | B R EOL AL 2018%% (M PR TR CBTHA) W% LTIHA  |ER 89.8 54.5 65.09
20181285 [XIBEME [R2Edeil = | B s B I AL 2018%% (M TFEETIE (BFA) Wz LTIHA  |ER 0.0 0
20181286 & | K2Eguil — | Bt IR RS 2R 20187 [ifE TR (LFA) MR LTHA BRI 4% 100.0 78 84.6
20181287 [#H4E [ RFEIE B RIS R 20187 [ifE TR (LFA) MR LTHA BRI 4% 0 67 46.9
20181288 | 300 | RZ=dif — | BkpE IR R I 2% 20187 [ifE TR (LFA) MR LTHA BRI 4% 0 73.5 51.45
20181289 | F/h#e | K2Eguil — | B rp IR BRI 22 20187 [ifE TR (LFA) MR LTHA BRI 4% 100.0 74 81.8
20181290 | F AR AR | R2Eguil— | Bt rp IR RS 22 20187 [@fE TR (LEHA) MR LTHA BRI 4% 100.0 70.5 79.35
20181291 (W5 [ RFHE . |BEPE RIS 2R 20187 [ifE TR (LFA) MR LTHA BRI 4% 0 75.5 52.85
20181292 [FIW 4R | K20l — | Bt R R 22 20187 [@fE TR (LHA) MR LTHA BRI 4% 100.0 76.5 83.55
20181293 [k F ot [R&=deil — | BkpE ISR 2R 2018%% [MhEHARE T (LHA) Wi LTHA PRI 4% 68.3 20.49
20181294 [ %5 8 [ Rl |BRpE RIS 2R 2018%% [MhEHARE T (LHA) Wiz LTHA BRI 4% 0 44 30.8
20181295 [T [ RFdiE . |BEPE R ETERIER 20187 |&@hz: (LFHA) iR LTHA BRI 4% 66.0 74.5 71.95
20181296 [ X8 | K&l —  |BEpE IR I 2R 20187 |&@hz: (LFA) R LTHA BRI 4% 100.0 47 62.9
20181297 [ IE4E [ R&FdE = |Bph IR I 2% 2018%% |&@hz: (LTHA) iR THA  |[wiR 100.0 60.5 72.35
20181298 [ &3 [KFETciE = |G RN E I 2R 2018%% |&mahiE CEHA) MR THA  |[miR 100.0 60 72
20181299 [WR7x [ RFHIE—  |BRPE IR IR 2018%% |&@hz: (LTHA) iR THA  |[wiR 98.3 56.5 69.04
20181300 [ Eff [ RFdE—  |BEE IR IR 20187k |&@hz: (LIHA) iR THA  |[miR 80.1 75.5 76.88
20181301 [ X FA [ RZdiE = |Bkph ISR I 2% 20187k |&@hz: (LIHA) iR THA  |[wiR 76.9 49.5 57.72
20181302 (A% [ RFdE BRI IR 20187k |&@hz: (LIHA) iR THA  |[miR 100.0 63.5 74.45
20181303 [ A | K2EguE — | Bt IR RS 22 2018% (&l (LHA) miz THA  |[wiR 89.9 73 78.07
20181304 [k iy [ R deil = |BkpE IR IR 20187k |&@hz: (LIHA) iR THA  |[miR 81.9 70 73.57
20181305 |[ikifE2 | Rl = |Bkph IR I 2% 20187k |&@hz: (LTHA) iR THA  |[wiR 100.0 55 68.5
20181306 [ | RFdIE B IR IR 20187k |&@hz: (LIHA) iR THA  |[miR 81.6 83 82.58
20181307 il [ RFEIE B IR IR 20187k |&@hz: (LTHA) iR THA  |[wiR 100.0 67.5 77.25
20181308 |22 [REdeiB = |BkyG s E I AR 20187 |&ahz: (BTHA) R THA  |[miR 98.3 82.5 87.24
20181309 [ HHEEr [ Rl = [RGB I 2 20187 |&ahz: (BTHA) iR THA  |[wiR 0 0
20181310 [Fe  [RFEIE |G RN I ER 20187 |&ahz: (BTHA) iR THA  |[wiR 0.0 735 51.45
20181312 [4f 1B [REdeiE = | Bk s I AR 20187 |&ahz: (BTHA) iR THA  |[wiR 0 32 22.4
20181313 [ MR [REdeiE = |BkyG s E IR 20187 |&ahz: (BTHA) R THA |[wiz 100.0 25 475
20181314 [ [ KEE = B BRI 2 2018%% |&ahiE (CETAR) MR LIA [ER 0 50 35




20181316 | FEmze [RFEHAE = |Berb bl I 2018%% |&fhz: (BTHA) it T A PR % 0 0
20181317 [klhe s | R%EguE— | BRI ER I R 2018%% |&fhz: (LA iR LTHA  |ER 64.4 61 62.02
20181318 [#H= | KZEguE— | B TR EPO R R 2018%% |&fhz: (LA iR LTIHA | 0 69 48.3
20181319 |51 | RZEguE = | PR TR EPOL R R 2018%% |&fhz: (LA iR LTIHA | 100.0 23 46.1
20181320 [ F#k [ RFHE " |BEPE ISR IER 2018%% |&fhz: (LA R LTIHA  |ER 64.4 64 64.12
20181321 [ik Ml | R2EguE — | B Th BRI R 2018%% |&fhz: (LA Rz LTHA  |HR 0 27 18.9
20181322 [Ty [RFIiE BRI IER 2018%% |&fhz: (LA iR LTIHA | 100.0 57.5 70.25
20181323 [ EM & [l — |k Rl B I 2018%% |&fhz: (LA iR LTIHA  |ER 0 0
20181324 [T | R2EguE — | B Th IR R 2018%% |&xfhz: (LA itz LTIHA | 100.0 69.5 78.65
20181325 [REIT¥E | R&deif = |BEp SRR I ER 2018%% |&fhz: (LA iR LTHA  |HR 0 50 35
20181326 |76 [ RFdiE . |BEPE ISR IER 2018%% |&fhz: (LA iR LTIHA  |ER 0 52 36.4
20181327 [k A | R2Eguih — | B RO R 2018%% |&fhz: (LA iR LTIHA  |ER 100.0 90 93
20181328 |45 | RFdiE . |BEPE IR 20187k |&hz: (LA iR LTHA BRI 4% 21.6 51.5 4253
20181329 [ T-F [ RFIiE . |BEPE IR I ER 20187 |&@hz: (LFA) iR LTHA BRI 4% 0 70 49
20181330 [tlef | K2Eguil — | Bt IR RS 2R 2018%% |WiE s (LTFA) Wiz LTHA BRI 4% 100.0 65 75.5
20181331 [¥ e [ Rl =  |BpE IR I 2R 2018%% | &1t (LHAA) W LTHA BRI 4% 100.0 66 76.2
20181332 [A4E Wt [ Rl — | By IR 2R 2018%% | &1t (LAA) W LTHA BRI 4% 100.0 81 86.7
20181333 [{&ik | RFEgaE = | Bt IR RS 2R 2018%% | &1t (LHAA) Wi LTHA BRI 4% 100.0 66 76.2
20181335 [fa[ k] | R&Edeil — | BRPE SRR I B 2018%% |&it% (LHAA) W LTHA BRI 4% 100.0 77 83.9
20181336 [#hdF [ RFEdiE BRI ER 2018%% | &1t (LHAA) W LTHA BRI 4% 33.4 57 49.92
20181337 [ F/hJ5 | RFIE | B ISR 2R 2018%% | &1t (LAA) W LTHA BRI 4% 100.0 63.5 74.45
20181338 [stifif &l | K2Eguil = | Bt IR RS R 20182 |&it% (LHAA) W LTHA BRI 4% 0 85.5 60
20181339 [mHAr [ R&deil — | BkpE IR I 2% 20182 | &1t (LHAA) W LTHA BRI 4% 91.7 55.5 66.36
20181340 S5 vk [ R&diE = |Bkph ISR I 2% 2018%% | &1t (LA W% THA  |[wiR 100.0 66.5 76.55
20181341 [Z=i [ RFEGE BRI IR IR 2018%% | &1t (LHAA) W% THA  |[miR 100.0 84 88.8
20181342 [ [ RFIIE T |BE R IET I ER 2018%% |&it% (LHAA) W% THA  |[wiR 100.0 735 81.45
20181343 [ £ | RFIiE B IR IR 2018%% |&it% (LHAA) W% THA  |[miR 100.0 54.5 68.15
20181344 [k PHar | RFdiE | BkpE ISR I 2% 2018%% |&it% (LHAA) W% THA  |[wiR 100.0 86.5 90.55
20181345 [k [z aE = |Bkya s RL R I A 2018%% |&it% (LHAA) W% THA  |[miR 0 60 42
20181346 [P} | RZESGE | B rh IR RS AR 2018%% &2 (BFHA) iR THA  |[wiR 96.7 79.5 84.66
20181347 [ K [RFETE T |BRG RN IR 2018%% &2 (BFHA) iR THA  |[miR 33.0 9.9
20181348 [P @Z#E [ RFETiE—  |BRIG RN E I 2R 2018%% &2 (BFHA) R THA  |[wiR 91.8 64.5 72.69
20181349 x| Ko — Bt s HRL BRI 2458 2018%% |&it% (LHAA) W% THA  |[miR 100.0 65 75.5
20181350 | & dewE [Tl = |Bkyh R EI2E R 2018%% &2 (BFHA) R THA  |[wiR 64.4 68.5 67.27
20181351 [ i [Tl = |BkyG RN E I 2R 2018%% | &1t (LA W% THA  |[miR 62.7 78 73.41
20181352 [f[RH{E [Tl = | Bk s I 22 2018%% | &t (LA W% THA  |[wiR 100.0 80.5 86.35
20181353 [Em  [KFEFiE—  |BkyG RN E I AR 2018%% | &t (LA W% THA  |[wiR 100.0 59.5 71.65
20181354 |4 A F | R%¥Eg0E = |Bepirp IR RS 24 2018% |&il% (BHA) wiz THA  |[wiR 100.0 55 68.5
20181355 [H T I [REdeiE = |BkyG R LE I 2E AL 2018%% | &t (LA W% THA |[wiz 0 0
20181356 [fFhE | KRZEguE = |BepurpEERI RS 22 2018% |&ih% (BHA) miz THA |[wiz 100.0 78 84.6




20181357 [ A | KSR | BRI RS R 2018%% &% (LAA) Wiz T A PR % 100.0 71 79.7
20181358 [ R [RFETE " |Berh R EOL RIS 2018%% |&it% (LAA) W LTHA  |ER 100.0 86.5 90.55
20181359 [ikFr  [RFEFAE " |BerG R IEEOE IS 2018% |&ih% (BAA) WMz LTIHA | 83.2 73.5 76.41
20181360 |4 fefl | R2EguE — | B Th BRI R 2018%% &1t (KAA) W LTIHA | 100.0 69.5 78.65
20181361 [FEiE [RFEFIE T |Be R IBEOEIEA 2018%% &1t (KAA) Wi LTIHA  |ER 100.0 45,5 61.85
20181362 |4 B | R2Eguih — | B Th R R 2018%% | &1t (KAA) Wi LTHA  |HR 100.0 63.5 74.45
20181363 [ 75 75 [RFEFiE—  |Berh R EOL I 2018%% &1t (LAA) Wi LTIHA | 100.0 63 74.1
20181364 ikl | Rl — | B Th IR R 2018%% &1t (KAA) W LTIHA  |ER 64.4 84.5 78.47
20181365 [ikiiaE [REdilE | B s B I A 2018%% &1t (LAA) W LTIHA | 100.0 61 72.7
20181366 |Frith | R&deil = B ISR B 2018%% | &1t (KAA) Wi LTHA  |HR 64.6 31.5 41.43
20181367 ¥t | RZEguE | PR ETO R R 2018%% |&ih% (KAA) Wi LTIHA  |ER 95.0 66 74.7
20181368 | Mg | R2Eguih — | B sh IR R 2018%% &1t (KAA) W LTIHA  |ER 96.7 51 64.71
20181369 |HEH | K2Egul — | B rp IR RS 22 2018% |&it% (BAA) mE LTHA BRI 4% 90.0 27
20181370 [F | RZEguE | Bt IR AR 2018%% | &1t (LHAA) Wi LTHA BRI 4% 61.1 725 69.08
20181371 |ikIelE | K2Eguil — | Bt IR 2R 2018%% |&it% (LHAA) W LTHA PR3 0 0
20181372 [ | K2EguE = | Bt IR 2R 2018%% | &1t (LHAA) W LTHA BRI 4% 68.3 44 51.29
20181374 |WR ik bk [ RFIeiE | BRPE RIS 2% 2018%% | &1t (LAA) W LTHA BRI 4% 34.9 43 40.57
20181375 [ikvb | RZESGE | Bt IR R 2018%% | &1t (LHAA) Wi LTHA BRI 4% 100.0 80 86
20181376 [XIXk [ RFEEE | RIS SR 2018%% |&it% (LHAA) W LTHA BRI 4% 100.0 66.5 76.55
20181377 (AL A [ RIS R I E R 2018%% | &1t (LHAA) W LTHA BRI 4% 100.0 81 86.7
20181378 [ribk [ RFEdiE BRI RIS R 2018%% | &1t (LAA) W LTHA BRI 4% 66.0 85.5 79.65
20181379 [Ffhs [ RFEEIE T |BEPE RIS E R 20182 |&it% (LHAA) W LTHA BRI 4% 100.0 73 81.1
20181380 (H% [ RFEE B IR I ER 20182 | &1t (LHAA) W LTHA BRI 4% 0 78 54.6
20181381 [E1h [ RFHIE BRI R 2018%% | &1t (LA W% THA  |[wiR 100.0 67 76.9
20181382 [Tl [ RFHIE B IR IR 2018%% | &1t (LHAA) W% THA  |[miR 100.0 65.5 75.85
20181383 |51 | RFHIE . |BRPE R EER R IER 2018%% |&it% (LHAA) W% THA  |[wiR 98.4 76.5 83.07
20181385 | v HL [ K&l —  |Bkph IR I 2% 2018%% |&it% (LHAA) W% THA  |[miR 61.1 455 50.18
20181386 |5 | KSR = | Bt rp IR RS AR 2018%% &2 (BFHA) iR THA  |[wiR 100.0 88 91.6
20181387 [ = Hils | Rl = |Bkph ISR 2018%% |&it% (LHAA) W% THA  |[miR 98.3 62.5 73.24
20181388 [ E XA [RFETE—  |BRyG RN E I ERE 2018%% &2 (BFHA) iR THA  |[wiR 100.0 46.5 62.55
20181389 [k [ Rl — | Bkph SRR I 2018%% |&it% (LHAA) W% THA  |[miR 100.0 81.5 87.05
20181390 [T . [RFHIE " |BRPE IR IR 2018%% |&it% (LHAA) W% THA  |[wiR 96.7 63.5 73.46
20181391 [ Fi [ RFdcil = |Bkrh IR I % 2018%% |&it% (LHAA) W% THA  |[miR 66.0 78 74.4
20181392 [ 3¢ [ RFdiE = |Bkph IR I % 2018%% |&it% (LHAA) W% THA  |[wiR 100.0 83.5 88.45
20181393 [EXK R [RETiE = Bk RN E I 2R 2018%% | &1t (LA W% THA  |[miR 100.0 58.5 70.95
20181394 Xk [RFETEE— |BRIG AL E I 2ERL 2018%% | &t (LA W% THA  |[wiR 100.0 65.5 75.85
20181395 [XfE  [RETEE— |BkG RN I 2ERL 2018%% | &t (LA W% THA  |[wiR 100.0 74.5 82.15
20181396 [X S} [Tl = | Bk s I 22 2018%% | &t (LA W% THA  |[wiR 0 59 41.3
20181397 [& 32 [RFEIE [RGB E IR 2018%% | &t (LA W% THA |[wiz 100.0 67.5 77.25
20181398 [XI%%  [KFEIEiE [RGB E IR 2018%% | &t (LA W% THA |[wiz 100.0 65.5 75.85




20181399 [Mifr | KZEguiE = | BRI R R 2018%% &% (LAA) Wiz T A PR % 100.0 75 82.5
20181400 [P [ RFHE BRSSO 2018%% |&it% (LAA) W LTHA  |ER 100.0 60.5 72.35
20181401 |rmlhel | R2EguilE — | B th ORI R 2018%% | &1t (KAA) Wi LTIHA | 96.7 79 84.31
20181402 [fEedl | R2Eguih — | Bt sh ORI R 2018%% &1t (KAA) W LTIHA | 100.0 67.5 77.25
20181403 [xK  [RFEFAE " |BerG I EOLEE IR 2018%% &1t (KAA) Wi LTIHA  |ER 100.0 30
20181404 [XSimpn [R2FETE | B BRI 2018% |&=ih% (BAA) Wz LTHA  |HR 100.0 69 78.3
20181405 [Z=4y [ RFEFE " |BerG I EOLE AL 2018%% &1t (LAA) Wi LTIHA | 100.0 81 86.7
20181406 /it [RFEFE " |BRG R IBEOEE IS 2018%% &1t (KAA) W LTIHA  |ER 100.0 86 90.2
20181407 | £ | R2EguE = | B Tp BRI R 2018%% &1t (LAA) W LTIHA | 94.9 50.5 63.82
20181408 |k v vt | K2Eguih — | B Th ORI R 2018%% | &1t (KAA) Wi LTHA  |HR 100.0 50.5 65.35
20181409 [Z=&  [RFEFE " |BerG R IBEONE IR 2018% |&ih% (LAA) Wz LTIHA  |ER 70.1 69 69.33
20181410 [& Pt | R2EguE = | B Tp BRI R 2018%% &1t (KAA) W LTIHA  |ER 100.0 80.5 86.35
20181411 [xpt  [RFEE | ISR I E R 20182 | &1t (LHAA) W LTHA BRI 4% 95.0 74 80.3
20181412 [/l | R&deiE | BEpE ISR E R 2018%% | &1t (LHAA) Wi LTHA BRI 4% 100.0 73.5 81.45
20181413 [k [ RFEIIE B IR IR 2018%% |&it% (LHAA) W LTHA BRI 4% 100.0 44 60.8
20181414 [X#E [ RFEIE T |BEPE R EETRERIER 2018%% | &1t (LHAA) W LTHA BRI 4% 100.0 84.5 89.15
20181415 [#ififd [ RFEEE | B RIS R 2018%% | &1t (LAA) W LTHA BRI 4% 98.4 435 60
20181416 [EA | RZEguE = | Bt IR ER R 2018%% | &1t (LHAA) Wi LTHA BRI 4% 100.0 76.5 83.55
20181417 [XIFH | RFdeil = | IR I E R 2018%% |&it% (LHAA) W LTHA BRI 4% 100.0 375 56.25
20181418 [Z&=[E¥E | K2EguE = | Bt IR 2R 2018%% | &1t (LHAA) W LTHA BRI 4% 0 48 33.6
20181419 [kfh [ RFEIE T |BEPE IR I ER 2018%% | &1t (LAA) W LTHA BRI 4% 100.0 83 88.1
20181420 |[fhigeles | R&=deil — | BkPE RIS I 2R 20182 |&it% (LHAA) W LTHA BRI 4% 98.3 67 76.39
20181421 ¥ | Rl |BkpE ISR I 2R 20182 | &1t (LHAA) W LTHA BRI 4% 100.0 57 69.9
20181422 [ [RFEFEE T |BRIG RN E I ER 2018%% &2 (BFHA) iR THA  |[wiR 100.0 69 78.3
20181423 | RPHF | RZEg0E = |Bepurp IR RS 22 2018%% &2 (BFHA) iR THA  |[miR 100.0 63 74.1
20181424 [ 53¢k | R&geiE = |BkpE ISR I 2% 2018%% |&it% (LHAA) W% THA  |[wiR 100.0 57.5 70.25
20181425 [k [ RFIIE T |BE R EEER R IER 2018%% |&it% (LHAA) W% THA  |[miR 100.0 67.5 77.25
20181426 [ikki [ RFEIIE | IR IR 2018%% |&it% (LHAA) W% THA  |[wiR 100.0 54.5 68.15
20181427 [~F+ith [RFETE T |BRIG R IEINLE I 2R 2018%% &2 (BFHA) iR THA  |[miR 96.7 62.5 72.76
20181428 |35 | RFEguE | B rh IR RS AR 2018%% &2 (BFHA) iR THA  |[wiR 100.0 63 74.1
20181429 [# 2 | RFIE T |BEPE R IER R IER 2018%% |&it% (LHAA) W% THA  |[miR 100.0 64.5 75.15
20181430 [ /M [ RFdeiE | BkpE ISR 2018%% |&it% (LHAA) W% THA  |[wiR 100.0 55.5 68.85
20181431 [Fm  [RFEIE T |BRIG R IEINLE IR 2018%% &2 (BFHA) iR THA  |[miR 100.0 64 74.8
20181432 [ FE 3 [RFETE—  |Beyh RN I 2R 2018%% &2 (BFHA) R THA  |[wiR 33.4 64.5 55.17
20181433 [ EAFE [EdeiB = |BkyG RN E I 2R 2018%% | &1t (LA W% THA  |[miR 78.2 73 74.56
20181434 [[EAF & [Tl = | Bk s I 22 2018%% | &t (LA W% THA  |[wiR 100.0 91 93.7
20181435 [ ¥ [l = | Bk s I 22 2018%% | &t (LA W% THA  |[wiR 0.0 495 34.65
20181436 | E oKk [R2EdeilE = | Bk s I 22 2018%% | &t (LA W% THA  |[wiR 100.0 50.5 65.35
20181437 [mE [RFEIEE T (BRI RN E IR 2018%% | &t (LA W% THA |[wiz 86.8 87 86.94
20181438 |[4F i [REdein = |BkyG R ENLE I 2E AL 2018%% | &t (LA W% THA |[wiz 91.5 72 77.85




20181439 [fT KAk | RZEguE = | Bt sp IR R 2018%% &% (LAA) Wiz T A PR % 0.0 53.5 37.45
20181440 [i& /= | RFEE . |BEPE ISR B 2018%% |&it% (LAA) W LTHA  |ER 100.0 79 85.3
20181441 [PHE [ RFEFAE " |BerG R IEEOEE IS 2018% |&ih% (BAA) WMz LTIHA | 100.0 89.5 92.65
20181442 [ 52r | R&geif — | B SRR I B 2018%% &1t (KAA) W LTIHA | 54.5 59 57.65
20181443 | 5E: | R2EguE | B R ET R R 2018%% &1t (KAA) Wi LTIHA  |ER 0 47 32.9
20181444 |13 [RFIE T |BEPE ISR I B 2018%% | &1t (KAA) Wi LTHA  |HR 71.9 40 49.57
20181445 |7k vk S [ RFdeil | BEPE SRR I B 2018%% &1t (LAA) Wi LTIHA | 100.0 67 76.9
20181446 [Xxk  [RFEFAE " |BerG R IBEOLEE I 2018% |&=ih% (LAA) Wz LTIHA  |ER 98.3 29.49
20181447 |7k SC | K2R = | B Th ORI R 2018%% &1t (LAA) W LTIHA | 100.0 78 84.6
20181448 |7 /N | R2EguE = | B Th BRI R 2018%% | &1t (KAA) Wi LTHA  |HR 65.3 53.5 57.04
20181449 [Z=mift [l = | B R BRI 2018%% |&ih% (KAA) Wi LTIHA  |ER 88.5 52 62.95
20181450 |2l [RFEFE " |BerG I EOLEEIEAL 2018% |1t (BAA) Wz LTIHA  |ER 100.0 30
20181451 [i#E T [ K&l —  |BkpE IR I 2% 20182 | &1t (LHAA) W LTHA PR 3% 0 10 7
20181452 [fFBf IR | R2Egeih — | Bt ISR BRI 22 2018%% | &1t (LHAA) Wi LTHA BRI 4% 88.2 54 64.26
20181453 ke [ RFEdiE | BRI RIS R 2018%% |&it% (LHAA) W LTHA PR3 0 0
20181454 |3k £ | R2Eg0E = | Bt rp IR BRI 2R 2018%% | &1t (LHAA) W LTHA BRI 4% 100.0 69 78.3
20181455 [ 4] [ RFHE | RIS R 2018%% | &1t (LAA) W LTHA BRI 4% 0 75.5 52.85
20181456 (4% | RFEdiE B RIS ER 2018%% | &1t (LHAA) Wi LTHA BRI 4% 93.4 51.5 64.07
20181457 [HE M [ R&Fdil = |Bph IR I 2% 2018%% |&it% (LHAA) W LTHA BRI 4% 98.3 63 73.59
20181458 [X|EHE [ Rl B ISR E R 2018%% | &1t (LHAA) W LTHA BRI 4% 100.0 59.5 71.65
20181459 [ZRarde | Rl — | BkpE IR I 2R 2018%% | &1t (LAA) W LTHA BRI 4% 0 70 49
20181460 [FF 2ty |2l —  |BkpE IR I 2R 20182 |&it% (LHAA) W LTHA PRI 4% 100.0 30
20181461 [ KA [ RFdil = |Brh IR I 2R 20182 | &1t (LHAA) W LTHA BRI 4% 0 67.5 47.25
20181462 [{EfE | RFIE B IR IR 2018%% | &1t (LA W% THA  |[wiR 100.0 60.5 72.35
20181463 |3 [ R deil = |Bkph IR I 2% 2018%% | &1t (LHAA) W% THA  |[miR 100.0 51 65.7
20181464 [ )L [ RFHIE— |BpE RIS 2018%% | N AWREH (BFA) Wi THA  |[wiR 98.3 80.5 85.84
20181465 | FHIZE | K2%EguE = | B rp IR RS 22 2018%% | N AWREH (BFA) Wi THA  |[miR 100.0 30
20181466 [BkEMF [ R2EdeiE = By s RML B I 8% 2018%% | N IR HEH (ETEA) HiR THA  |[wiR 100.0 30
20181467 [ DI | R2Eg0E — | B rp EEHRL RS 2248 2018%% | N AWREH (BFA) Wi THA  |[miR 86.8 50.5 61.39
20181468 [Fr3 [ RFETEE T |G RN E I ERL 2018%% | N AWRE . (BFA) Wi THA  |[wiR 100.0 68 77.6
20181469 [XfElr | Rl = |Bkph SRR 2% 2018%% | N AwRE . (BFA) Wi THA  |[miR 100.0 69 78.3
20181470 [T [ RFHIE T |BEE R IET R IER 20182 | N AWREH (BFA) Wi THA  |[wiR 81.7 69.5 73.16
20181471 |fEede | R%EguE — | B rp IR RS 22 2018%% | N AwRE . (BFA) Wi THA  |[miR 89.9 72 77.37
20181472 (B [ RFEFE T |BRIG RN E IR 2018%% | N A¥REH (BFA) Wi THA  |[wiR 0 56 39.2
20181473 [#E i dh [RETEE = |BRG RIEENLE I AR 2018%% | N wtiRE s (TR W% THA  |[miR 0 725 50.75
20181474 [ SR = R T0E = | BRG RdsILEI 2E A 2018%% | N AwtiiiE s (BFA) W% THA  |[wiR 100.0 775 84.25
20181475 [#LEE  [RFEIEE T |BRG RIS E I AR 2018%% | N AwtiiiE s (BFA) W% THA  |[wiR 94.9 61.5 71.52
20181476 |7k R | RFE0E = |Beptirp IR RS 2 20187 | NI REER (BTHA) iR THA  |[wiR 0 0
20181477 | E/hE | RZFESGE = |Bepurp EEER RS 22 2018%% | NI RIEERL (BTHA) iR THA |[wiz 63.3 75 71.49
20181478 [xHe  [RFEIEE— |BRIG I E IR 2018%% | N wtiiiE s (BFA) MR THA |[wiz 100.0 62 73.4




20181479 [H [ RFEHIE BRI 2018 |\ WJREH CRAA) MR LIA [z 98.3 74.5 81.64
20181480 [X7h [ RFHIE |BEPE RS IR 2018%% |\ RFER (LTHA) iR LTHA  |ER 100.0 80.5 86.35
20181481 |42 R [ K¥I0E = BB ELLII A 2018 |\ A WHJREH CBHAA) Wi LHA R 0 0
20181482 |- | R2Eguih — | B sh IR R 2018%% |\ RFER (LTHA) MR LTIHA | 100.0 27.5 49.25
20181483 [ T4] [ R#FdiE . |BEPE ISR B 2018%% |\ JRFE R (LTHA) iR LTIHA  |ER 100.0 71 79.7
20181484 (A7 [ RFEHIE = |BerG R IBEONE IR 2018%% |\ RFER (LTHA) iR LTHA  |HR 0 0
20181485 [H ] 0 | R2EguE = | B th PR R 2018%% |\ RFER (LTHA) MR LTIHA | 100.0 92 94.4
20181486 [ik#& | R |BEPE R ESTIR AR 2018%% |\ RFER (LTHA) MR LTIHA  |ER 69.9 74 72.77
20181487 |4ty | KRR | BRI ER I R 2018%% |\ RFER (LTHA) iR LTIHA | 0.0 525 36.75
20181488 [&E | K2EguE = | BT EI R 2018%% |\ RFER (LTHA) iR LTHA  |HR 100.0 59 71.3
20181489 | T P11} | R2EguE — | B Th IR R 2018%% |\ RFER (LTHA) MR LTIHA  |ER 100.0 64.5 75.15
20181490 [xFF  [RFIE BRSSO IER 2018%% |\ RFER (LTHA) MR LTIHA  |ER 98.4 69.5 78.17
20181491 [T 4w [ RFHIE | IR IR 2018 | N WS (BFA) MR LTHA BRI 4% 100.0 88 91.6
20181492 [EHH 1 [R5l — | BkpE RIS 2R 20182 | N AWHREH (CBFA) Wi LTHA BRI 4% 0 76 53.2
20181493 [rAoR [ Rl —  |BkpE IR I 2% 20182 | N AWREH (BFA) Wi LTHA BRI 4% 98.3 20 43.49
20181494 [F2{rit [ RFdE | BpE ISR 2% 2018%% | N AWREH (BHA) Wi LTHA BRI 4% 100.0 34 53.8
20181495 [#H A& | RFdil = | IR 2R 2018%% | N AWHREH (BHA) MR LTHA BRI 4% 100.0 80 86
20181496 [xifE [ RFdiE B RIS ER 20182 | N AWHREH (CBFA) MR LTHA BRI 4% 100.0 435 60.45
20181497 [xe g | Rl |BkpE IR I E R 2018%% | N AWHREH (BHA) Wi LTHA BRI 4% 100.0 66.5 76.55
20181498 [#EE | K2EguE = | Bt IR ER AR 2018%% | N AWREH (BHA) Wi LTHA BRI 4% 100.0 64 74.8
20181499 | B #itm | K2Eguil — | Bt IR 22 20182 | N AWREH (BHA) Wi LTHA BRI 4% 100.0 69.5 78.65
20181500 £ RE | R2Eguil — | Bt IR RS 22 20182 | N AWHREH (CBFA) MR LTHA BRI 4% 100.0 63.5 74.45
20181501 [XF} | RZEgE = | Bt IR AR 2018%% |\ REERL (BTHA) iR LTHA BRI 4% 0 0
20181502 [#t5: [ RFEFE T |BRIG RN E I ERL 2018%% | N AWREH (BFA) Wi THA  |[wiR 100.0 52 66.4
20181503 [Z=/F [ RFEFEE T |G RN E I ER 2018%% | N AWREH (BFA) Wi THA  |[miR 0 51 35.7
20181504 [FFd: [ RFEHE | IR IR 2018%% | N AWREH (BFA) Wi THA  |[wiR 100.0 64.5 75.15
20181505 [FEpE [ RFEdiE Bk IR IR 2018%% | N AWREH (BFA) Wi THA  |[miR 100.0 775 84.25
20181506 |1z [ RFdiE = B IR IR 2018%% | N AWREH (BFA) Wi THA  |[wiR 93.3 74 79.79
20181507 [ /548 [R2E0E = |Bya s RL I 4% 2018%% | N IR EH (CETEA) W% THA  |[miR 0 0 0
20181508 [B{r T [ R&=dil — | Bkph AR I 2% 2018%% | N AWRE . (BFA) Wi THA  |[wiR 98.3 29.49
20181509 [XSHifh | Rl — | BkpE ISR IR 2018%% | N AwRE . (BFA) Wi THA  |[miR 66.0 70.5 69.15
20181510 | Fff | KRB | B IR AR 20182 | N AWREH (BFA) Wi THA  |[wiR 93.3 67 74.89
20181511 [fegl  [REEIGE T |BRIU ISR I AL 2018%% | N IR EH (ETEA) W% THA  |[miR 100.0 30
20181512 (BN | K2EgaiE — | B rp EEERL RS 22 2018%% | N A¥REH (BFA) Wi THA  |[wiR 93.4 79.5 83.67
20181513 [k [R2EdeiE = | Bk s LB I 2E AL 20187 | NI RFEER (BTHA) iR THA  |[miR 0 50 35
20181514 [ 5 [RETeiE = | Bk RO E I 22 2018%% | N AwtiiiE s (BFA) W% THA  |[wiR 100.0 61.5 73.05
20181515 Rl [RFEdEiE BRI RIS I E R 2018%% | N AwtiiiE s (BFA) W% THA  |[wiR 0 0
20181516 |5 [R2EdeiE = |BkyG RN 22 2018%% [4THUSH ((THA) Hix THA  |[wiR 100.0 73 81.1
20181517 [BUR [ RZFEIEE [RGB E I ERL 2018%% [4THUSH ((T1A) Hix THA |[wiz 100.0 87.5 91.25
20181518 [JulEl  [REFEIEE T |BRG RN E I ERL 2018%% [4THUSH ((T1A) Hix THA |[wiz 100.0 30




20181519 [fEF# | R2EgE = | BRI ERI R 2018%% [1THUEH (LAHA) M T A PR % 95.0 69 76.8
20181520 [#fE  [RFEFE " |BerG I EOLEE IS 2018%% [ATBUE R (LTHA) MR LTHA  |ER 98.3 63 73.59
20181521 |k s | R2EguE — | BRI R 2018%% [1THUEH (LTFA) Hiz LTIHA | 98.3 66.5 76.04
20181522 [X>%  [RFEFAE " |BerG I EOEE I 2018%% [ATBUEEE (LTHA) iR LTIHA | 100.0 88 91.6
20181523 [kf=: [ RFdeil | B SRR I ER 2018%% [1THUEH (LTFA) iz LTIHA  |ER 100.0 62 73.4
20181524 [#Fth B [ R2FEFE | B B I AL 2018%% [ATBUEEL (LTHA) iR LTHA  |HR 64.4 15 29.82
20181525 [t [R2FEFE— |BerG RIS EOLEE AL 2018%% [ATBUEEL (LTHA) iR LTIHA | 100.0 67 76.9
20181526 |85 | R&deil —  |BEPE hESR IR IER 2018%% [fTHUEH (LTFA) Hiz LTIHA  |ER 100.0 61.5 73.05
20181527 [ [ = | B BRI EAL 20187 [1THUEH (LHA) MR LTIHA | 95.1 28.53
20181528 X377 | K2Eguih — | B sp BRI R 2018%% [fTHUEH (LTIA) Hiz LTHA  |HR 100.0 55.5 68.85
20181529 [Z=3t v [ R2Edcil = | B R EOLEE AL 2018%% [ATBUEEE (LTHA) iR LTIHA  |ER 100.0 78 84.6
20181530 ki [ RFEE |BEPE RIS IER 2018%% [1THUEH (LTFA) Mz LTIHA  |ER 100.0 66.5 76.55
20181531 (&2 [ RFIIE T |BEP R IET R IER 20184 [1TBUEH (LIHA) miR LTHA BRI 4% 100.0 76 83.2
20181532 [ | Rl |BkpE RIS 2R 20184 [1TBUEH (LIHA) HiR LTHA BRI 4% 96.7 65.5 74.86
20181533 7kl | K2EgulE — | Bt IR RS 2R 20184 [1TBUEH (LIHA) miR LTHA BRI 4% 89.8 64 71.74
20181534 [kt [kl —  |BEpE ISR 2R 20184 [1TBUEH (LIHA) miR LTHA BRI 4% 61.7 77.5 72.76
20181535 [ X5 | Rl |BpE ISR R I R 20184 [1TBUEH (LIHA) miR LTHA BRI 4% 0 68.5 47.95
20181536 =5 [ RFEEIE T |BEPE RIS R 20184 [1TBUEH (LIHA) miR LTHA BRI 4% 96.7 69.5 77.66
20181537 | B | K2R | Bt BRI RS R 20184 [1TBUEH (LIHA) Wi LTHA BRI 4% 98.3 55.5 68.34
20181538 |= JiiE [ R&deil | B RIS IR 20184 [1TBUEH (LIHA) miR LTHA BRI 4% 0 57 39.9
20181539 [ E/hig | R2EguE — | Bt IR RS 22 20184 [1TBUEH (LIHA) HiR LTHA BRI 4% 0 77 53.9
20181540 [#RERVE [ R0l  |BpE RIS 20184 [1TBUEH (LTHA) miR LTHA BRI 4% 100.0 78.5 84.95
20181541 [ WHtE |[R&=deil = |BkpE SRR I 2R 2018%% | LriEH (T4 Wiz LTHA BRI 4% 64.4 70 68.32
20181542 [fRfe [R&FdilE = |Bkpb IR I % 2018%% | TriEH (T4 Hix THA  |[wiR 0 61.5 43.05
20181543 [Z=1 7 [RFETE = |G R I 2R 2018%% | TriEH (714 Hix THA  |[miR 96.7 29.01
20181544 [xg | RFGE B AR IR 2018%% | TriEH (714 Hix THA  |[wiR 88.1 56.5 65.98
20181545 [k EWE | Rl = |BkpE SRR I 2% 2018%% | TriEH (T4 Hix THA  |[miR 100.0 74 81.8
20181546 |##pE [ Kol = |Bkyb ISR I 2018%% | TriEH (T4 Hix THA  |[wiR 61.1 51.5 54.38
20181547 [ [ RFHIE BRI IR 2018%% | TriEH (714 Hix THA  |[miR 100.0 53.5 67.45
20181548 [N [ R&=deiE = |Bkph SRR I 2% 2018%% | TriEH (T4 Hix THA  |[wiR 100.0 68 77.6
20181549 [ih B [ R&FdiE = |BkpE IR I 2% 2018%% | TriEH (714 Hix THA  |[miR 0 68.5 47.95
20181550 [ E LA [RFETiE—  |BeiG RN E IR 2018%% | TriEH (T4 Hix THA  |[wiR 100.0 83 88.1
20181551 (X[ | KSR | B rp IR RS AR 2018%% | TriEH (714 Hix THA  |[miR 100.0 85 89.5
20181552 [t [ RFHIE T |BPE R IET R IER 2018%% | TriEH (T4 Hix THA  |[wiR 66.0 84.5 78.95
20181553 [ K2 [2Edein = |BkyG s E I 22 2018%% | TLriEH ((T1A) Mz THA  |[miR 100.0 385 56.95
20181554 [ B3 [REdeiE = | Bk s I 22 2018%% | LriEH ((T1A) Mz THA  |[wiR 100.0 81 86.7
20181555 [ 53t [REIEE | BRI RN E I 2ERS 2018%% | LriEH ((T1A) Mz THA  |[wiR 100.0 70.5 79.35
20181556 | T | K2Eg0E = | Bepirp IR RS 224 20187 | L (LHA) MR THA  |[wiR 84.8 72 75.84
20181557 | 1444 KREGois — B s HRL B I 22458 2018%% | TLriEH (714 Mz THA |[wiz 98.3 64.5 74.64
20181558 |83 [REdeilE = |BkyG R EL B I 2R 2018%% | TLriEH (714 Mz THA |[wiz 63.7 84 77.91




20181559 [XHk | K2EguE = | BRI R 2018%% | THEH (LAHA) M T A PR % 100.0 58.5 70.95
20181560 /3% [RFEFE " |BerE I EOLEEIEAS 2018%% | LREH (LAHA) M LTHA  |ER 100.0 30
20181561 |5y [RFEFiE | B B I A 2018%% | TR (LT1A) Wiz LTIHA | 96.6 76.5 82.53
20181562 [ffE s [R2FETE | BerG hasEOL R I 2018%% | TR (LTIA) Wiz LTIHA | 100.0 28.5 49.95
20181563 [#= [ RFEHE T |Berg IO IEAL 2018%% | LREH (LHA) M LTIHA  |ER 91.5 74 79.25
20181564 [Ze4p | RFEdeil (BRSSO I ER 2018%% | i (LTIA) Wiz LTHA  |HR 96.7 51.5 65.06
20181565 [P /= [R2FEFiE—  |Berh s B I AL 2018%% | TR (LT1A) Wiz LTIHA | 100.0 65.5 75.85
20181566 |k [l = | B s B I AL 2018%% | TR (LTIA) Wiz LTIHA  |ER 100.0 45 61.5
20181567 [EEZE [RFEHiE—  |Berh i EOLE I 2018%% | i (LT1A) Wiz LTIHA | 100.0 42,5 60
20181568 | hZ¢ [ RFEFE |G R IBEOLEE IS 2018%% | LREH (LHA) M LTHA  |HR 100.0 85.5 89.85
20181569 [# 2 [ RFETiE | B R EOL I AL 2018%% | LREH (LHA) MR LTIHA  |ER 0 0
20181570 [MlE%E [ R2EdiE | B R EOL R I#AL 2018%% | i (LTIA) Wiz LTIHA  |ER 100.0 87.5 91.25
20181571 [=Ee [ RFHIE B IR IR 2018%% | LiiEH (T4 mix LTHA BRI 4% 80.2 61 66.76
20181572 [ A3 [REEIE | B RIS R 2018%% | LriEH (LT1A) Hix LTHA BRI 4% 0 65.5 45.85
20181573 [ Ik | RFdiE | B RIS R 2018%% | LriEH (LTFA) Wiz LTHA BRI 4% 100.0 78.5 84.95
20181574 [fhlg 77 | R2EgulE — | Bepurp IR RS 22 2018%% | LiEH (LT7FA) Wiz LTHA PRI 0 0
20181575 [ATA | KR = | Bt rp IR RS 2R 2018%% | LiEH (LTFA) Wiz LTHA BRI 4% 93.3 57 67.89
20181576 [Z=W | KZEguE | Bt IR RS AR 2018%% | LriEH (LT1A) Hix LTHA BRI 4% 0 0
20181577 [fafigeles | R&=deil — | BkpE RISV I E 2018%% | LriEH (T4 Wiz LTHA BRI 4% 100.0 68.5 77.95
20181578 |7k 2 | KZEguE = | Bt BRI ER AR 2018%% | LriEH (T4 Wiz LTHA BRI 4% 98.3 91.5 93.54
20181579 [F e | K2Eguil — | Bt rp IR 2R 2018%% | LriEH (T4 Wiz LTHA BRI 4% 100.0 90.5 93.35
20181580 |#kfdiza [ RZ=deil—  |BEpE IR I 2R 2018%% | LriEH (LTHA) Wiz LTHA PRI 4% 100.0 30
20181581 [ 5 [ RFEdiE . |BEPE ISR I ER 2018%% | LriEH (T4 Wiz LTHA BRI 4% 100.0 39.5 57.65
20181582 [ [ RFIIE | B IR IR 2018%% | TriEH (T4 Hix THA  |[wiR 100.0 80.5 86.35
20181583 [ E-F-ul [ K&l — | Bkph BRI 2% 2018%% | TriEH (714 Hix THA  |[miR 94.9 52 64.87
20181584 [T | RFHIE " |BE IR IR 2018%% | TriEH (714 Hix THA  |[wiR 100.0 725 80.75
20181585 [#g N | Rl —  |BkpE SRR I R 2018%% | TriEH (T4 Hix THA  |[miR 0 46.5 32.55
20181586 [t [ RFEIIE T |BPE R EER R IE R 2018%% | TriEH (T4 Hix THA  |[wiR 100.0 77 83.9
20181588 [ LM [ R&FdiE—  |BRyE BRI R 2018%% | TriEH (714 Hix THA  |[miR 100.0 28.5 49.95
20181589 [™jgk  [RFETEE T |BRIE I ER I ER 2018%% | TriEH (T4 Hix THA  |[wiR 66.0 81 76.5
20181590 [Xyh [ RFEHIE B IR IR 2018%% | TriEH (714 Hix THA  |[miR 100.0 53 67.1
20181591 [BHAfd | R&=deil — | Bkph SRR I 2% 2018%% | TriEH (T4 Hix THA  |[wiR 64.4 525 56.07
20181592 | ZsF | K%¥ouE — | Bepurp IR RS 22 2018%% | TriEH (714 Hix THA  |[miR 0 0
20181593 [ & i it | RZEg0E = | Bt IR RS 22 2018%% | TriEH (T4 Hix THA  |[wiR 96.6 455 60.83
20181594 [#Bids | K200l — | Bt rp EEHRIL RS 224 2018%% | T (LHA) MR THA  |[miR 93.4 48.5 61.97
20181595 [Z=g5 % [R2Edcin = |BkyG s E I 22 2018%% | LriEH ((T1A) Mz THA  |[wiR 98.3 62 72.89
20181596 [ M [R2FEFE " |BkG RN E I AR 2018%% | LriEH ((T1A) Mz THA  |[wiR 66.0 4 22.6
20181597 [BE T | KSR |Bepirp IR RS 22 20187 | L (LHA) MR THA  |[wiR 0 58 40.6
20181598 [ &8 [REdein = |BkyG RN E I 2R 2018%% | TLriEH (714 Mz THA |[wiz 100.0 70.5 79.35
20181599 [AFEkIE [R2EdeilE = |BkyG RN ER I 2R 2018%% | TLriEH (714 Mz THA |[wiz 64.4 69 67.62




20181600 [fh5 | RZEguilE— | BRI R 2018%% | THEH (LAHA) M T A PR % 98.3 55 67.99
20181601 [l | R — | Bt s IR R 2018%% | TR (LTFA) mix LTHA  |ER 88.3 78.5 81.44
20181602 [7k ¥ | RZEguE = | BRI R 2018%% | TR (LT1A) Wiz LTIHA | 0 63.5 44.45
20181603 [£5Fn | K2R — | B Th IR R 2018%% | TR (LTIA) Wiz LTIHA | 100.0 76.5 83.55
20181604 | A5 [RFdeil —  |BEPE SRR I ERL 2018%% | i (LTIA) Mz LTIHA  |ER 100.0 30
20181605 [ ML [ R2FEFE | B R EOL I AL 2018%% | i (LTIA) Wiz LTHA  |HR 93.4 88.5 89.97
20181606 [RrFy [R2FEdilE —  |Berh s I AL 2018%% | LREH (LHA) MR LTIHA | 0 88 61.6
20181607 [fiikE  [RFEFE " |BerG I EOEE I 2018%% | LREH (LHA) MR LTIHA  |ER 64.4 19.32
20181608 [X55 [ RFEHiE " |BerG I EOEE IR 2018%% | LREH (LHA) M LTIHA | 100.0 81.5 87.05
20181609 [z [RFEFE— |BerG I EOLEE IS 2018%% | i (LTIA) Wiz LTHA  |HR 25.0 75 60
20181610 [ [RFEFE " |BerG I EOLEE I 2018%% | i (LTIA) Mz LTIHA  |ER 100.0 57.5 70.25
20181611 [¥s  [RFEFE " |BerG R IBEOEE IS 2018%% | i (LTIA) Wiz LTIHA  |ER 100.0 80.5 86.35
20181612 [k#EE [ RFIIE T |BEPE IR IR 2018%% | LiiEH (T4 mix LTHA BRI 4% 100.0 61 72.7
20181613 [H Bk [ RFdeiE | BEpE ISR R 2018%% | LriEH (LT1A) Hix LTHA BRI 4% 93.3 74 79.79
20181614 |Fgaets | Rl |BEPE ISR I 2R 2018%% | LriEH (LTFA) Wiz LTHA BRI 4% 96.7 88.5 90.96
20181615 [ | K2Eguil — | B rp IR RS 22 2018%% | LiEH (LT7FA) Wiz LTHA BRI 4% 100.0 39 57.3
20181616 [kim [ RFEEIE T |BEPE IR IR 2018%% | LiEH (LTFA) Wiz LTHA BRI 4% 66.0 74.5 71.95
20181617 [0 %E | R2EguE = | Bt rp IR 2R 2018%% | LriEH (LT1A) Hix LTHA BRI 4% 98.3 78 84.09
20181618 |48k | K2EgulE = |Bepurp IR 2R 2018%% | LriEH (T4 Wiz LTHA BRI 4% 100.0 455 61.85
20181619 [ E4kFr [R&dcil—  |Bkph IR I 2R 2018%% | LriEH (T4 Wiz LTHA BRI 4% 0 56.5 39.55
20181620 [i&XHd | RZEguE = | Bt IR RS R 2018%% | LriEH (T4 Wiz LTHA BRI 4% 100.0 53.5 67.45
20181621 [Mi =4 | Rl |BkpE IR I 2% 2018%% | LriEH (LTHA) Wiz LTHA BRI 4% 100.0 42 60
20181622 [ ARV | K2EguE — | B rp IR RS 22 2018%% | LriEH (T4 Wiz LTHA BRI 4% 28.4 33 31.62
20181623 [#ivdh [ RFIIE T |BRE R EER R IER 2018%% | TriEH (T4 Hix THA  |[wiR 0.0 74 51.8
20181624 | £5545 [ R0l —  |Bkph IR I 2% 2018%% | TriEH (714 Hix THA  |[miR 100.0 62.5 73.75
20181625 [ /MG [ R&FdiE | B IR I % 2018%% | TriEH (714 Hix THA  |[wiR 83.0 55.5 63.75
20181626 [f2F | R&FdiE— |BpE R EEBR R IE R 2018%% | TriEH (T4 Hix THA  |[miR 0 59 41.3
20181628 [l | RFdiE Bk IR IR 2018%% | TriEH (T4 Hix THA  |[wiR 0 48 33.6
20181629 [HyKyh | R2EguE = | B rp IR RS 22 20184 |[fhl % (BAA) Wz THA  |[miR 0 0
20181630 [T [ R&FdilE = |Bkph IR IR 20182 [ AJLFEH (BFA) Wi THA  |[wiR 86.6 81 82.68
20181631 [#® e | Rl = |Bkrh IR I 2% 2018%% |EBr&br 5% 5 (BHA) miz THA  |[miR 100.0 86.5 90.55
20181632 [#iff | RFEdiE B IR IR 2018 % (BF-AD TIA | 100.0 40.5 60
20181633 [k | R2EguE = | Bt IR RS 22 2018%% |5 (BF-AD THA  |[miR 100.0 45 61.5
20181634 [ A=t [ R diE = |Bph IR I 2% 2018 % (BF-AD THA  |[wiR 98.3 93 94.59
20181635 [R5 /& [KFETiE Bk RN E I 2ERE 20187 |5 (BF-AD THA  |[miR 0 0 0
20181636 [Z=% %8 [R2EdeiE = | Bk R E I AR 20187 % (BFHAD THA  |[wiR 100.0 62.5 73.75
20181637 |12 | RSB |BepirpIERI RS AR 20187 % (BFHAD THA  |[wiR 63.4 1 19.72
20181638 [ty | K2EguE — | Bt rp EEERL RS 22 20187 % (BFHAD THA  |[wiR 0 66.5 46.55
20181639 [M#E  [RFEIE |G RN E IR 2018 % (BTHAD THA |[wiz 100.0 70.5 79.35
20181640 [Z=3  [R2EdEiE = |BkyG RN E IR 2018 % (BTHAD THA |[wiz 64.4 11 27.02




20181641 [k [k2pdiE — [RGBV I AL 2018%% |1k2% CRAA) EPAED PR % 57.8 65 62.84
20181642 [ikfhfg | RFdeif = | SRR IR 2018%% % (BFA) LTHA  |ER 91.8 87.5 88.79
20181643 [HEr  [RFEFE T |Be R IBEOIEAL 2018%% % (BFA) LTIHA | 100.0 39 57.3
20181644 [ KA | REgE | B TR EPOE I R 20182 |5 (BF-A) LTIHA | 98.3 86 89.69
20181645 [l [RFETAE " |BerG I EOEEIEAL 20182 |5 (BFA) LTIHA  |ER 100.0 59 71.3
20181646 3" | R2EguE = | B Tp IR R 2018%% % (BFA) LTHA  |HR 98.3 59.5 71.14
20181647 [X5HF [RFEFE " |Berh R EOL I IFEAL 2018%% % (BFA) LTIHA | 100.0 80.5 86.35
20181648 [t [RFEFE " |BerG I EOLEE AL 2018%% % (BF-A) LTIHA  |ER 64.4 64.5 64.47
20181649 [FkIUiE | K2EguE = | B Th PR R 2018%% % (BFA) LTIHA | 0 53 37.1
20181650 [FFTEE [ R2FEdilE —  |Berh s B I AL 2018%% % (BFA) LTHA  |HR 100.0 70.5 79.35
20181651 [ /RA [RFEFAE " |Berh R EO I AL 20182 |5 (BF-A) LTIHA  |ER 64.4 77 73.22
20181652 [ & [ RFEHIE T |Be IO IEA 2018%% % (BF-A) LTIHA  |ER 93.2 68 75.56
20181653 |k T | K%EgaE = | B rp IR 2R 20182 |5 (BFA) LTHA BRI 4% 98.3 29.49
20181654 [ | RZEguE = | Bt BRI RS AR 20187 % (BFA) LTHA BRI 4% 28.1 8.43
20181655 [ B F 3 | K2Eguil — | Bt IR RS 2R 20187 |5 (BFA) LTHA BRI 4% 100.0 69 78.3
20181656 [ULFHH [kl |BpE ISR R I R 20187 % (BFA) LTIA BRI 4% 0 90.5 63.35
20181657 | AR | R2Eguil — | Bt IR RS 228 20187 |5 (BFA) LTHA BRI 4% 100.0 83 88.1
20181658 [#E-F | K2Eguil — | Bt rp IR RS 2R 20187 % (BFA) LTHA BRI 4% 100.0 69 78.3
20181659 | )& | KZEgulE = |Bepurp IR 2R 20187 |5 (BFA) LTHA BRI 4% 100.0 76 83.2
20181660 [#fE [ RFEI0E = |BkIU STV AL 20182 |1:2E (CBAA) LRA R 0 0
20181661 [#lis | KEguE = | Bt IR RS 2R 20187 % (BFA) LTIA BRI 4% 0 82 57.4
20181662 [XI|FPF | R&deil — | BkpE RIS I 2R 2018% [#L&TAE (LHA) mix LTHA BRI 4% 66.0 78.5 74.75
20181663 |70 | K2Egeil — | B rp IR RS 22 2018% [#L&TAE (LAHA) M LTHA BRI 4% 0.0 67.5 47.25
20181664 [fHIEUR | R0l = |BkpE ISR 2% 2018% (L& TAE (BHA) HiX THA  |[wiR 100.0 385 56.95
20181665 [f[/NRy | RFE s | Bk SRR I 2018% (L& TAE (BHA) miX THA  |[miR 100.0 64 74.8
20181666 [ 55 & [ RFEdiE B R IR IR 2018% (L& TAE (BHA) HiX THA  |[wiR 68.4 12.5 29.27
20181667 |EimiE | KEguE = | B rp IR RS 22 20187 [t TAE (BTHA) iR THA  |[miR 100.0 68 77.6
20181668 |fifie | R dcil = |Bkph IR 2018% [#L&TAE (BHA) miX THA  |[wiR 100.0 79.5 85.65
20181669 [Xi#ete | Rl = |Bkph ISR 20184 [1TBUEH (ERA) ®iR LA | RR 100.0 76.5 83.55
20181670 [Zxkits [RKETeiE = |G R I 2R 20184 [1TBUEH (ERA) ®iR LA | RAR 98.3 74 81.29
20181671 (X [ RFEHIE Bk IR IR 20184 [1TBUEH (EERA) ®iR LA | RR 66.0 44 50.6
20181672 [#ifE | RFIE BRI R 20184 [1TBUEH (ERA) ®iR LA | RAR 100.0 785 84.95
20181673 [ ik | K ouE = | Bt IR RS AR 20184 [1TBUEH (EERA) ®iR A | RAR 100.0 64 74.8
20181674 | H Ko — B s HRL B I 2458 20184 [1TBUEH (ERA) ®iR LA | RAR 68.3 20.49
20181675 [M5 2 [ KE0E = BB IL I 248 2018%% [ATHUE B CEeds) phfR A | RIR 31.7 9.51
20181676 [k [RFEIEE T |BRG RIS E I ERL 2018%% [4THUS I (mileAd) Hix A | RIR 100.0 67 76.9
20181677 [k [ RFEHIE T |BRE RIS ER 2018%% [4THUS I (mileAd) Hix A | RIR 0 65 455
20181678 [EW AL [Tl = |BkyG s I 22 2018%% [1TBUEH (EEA) HiR A | RIR 66.0 19.8
20181679 [BERT [REdeiE = |BkyG s B I 22 2018%% [ATHUS I (mileAd) Hix LA | RIR 61.1 35 42.83
20181680 [Pl  [KFEIE |G RN E IR 2018%% [ATHUS I (mileAd) Hix A | RIR 11.6 77 57.38




20181681 [T 45 [RFEHAE " |Berh b BB AL 2018%% [ATHUEEE G A) iR e 73.4 495 56.67
20181683 [&&t  [RFEFE " |Berh I EOEE IS 2018%% [1TBUE B (Rt A) MR N 0 0
20181684 [HiFE | RFdifE—  |BEPE ISR IER 2018%% [fTHUEH (Filed) Mz A R 73.4 78.5 76.97
20181685 [ Ffi. [ R&deif B SRR B 2018%% [fTHUEH (Filed) iz A R 43.3 89.5 75.64
20181686 | E A K2l —  |Berh s B I A 2018%% [ATBUEEE (Rl A) MR A R 64.4 45,5 51.17
20181687 [ LW |[RFdiE—  |BEPE SRR B 2018%% [fTHUEH (Filed) Hix e B4 0 82 57.4
20181688 [T R [RFI3uiE = |Bob STV EI A% 2018%% [ATHUE B Cadds) pifR A R 0 88 61.6
20181689 [BiEvE [ Rl — |k I EOL R I EAL 20187 [1THUEH (FileA) MR e B4 0 54 37.8
20181690 [&igt [ KI0E = BB ROV AR 2018%% [ATHUEHE G A) iR A R 100.0 30
20181692 [Z=/b 4 [R2ETiE | B R EOL R IF#AL 20182 |5 (e A e B4 0 0
20181693 [HE [ RFEHIE T |Berh RTINS 20187 % (e A A R 100.0 66 76.2
20181694 [T [ RFEIiE BRSSOV IR B 2018%% [iFEMLEIESEAR (Fildd) wmig  |mikk |[w# 100.0 76.5 83.55
20181695 [ Y64l | Rl BRI ISR R 2018%% [FENLEIE S EAR (EiA) wig  |[Eilik PR 3% 0 0
20181696 [ [ R2EDeiE = |Bkyd i LB I A% 20187 [iHFEHLEI S ER (Eiled) wig  |miAk || 66.0 61.5 62.85
20181697 [x& [ RI0E = BRGSOV I AL 20187 [iHEIHLEI S HEAR (Eiled) wig  |miAk (Wi 100.0 81 86.7
20181698 [ 2 & [ Kl  |Berb Rl I ERE 2018%% IFEMLEIESHEA (aed) wm%  |mik |wR 0 0
20182041 [k | RZEgaE = |8 BEAECE ol 20187 MBS e CEAA) . sy [HAA s 64.4 19.32
20182042 2=k | K20l — |80 ol 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 100.0 67.5 77.25
20182043 [YuyT R | K20l — |80 ol 20184 [PUES 2 (CBAA) W, g | EALK BRI 4% 100.0 60 72
20182044 kM | RZEgE = |H)IBEAECE ol 20187k [ 2K (LTHA) miz LTHA BRI 4% 64.4 74 71.12
20182045 s F|% [R=Edeil = |4 Z0E 0 2018%% [1FENLEIESEAR (BHA) iR |[EFAA BRI 4% 0.0 83 60
20182046 [HHAHE | K2Egal = |8 BEAECE ol 20187 |&@hz: (LFHA) iR LTHA BRI 4% 100.0 84.5 89.15
20182047 [Fiyh%E | K2Egail — |4 BEAECE ol 20182 | &1t (LHAA) W LTHA BRI 4% 100.0 74 81.8
20182048 [ RN | K2EgeiE — |4 BEAZCE ol 2018%% | &1t (LA W% THA  |[wiR 95.1 71.5 78.58
20182049 [FH | KRB |H)IBEAZEE ol 2018%% | &1t (LHAA) W% THA  |[miR 100.0 53 67.1
20182050 [Z=EN] | K200l = |48 BEAZCE ol 2018%% |&it% (LHAA) W% THA  |[wiR 0 71.5 50.05
20182051 sk B M | R2EgaE = |80 BEAECE ol 2018%% |&it% (LHAA) W% THA  |[miR 100.0 78.5 84.95
20182052 |Z£H | RZEgaiE = |G ol 2018%% | TriEH (T4 Hix THA  |[wiR 100.0 85.5 89.85
20182053 4= | KZETE . |4 BEAECE oo 2018%% | TriEH (714 Hix THA  |[miR 91.6 27.48
20182054 [# 2 & | K2Egail = |40 BEAZCE ol 2018%% | TriEH (T4 Hix THA  |[wiR 0 64.5 45.15
20182055 | | RSB |8 ol 2018%% | TriEH (714 Hix THA  |[miR 98.3 91.5 93.54
20182056 X575 | R0l = | ECE ol 2018%% | TriEH (T4 Hix THA  |[wiR 100.0 69.5 78.65
20182057 [fLAA | K200l = |4 BEAZCE ol 2018%% | TriEH (714 Hix THA  |[miR 0.0 68.5 47.95
20182058 [fE M= | K20l — |4 BERZCE ol 2018%% | TriEH (T4 Hix THA  |[wiR 100.0 38 56.6
20182059 |#156E | R2E00E = |4 BEAZCE ol 2018%% | TLriEH ((T1A) Mz THA  |[miR 64.4 76 72.52
20182060 [ W | K200l = |4 BEAZCE ol 20187 [fRI2: (BTHA) iR THA  |[wiR 100.0 63.5 74.45
20182061 [A R % | R2E00E = |4 BEAZCE ol 20187 [fRI2: (BTHA) iR THA  |[wiR 64.4 59 60.62
20182071 [&FF & [kt = [V TR 20187 |JiE (EFA) Mk THA kR 0 0
20182072 %= | RZFEHE T [TEM LIER 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 100.0 74 81.8
20182073 [l | RZFEE . [TEM LI 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 96.7 67.5 76.26




20182074 [H#= [ R¥IE— [VEE TIER 20184 [PUET % (BAA) wfg. Wi | HALK PR % 53.1 85 75.43
20182075 |45 & [ RFiE . VR LI 2018%% |PUE S 2 CEFAA) . g | AL (Wi 80.2 65 69.56
20182076 |ik vz [ RFdcif— Ve LI 2018%% (PUGEZ % (BIHA) Mg, g | LA |[wE 84.8 74 77.24
20182077 [Eg [ REFILE [VEE LIER 2018%% |PUES ¥ CEAAD wiE. Wi | LA | 0.0 52 36.4
20182078 [#5 [ R¥IE— [VER LIER 2018%% |PUES ¥ CEAAD wiE. Wi | LA | 54.8 86 76.64
20182079 [Pity [ RE¥IE— [VER LIER 2018%% |PUES ¥ CEAAD wiE. Wi | LA | 0.0 315 22.05
20182080 [#@F  [RFHiE . [VEF LIER 2018%% [iFEALEIEESHEA (LHAA) i [THAA |EiR 100.0 87.5 91.25
20182081 [{LWIF [R#deif = Ve LIl 2018%% [iFEAEIEESHEA (LHAA) wmig [THAA |EiR 14.9 83.5 62.92
20182082 |4 | RZEgE = [VEM LIVER 2018%% &2 (A itz LTRHA | R 0 0
20182083 |8 | KRB [VEM LIVER 2018%% &2 (A iR LTHA  |HR 66.0 86 80
20182084 % | KRZEgiE = [TER LIVER 2018%% &2 (A itz LTRHA | 0.0 81.5 57.05
20182085 [# )il bk | k&gl Ve LI ER 2018% |1t (BAA) Wz LTIHA  |ER 95.1 63.5 72.98
20182086 [+ [ Rk [VEF LR 20182 | &1t (LHAA) W LTHA BRI 4% 68.4 66 66.72
20182087 [#HmE [ RFdiE . [VEF LI 2018%% | LriEH (LT1A) Hix LTHA BRI 4% 100.0 66.5 76.55
20182088 [xIj5 [ RFdiE . [VEF LR 2018%% | LriEH (LTFA) Wiz LTHA BRI 4% 84.8 69.5 74.09
20182089 [ M B ik [kt [VEF LI 20187 % (BFA) LTHA BRI 4% 80.1 77 77.93
20182090 [Zim e [ Rl [VEF LI 20182 [FENLEIESEAR (EA) mig  |[EilLk PR3 0 0
20182099 [xMy | K2EgeiE = [VE AL ER I e 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 93.3 56 67.19
20182100 Ay [RFEdeiE = [VE T ksl e 20184 [PUES 2 (CBAA) W, g | EALK BRI 4% 93.3 88.5 89.94
20182101 |1 | RZEgE = [IEmE b E ) F e 20184 [PUES 2 (CEAA) Wt e | &EALK BRI 4% 100.0 55.5 68.85
20182102 [ =8 | K2¥EgaE = [JEm stk fe 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 14.9 72 54.87
20182103 [ B [ RFdiE " [VEF gkl 4o 2018%% [FENLEIESEAR (BHA) iR |[EFAA BRI 4% 95.0 69 76.8
20182104 [#xBH  [RFEEE . [VEFE H ksl 20187 [thZETAESTZE (CBAA) Hi% LTHA BRI 4% 100.0 80.5 86.35
20182105 | EARWI [R&diE = |[VEF H ksl 2018%% (b THRETE (LIHA) W% THA  |[wiR 0.0 77 53.9
20182106 |4 Fi7E [ R&=dit— [V m ksl 2018%% (b THRETE (T4 W% THA  |[miR 0 60.5 42.35
20182107 |4 ST [RFEE [VEF H ksl o 2018%% (b THRETE (T4 W% THA  |[wiR 0 78 54.6
20182108 | FEZe [ R&dit— |V m gtz il 2018%% (b THRETE (T4 W% THA  |[miR 26.8 76.5 61.59
20182109 |[#xWios [RFEiE— [VEF ksl 2018%% [tk THRETE (T4 W% THA  |[wiR 100.0 82 87.4
20182110 [ E 4y [RFHEIE [VEFE TRkl 2018%% (b THRETE (LTHA) W% THA  |[miR 100.0 85 89.5
20182111 [5kiE [ RFEIET | RIXANIEEREIF 0 (20184 |&ahy (BAA) miE THA  |[wiR 0 54 37.8
20182112 [sa3fe [ R&diE— [V m ksl o 2018%% |&it% (LHAA) W% THA  |[miR 0 79 55.3
20182113 [#xf [ RFEHEIE [VEFE TRkl 2018%% |&it% (LHAA) W% THA  |[wiR 0 0
20182114 |1 [ RFEE [VEFE ksl 2018%% |&it% (LHAA) W% THA  |[miR 100.0 925 94.75
20182115 [T A [RFEHIE " [VEF T bRl 2018%% | N A¥REH (BFA) Wi THA  |[wiR 0.0 13.5 9.45
20182116 [FlE  |[RFEHIE T [VEFE T kIO 2018%% | N wtiRE s (TR W% THA  |[miR 51.7 65.5 61.36
20182117 [t [ JesEdeidE = VR gkl A 2018%% | N AwtiiiE s (BFA) W% THA  |[wiR 0 0
20182118 [xI55 [ RFEHiE . [VEF T kIO 2018%% [4THUSH ((THA) Hix THA  |[wiR 96.6 89 91.28
20182119 [k EF| [R=EdiE = [V ksl o 2018%% [4THUSH ((THA) Hix THA  |[wiR 0.0 0 0
20182120 MRk [ RZ=deis = [VE ksl ot 2018%% [4THUSH ((T1A) Hix THA |[wiz 0 0
20182121 [FF%E [ RFEHiE . [VEF m bkl O 2018%% [4THUSH ((T1A) Hix THA |[wiz 100.0 71 79.7




20182122 [N [RFHE=  [EE sk El G 2018%% |1k2% CRAA) T A PR % 14.9 59.5 46.12
20182123 [FkMEHE | R2EgaE = [VErR bR e 2018%% % (BFA) LTHA  |ER 85.1 86 85.73
20182124 [y mifE | R2EgaE = [VE R stk e 2018%% [t TAE (BTHA) iR LTRHA | 0 0
20182198 [# K | RSB | RAIHRE 2018%% |PGEE % (BFA) mifg. e |[H74A  |[g 79.7 88.5 85.86
20182199 [#EH: [ RFEIE " | OAIHR 20184 |l (CHAAD R LRA kg 96.6 40.5 57.33
20182200 |k fEde | R2¥EgiE = |PH AR 20184 |l (HAA) R LRA kg 0 0
20182201 | B Wis | R2EgE— | P ARl 2018%% |PUE S 2 CEFA) . by | LAA  [wi 81.4 84.5 83.57
20182202 A4t | R¥EsiE = | RaH R 2018%% (PUGEE % (BIHA) mifR. g | LA |[wiE 61.7 61 61.21
20182203 |Fhusyt | Rl — | P ARl 2018%% (PGEZ % (BIHA) MR, g | LA [ 91.7 86 87.71
20182204 [ AELE [ R¥FFHIE LB RRE BN 2018% (W 2 MK (LHA) mix LTHA  |HR 61.1 18.33
20182205 | F &3 | R 0eil—  |BEPEE S3F IR 20187 |k 1TAE (LFA) miR LTIHA  |ER 86.8 56.5 65.59
20182206 MRt | K2l —  |P ARl 20187 [iFEHLEIEESHEA (LHAA i [THAA |EiR 76.4 71 72.62
20182207 | £ & | RZFE9iE— | AR 20184 [1FEMNEIESEAR (BHA) wiZ | EALK BRI 4% 94.9 28.47
20182208 [l Fdh [Nl — | PR 20187 [thZETHESTZE (CBAA) Hi% LTHA BRI 4% 100.0 84.5 89.15
20182209 [XSjmH [ R&dcil— | PR 20187 [thZETHESTZE (CBRAA) Hi% LTHA BRI 4% 94.9 63 72.57
20182210 (B8 | RZEgiE— [P0 RE 20187 [MAETFE (BTHA) MR LTHA BRI 4% 0 0
20182211 [ Ak [RFIIE " [P OH R 20187 |&@hz: (LFHA) iR LTHA BRI 4% 93.3 83.5 86.44
20182212 [ Rggek [ EdiE = |t 2018%% |&ah% (LHA) Wmz LA R 0 0
20182213 [Fp2Eug [l | P QR 20187 |&@hz: (LFHA) iz LTHA BRI 4% 61.6 84 77.28
20182214 |l DA [R&deil = | PR 2018%% | &1t (LHAA) W LTHA BRI 4% 0 74 51.8
20182215 [fhalid | K2l — | R XA EE I F 0 [2018%% |&1h% (BFAAR) miR LTHA BRI 4% 100.0 58.5 70.95
20182216 [l [ RFdil | P QH R 20182 | N AWHREH (CBFA) MR LTHA BRI 4% 100.0 57.5 70.25
20182217 [i{E&h [ RFdil— | P QH R 2018%% | N AWHREH (BHA) Wi LTHA BRI 4% 94.9 82.5 86.22
20182219 |[iktals [ RFdiE— | P OIH R 2018%% | N AWREH (BFA) Wi THA  |[wiR 0 66.5 46.55
20182220 | EhE | KR¥EgE— | Z0HRE 20184 [1TBUEH (LIHA) Wi THA  |[miR 83.1 57.5 65.18
20182221 [# v [ R it | P OH R 20184 [1TBUEH (LIHA) W% THA  |[wiR 86.7 59.5 67.66
20182222 | E Wit [ R&dilt— | P OlHi Rl 20184 [1TBUEH (LIHA) W% THA  |[miR 0 0
20182223 [XIMVN [ RZ=deil — | P2 H R 2018%% | TriEH (T4 Hix THA  |[wiR 93.3 80 83.99
20182224 [ /2 1IEWI [ R&giE = | P OH R 2018%% | TriEH (714 Hix THA  |[miR 0 0
20182225 | /K4 [ R&FdiE— | P OlH R 2018%% | TriEH (T4 Hix THA  |[wiR 63.4 71.5 69.07
20182226 [SHL | RZEgGE | AR 2018%% | TriEH (714 Hix THA  |[miR 61.8 59.5 60.19
20182227 |1 % | RZEgE | AR 2018%% | TriEH (T4 Hix THA  |[wiR 64.4 61.5 62.37
20182228 [X|BWE | Kol — | PR 2018%% | TriEH (714 Hix THA  |[miR 0.0 63.5 44 .45
20182229 [N EiF | R2EgE — [P Z0HRHE 2018 % (BF-AD THA  |[wiR 63.3 74 70.79
20182230 [k FMY [ Kot — | P lH R 20187 |5 (BF-AD THA  |[miR 36.9 55 49.57
20182231 [fLak  [RFEHiE | P OE R 2018% [#L&TAE (BHA) HiX THA  |[wiR 0.0 58.5 40.95
20182232 [BUFIEL [ R0l — | Ph 2R 2018% [#L&TAE (BHA) HiX THA  |[wiR 0.0 65.5 45.85
20182233 [#Ha [ [ KRB — [P OH R 20187 [ATBUEEE (EA) MR A | RIR 0.0 16 11.2
20182252 ||E50fE | KRB = | RERAH BB 20187 [PLiE = e CETEA) . Wy [HHAA ks 98.3 74.5 81.64
20182253 [x|ffss | Kot — | E WA Tk 20187 [PLiE = e CETEA) . Wy [HHAA ks 0.0 85.5 60




20182254 [ stiE s | R2EoeiE — | Bt rh ARV BRI 220 20184 [PUES % (CEAA) wfg. W | BAAL Dk 0 0
20182255 [} [ K¥E = [l B 2018%% |PUES ¥ CEAAD W, Wi LAk |Iks 100.0 85 89.5
20182256 |#fiklg [R¥FTiE " LB RRE BN 2018%% |PGEE % (BFA) mifg. e |[H74A  |[g 0 0
20182257 [yl [ R¥30iE = TR T E 0 2018%% |PUES ¥ CEAAD . Wi LAk |Iks 0.0 56 39.2
20182258 |5 3 | Rk | ERA TR 2018%% |PGEE % (BFA) mifg. e |[H74A  |[g 0 0
20182259 (455 [ K¥3E = [l BB 2018%% |PUES ¥ CEAA W, Wi LA |Iks 0 0
20182260 | F R [ K¥I0E = el LB 2018%% |PUES ¥ CEAAD W, Wi LAk |Iks 0 0
20182261 (M2 [ K¥I0E = |l B 2018%% |PUES ¥ CEAAD . Wi LAk |Iks 0 0
20182262 [Har e [ K23uE = il LB 2018%% |PUES ¥ CEAAD W, Wi LA |Iks 0 0
20182263 [Pk [ K¥3uE = [l TR 2018%% |PUES ¥ CEAAD W, Wi LAk ks 0 0
20182264 [ [ K¥I0E = |l B 2018%% |PUES ¥ CEAAD W, Wi LAk |Iks 0 0
20182265 [(5F [ K¥I0E = |l B 2018%% |PUES ¥ CEAAD . Wi LA |Iks 0.0 66 46.2
20182266 | Ef | RFEiE " | ERAE LB 20187 MBS e CERAA) wf. vy [HAA s 0 0
20182267 (¥ [ R¥FINES TR IE N 2018%% (PUEE 2 CETHA) EifR. s | L7444k 0 0
20182268 [T iF [ R¥30E = |Tiwd R T IE =0 2018%% (PUEE % CETHA) EifR. s |[E74A [lk4k 0 0
20182269 [ZE Wik [K¥HiE— | wBRAE BN 2018%% |PUES S CEAAD wfR. Wi | LA |ks 0 0
20182271 |30k [ R¥FFIE— | LB WA LB 2018%% |PUES S CEAAD wfR. Wi | LA |ks 100.0 30
20182272 [F R [ R¥FFiE— | LB RARE BN 2018%% |PUES ¥ CEAAD wiR. Wi | LA |ks 0 0
20182273 [m JUME [ RFEiE | w BRI LB 2018%% |PUES ¥ CEAAD wiR. Wi | LA |ks 0 0
20182274 [¥ ek | Rk | AE Tk 20187 [PiE = e CERAA) . sy [HAA g 64.4 0 19.32
20182276 [# & | RFEIE T |FRERAE T IEER 20187 MBS e CEAA) . sy [HAA s 100.0 48 63.6
20182277 [kt | RFIIE T PR E WA T IEEN 2018%% |¥EiE (ETHA) W4 THA R 0.0 73.5 51.45
20182279 |mid i | KEgE = | R WA BB 20184 [JiE (HHA) iR THA R 91.6 27.48
20182280 | BifEXk | Kol — | R WA BB 2018k |3l (BTHA) Mg THA kR 0 0
20182281 [iZge | Kol — | RERE BB 20187k |JiE (BTHA) Mg THA kR 0 0
20182282 |l | K¥EouE = | R WA BB 20187k |7l (BTHA) Mg THA kR 0 0
20182283 [kt [ KFEIIET | LBEREE LB 20182 |JxiE (LF-A) A LA kR 0.0 65.5 45.85
20182284 [HjklE [ K¥EFIE"  |HLBEREEEEEMN 20182 |JxiE (LF-AD A LA kR 0 0
20182285 |REEHE | K¥EguE = | RENAE TIE 20187k |JuiE (BTHA) Mg THA kR 0 0
20182286 |ik¥i | KR | REREE BB 20187k |JiE (BTHA) Mg THA kR 0 0
20182287 |7 Hflr | Kol — | R WNAH BB 20187k |JuiE (BTHA) Mg THA kR 0 0
20182288 [# iy [ K¥EFiE— | LB AL BN 20187 |JxiE (LF-A) A LA kR 0 0
20182289 [ [ K¥EFiE— | LB R LB 20182 |JxiE (LF-A) A LA kR 0 0
20182290 it [RFEFE = | LB RRH LB 20182 |JxiE (LF-A) A LA kR 0 0
20182292 [& % | KSR | RERAH TIB %N 20187 |PUiE = e CEFbA) wi. Wiy [LHHAA |EiR 66.0 75 72.3
20182293 [ik % | K200l — | R RAE BB 20187 [PUiE= e CETEA) wf. Wiy [HHA  |EiR 0.0 66 46.2
20182294 |H% | RSB | REREH TIB %N 20187 [PiE= e CETEA) wf. Wiy [HHAA  |Ei% 93.3 69 76.29
20182295 [k | KSR | RERAEH BB 20187 [PLiE = e CETEA) . Wiy [HHAA  |EiR 86.6 77 79.88
20182296 |[pi% | K¥E0uE — | RE A TIB % 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 68.2 20.46
20182297 (Xt | K%¥0E— | RERAH BB 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 100.0 35.5 54.85




20182299 [Z=(Egk [ R¥FFIE=  |HwBERRE LB EN 20184 [PUET % (BAA) wfg. Wi | HALK PR % 100.0 71.5 80.05
20182300 | F 7 [ K¥I0E= |l LBk 2018%% |PUES ¥ CEAAD wiE. Wi | LA | 100.0 80 86
20182301 [ | RFEIE T | RERA e 2018%% (PUGEZ % (BIHA) Mg, g | LA |[wE 0 83.5 60
20182302 |4l | RFIEIE T |FRERAE T IEERN 2018%% (PUGEE % (BIHA) mifR. g | LA |[wiE 80.2 525 60.81
20182303 [JHikIE | RFdil— | RAE ek 2018%% (PUGEZ % (BIHA) MR, g | HIA [ 100.0 60.5 72.35
20182304 | FiiE [ R¥FHiE— | wBRRELBEN 2018%% |PUE S 2 CEFAA) . by | LHAA  [wi 100.0 72 80.4
20182305 [ [ R¥30E = PR 2018%% |WUES % (BHA) Wz, Wi | EAE  |w#R 0 0
20182306 |38 | RFIEiE " |FRERAE T IEEN 2018%% (PUGEE % (BIHA) mifR. g | LA |[wiE 96.7 75.5 81.86
20182307 [ 2 [ K¥30E = [l LBk 2018%% |PUES 0 CEAAD wiE. Wi | LA | 100.0 64.5 75.15
20182308 M5 [ K¥I0E = |l LBk 2018%% |PUES ¥ CEAAD wiE. Wi | LA | 100.0 79 85.3
20182309 [k dHe [ R¥30E = |[Tiw@ R T E 0 2018%% |WUES % (HHA) Wz, Wi | EAE |w#R 0 0
20182310 [ Aty [ K3nE = |l BB 2018%% |PUES S CEAAD wiE. Wi | LA | 100.0 56.5 69.55
20182311 [ FHENN [ Rk | WA ek 20184 [PUES 2 (BAA) Wt g | &EALK BRI 4% 100.0 525 66.75
20182313 [fi[ % | RFEIE T | E WA TN 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 100.0 58.5 70.95
20182314 [5pig [ RE¥I0E S |[Tiwd R IE 0 2018%% (PUEE % CETHA) EifR. s | E7A  [E#% 0 0
20182315 [k A [ RFETE | BRRE BN 2018%% |PUES S CEAAD wfR. Wi | LA |EiR 64.4 74 71.12
20182316 [RiT#E [ K¥EHiE— | LBRAE BN 2018%% |PUES ¥ CEAA) wfR. Wi | LA | 0 0
20182317 [# %] [ RFHiE " |FRERAETIEEN 20184 [PUES 2 (CBAA) Wit Wi | &EALK BRI 4% 100.0 80 86
20182319 [#f | RFHEiE | ERAE e 20184 [PUES 2 (CBAA) W, g | EALK BRI 4% 75.0 70.5 71.85
20182320 [#hE=E | K2EguE = | Bt rp IR 2R 20184 [PUES 2 (CEAA) Wt e | &EALK BRI 4% 88.2 79 81.76
20182321 [ fEZE: | K&k | WA Tk 20184 [PUES 2 (CBAA) Wt g | EALK BRI 4% 88.4 56 65.72
20182322 =k | RFEIE T | E WA TR 20184 [PUES 2 (CEAA) Wit g | EALK BRI 4% 100.0 82 87.4
20182323 |Wrpi=e | Rl — | WA ek 20184 [PUES 2 (CEAA) Wt W& | &EALK BRI 4% 73.3 69 70.29
20182324 [F 3 E [ K¥EFiE . |WLBRRE LB 20187 [PiE = e CEFRA) . Wy [HHAA  |EiR 100.0 30
20182325 [VE i [ RFETE | LB RRHE LB 20187 [PiE= e CEFRA) . Wy [HHAA |EiR 0 46 32.2
20182326 | EHE [ K¥EFHiE—  |WLB AL BN 20187 |PiE= e CEFRA) H. Wiy [HHAA  |EiR 100.0 66 76.2
20182327 [fF1R [ KR¥FEFIE-  |WLB R LB 20187 |PiE = e CEFRA) Hf. Wiy [HHAA  |E% 100.0 84.5 89.15
20182328 [ [ K¥EFEIE—  |HLBEREE LB 20187 |PiE = e CEFRA) . Wiy [HHAA  |ER 81.7 57 64.41
20182329 5255 | K TiE . |ERBRXAMBEEZ)ITO  [2018% [WHES ¥ (BFHA) ®iR. s | EH4EA [z 100.0 79.5 85.65
20182330 [#fHF] [K¥EIiE " | LBE R LB 20187 |PiE = e CEFRA) wi. Wiy [HHAA |EiR 66.0 80 75.8
20182331 [Z= 3y [ R¥EFIE | LB R LB 20187 [PiE = e CEFRA) . iy [HHAA |ER 0 495 34.65
20182332 |t ZE | K¥EguE = | REREH BB 20187k | #5e (LTHA) M THA kR 0 0
20182333 [ R &FE [ K¥EHiE—  |WLBERRE LB 2018%% |4 TAE CRETEA) i LIA [ 67.9 75 72.87
20182334 [R5k [ RFETiE— | L BRI LB 2018%% A TAE (BTHA) iR THA  |[wiR 64.4 46 51.52
20182335 [iksafF | KR = | RE AR BB 20187 A TR (BTHA) MR THA  |[miR 100.0 56 69.2
20182336 | =it | K%¥EE— | RERAH BB 20187 A TAE (BTHA) MR THA  |[wiR 0 70.5 49.35
20182337 [XAE [ RFEIIE | B A LB 20187 (b TS TZ (BFA) Hi% THA  |[wiR 0.0 0
20182338 [fhE | KFESGE | REREH BB 2018%% [t THRETZ (BHAA) miz THA  |[wiR 89.8 91 90.64
20182339 [#ALF [ RFdiE— | E WA TN 2018%% (b THRE TS (T4 W% THA |[wiz 56.8 53.5 54.49
20182340 | B #ifEl | K¥Eo0E = | RERAH BB 20187 [T (BTHA) MR THA |[wiz 67.0 67 67




20182341 [fLE [ R¥FHEIE= | RRE LB %N 20187 [ TAE (LFA) MR T A PR % 100.0 82.5 87.75
20182342 | ¥ | RFIEIE " | RERAE e 20187 [MIETAE (LFA) iR LTHA  |ER 0 68.5 47.95
20182343 |4 [ K¥IOE = [l B 2018%% [ TRE (LHA) MR LRA  |ER 13.2 63.5 48.41
20182344 [&8 [ K¥I0E = [l TR 2018%% [HF (5 E T CEAA) Wi LRA  |ER 0.0 0
20182345 |4 | RFIEIE T | RERAR TN 2018%% (M TFEETIE (BFA) Wz LTIHA  |ER 0 73 51.1
20182346 | EA. | Rl | R A ek 20187 [ifE T2 (LFA) miR LTHA  |HR 96.7 80 85.01
20182347 [#) ¥ | RFIiE . | ERAE TN 20187 [ifE T2 (LFA) miR LTIHA | 11.6 27.5 22.73
20182348 |4 [ R¥FEFHIE T LB AL E N 20187 [ifE T2 (LFA) miR LTIHA  |ER 0 0
20182349 [ 7RI [ R¥FFiE " | wBRRE BN 2018%% [MfE TR (LAHA) M LTIHA | 98.3 29.49
20182350 [k [ R¥FEFIE | wB AL EEN 20187 [ifE T2 (LFA) miR LTHA  |HR 61.1 18.33
20182351 [#HH H [ R¥FFEIE" LR EEN 2018%% [Mf5 TR (LHA) M LTIHA  |ER 96.7 29.01
20182353 [ [ K¥0E = |l TR 2018%% |&xihsE (LA Wiz LRA  |ER 80.0 71 73.7
20182354 [ [ R¥D0E = |[Tiw @ R T 1E =0 2018%% |&ah% (LHAA) W LA | 86.5 63.5 70.4
20182355 [HE [ R¥30E = [T R T s =0 2018%% |kl B (BIA) phfR THA R 0 0
20182357 [ik & it | KEgE = | @A BB 2018% (&ih% (BAA) mE LTHA BRI 4% 90.0 72.5 77.75
20182358 |ikilf | KFESE | REREE TIE %R 2018% |&ih% (BAA) mE LTHA BRI 4% 83.2 54 62.76
20182359 [} [ RFEIE " | E WA T IEER 2018%% | &1t (LAA) W LTHA BRI 4% 100.0 56 69.2
20182360 |7/t [ R#50E = |[Tiwd R s =0 2018%% | &t (LA HiR LA R 0 0
20182361 [ [ RFEIE T R ERAE e 2018%% |&it% (LHAA) W LTHA BRI 4% 81.5 83 82.55
20182362 [ HE | K2EguE = | RERAHH BB %5 2018% |&ih% (BAA) mE LTHA BRI 4% 93.2 54 65.76
20182363 |[ik% | RFEIE T R E WA TN 2018%% | &1t (LAA) W LTHA BRI 4% 33.0 83.5 68.35
20182364 [Ai¥F | RFEIE T | ERAE T IEEN 20182 |&it% (LHAA) W LTHA BRI 4% 100.0 84 88.8
20182365 [F it | RFEIE T R ERAE T IEER 20182 | &1t (LHAA) W LTHA BRI 4% 0 83.5 60
20182366 [k [KFETEiE = | BE R LB 2018%% | &1t (LA W% THA  |[wiR 0 51.5 36.05
20182367 [Tifi. [ KFEIHiE—  |WLBEREE LB 2018%% | &1t (LHAA) W% THA  |[miR 0.0 56 39.2
20182368 [xfil [ K¥EHiE— | LBE AL EERNR 2018%% |&it% (LHAA) W% THA  |[wiR 0 92 64.4
20182369 [Fr [ KEFEFIET  |WLBERAEEEERN 2018%% | N AWREH (BFA) Wi THA  |[miR 96.7 83.5 87.46
20182370 [RJr [ K¥EFEIE-  |WLBERREEEEN 2018%% | N AWREH (BFA) Wi THA  |[wiR 90.1 27.03
20182371 [XHud [ KB — | L BRI LB 2018%% | N AWREH (BFA) Wi THA  |[miR 78.3 62 66.89
20182372 5k M [ KFEFHIES  |WLBERREEEERN 2018%% | N AWRE . (BFA) Wi THA  |[wiR 67.0 85 79.6
20182373 [ Rk [ KFETE | B R LB 2018%% | N AwRE . (BFA) Wi THA  |[miR 100.0 64.5 75.15
20182374 [Tk [ RFEFIES  |WLBERREEEERN 20182 | N AWREH (BFA) Wi THA  |[wiR 57.8 79.5 72.99
20182375 [ F#e [ K¥EFIET  |WLBERRE LB 2018%% | N AwRE . (BFA) Wi THA  |[miR 90.0 75.5 79.85
20182376 [Fif [ K¥EFIET | LBERRE LB 2018%% | N A¥REH (BFA) Wi THA  |[wiR 91.8 80 83.54
20182377 [Bik] | REFESGE T | REREH TIE R 20187 | NI RFEER (BTHA) iR THA  |[miR 0 21 14.7
20182378 [Eviyr | KSR — | RERAH TIB R 2018%% | N AwtiiiE s (BFA) W% THA  |[wiR 90.1 81 83.73
20182379 [k —F | KGR | REREH BB 2018%% | N AwtiiiE s (BFA) W% THA  |[wiR 100.0 81 86.7
20182381 | EiFE | KR = | RE A BB 2018%% | N AwtiiiE s (BFA) W% THA  |[wiR 100.0 715 80.05
20182382 |EIG4E | KR¥FouE— | RE A BB 2018%% | N wtiiiE s (BFA) MR THA |[wiz 100.0 67 76.9
20182383 |ZHEk | KB | REREH TIBEN 2018%% | N wtiiiE s (BFA) MR THA |[wiz 49.6 71.5 64.93




20182384 [FH#ers [ R¥HIE=  |HwBERRELBEN 2018 |\ WJREH CRAA) MR T A PR % 96.7 51.5 65.06
20182385 |Wriiiy | R Il | A Tk 2018%% |\ RFER (LTHA) iR LTHA  |ER 36.8 68 60
20182386 [fE48 %k | Rl — | ATk 2018%% |\ RFE R (LTHA) iR LTIHA | 61.1 54.5 56.48
20182387 x| H REFGE = | PR ERH T 1E¥ 5 2018%% |\ RFER (LTHA) MR LTIHA | 100.0 85 89.5
20182388 [k | RFIEIE " |FRERAE T IEEN 2018%% |\ JRFE R (LTHA) iR LTIHA  |ER 100.0 73 81.1
20182389 |#HfkE | kit — | RAE Tk 2018%% |\ RFER (LTHA) iR LTHA  |HR 0 51.5 36.05
20182390 ik 4 | Rk | ERAE T IEEN 2018%% |\ RFER (LTHA) MR LTIHA | 100.0 83 88.1
20182391 [F3%) | RFIIE " |FRERAE T IEEN 2018%% [fTHUEH (LTFA) Hiz LTIHA  |ER 0 70 49
20182392 [Fix [ R¥HEIE |HwBERRE L EEN 2018%% [fTHUEH (LTFA) Hiz LTIHA | 48.2 14.46
20182393 [HWFse | R&FdiE— | ARk 2018%% [fTHUEH (LTIA) Hiz LTHA  |HR 0 3.5 2.45
20182394 [# 85 [ RFEFE " |Berh R EOLEE AL 2018%% [ATBUEEE (LTHA) iR LTIHA  |ER 0 0
20182395 |7k | RFEIE " | RERAR T IEEN 2018%% [1THUEH (LTFA) Mz LTIHA  |ER 100.0 71.5 80.05
20182396 |EAA | KSR | REREH BB 20184 [1TBUEH (LIHA) miR LTHA BRI 4% 0 65 45.5
20182397 [ B Y [ R Ik | ERAR TN 2018%% | LriEH (LT1A) Hix LTHA BRI 4% 0.0 65 455
20182398 [ v b | Rl | WA ek 2018%% | LriEH (LTFA) Wiz LTHA BRI 4% 98.3 77 83.39
20182399 | FBKIK | K2Eguil — | PG R WA BB %M 2018%% | LiEH (LT7FA) Wiz LTHA BRI 4% 64.4 19.32
20182400 [#igle | R0l — | WA ek 20187 |5 (BFA) LTIA BRI 4% 52.8 475 49.09
20182401 | %% [ RFEiE " | ERAE &% 20187 % (BFA) LTIA BRI 4% 100.0 725 80.75
20182402 &7 [ RFEIE T | ERAE e 20187 |5 (BFA) LTIA BRI 4% 66.0 71.5 69.85
20182403 [Fr 757 | RF B | ERAR TN 20187 % (BFA) LTIA BRI 4% 100.0 70.5 79.35
20182404 [ik KW | Rl | AE ek 20187 % (BFA) LTIA BRI 4% 0.0 0.5 0.35
20182405 [ F3£45 [ RFdiE— | E A&k 20187 % (BFA) LTIA BRI 4% 76.7 82.5 80.76
20182406 |Fels | Rl | WA ek 20187 % (BFA) LTIA BRI 4% 91.7 60.5 69.86
20182407 [1RF] [ KFEFHIES  |WLBERRE LB 20187k % (BFHAD THA  |[wiR 85.2 84.5 84.71
20182408 [ F W2 [ K¥EFiE " | LB R LB 2018 % (BF-AD THA  |[miR 60.0 55 56.5
20182409 [ /2 Bl [ K¥EFE— | LB R LB 20187k % (BFHAD THA  |[wiR 65.0 66.5 66.05
20182410 [fhER K [ RFHIE | E WA TN 2018k % (BF-AD THA  |[miR 100.0 73.5 81.45
20182411 |3k5E8E | K¥EuE = | REREH BB 2018 % (BF-AD THA  |[wiR 100.0 30
20182412 [FYl [ K¥EFIE- |WLBERREEEEN 2018k % (BF-AD THA  |[miR 90.0 67.5 74.25
20182413 [BijE & [ K¥EIIES | B AL 1EEMN 2018 % (BF-AD THA  |[wiR 100.0 86.5 90.55
20182414 W [ K¥ETE" | LBERRHE LB 2018%% |5 (BF-AD THA  |[miR 100.0 67.5 77.25
20182415 [Z=3% [ K¥EEIES  |WLBE AL EERN 2018 % (BF-AD THA  |[wiR 100.0 79 85.3
20182416 [y & [ K¥ETE" | LB AL EEM 2018%% |5 (BF-AD THA  |[miR 100.0 81 86.7
20182417 [FEIFIG [ K¥EFIES  |WLBERRE LB 2018 % (BF-AD THA  |[wiR 100.0 53.5 67.45
20182418 iz B0 | K¥E0E = | RERAH BB 20187 |5 (BF-AD THA  |[miR 0 87 60.9
20182419 [Fk#EET | K¥E00E = | RE A BB 20187 % (BFHAD THA  |[wiR 100.0 66.5 76.55
20182420 [{41H | RZESGE | RERAEH TIB R 20187 % (BFHAD THA  |[wiR 100.0 37 55.9
20182421 | AR | R¥E00E— | REREH BB 20187 % (BFHAD THA  |[wiR 100.0 55.5 68.85
20182422 [ fkla [ RFHiE " | ERA &N 2018 % (BTHAD THA |[wiz 100.0 80 86
20182423 | k@l [ RFdiE— | E WA TN 2018 % (BTHAD THA |[wiz 100.0 69 78.3




20182424 | F5 [ K¥3aE = |z lRE B 2018%% |ik%: (LTHAD LIA [z 64.4 42 48.72
20182425 [Bkuii [R¥FTEiE = | o BRI LB EN 2018%% % (BFA) LTHA  |ER 95.0 67.5 75.75
20182426 [Xfji 3 [ R¥FEFIE " | wBE AL EEN 2018%% % (BFA) LTIHA | 0 0
20182427 |3t [ R¥FEFE | w BRI LB 20182 |5 (BF-A) LTIHA | 100.0 74.5 82.15
20182428 [ THs58 | Rl — | wA Tk 20182 |5 (BFA) LTIHA  |ER 0.0 55 38.5
20182429 [Z=F [ R¥FIE " LB RRE L EEN 2018%% % (BFA) LTHA  |HR 85.1 83 83.63
20182430 [[ER ¥ | RFdiE— | R EEk 2018%% % (BFA) LTIHA | 91.5 69.5 76.1
20182431 {3 | RFIEIE T | RERAR e 2018%% % (BF-A) LTIHA  |ER 100.0 57.5 70.25
20182432 |4l @i | RF ik | A ek 2018%% % (BFA) LTIHA | 0 0.5 0.35
20182433 ey | RFIEIE T | RAR T IEEN 2018%% % (BFA) LTHA  |HR 0.0 78 54.6
20182434 [Z=Pz [ R¥FIE"  |HwB AL BEN 20182 |5 (BF-A) LTIHA  |ER 0.0 0
20182435 40t [ R¥FFEIE T LB WAL EEN 2018%% % (BF-A) LTIHA  |ER 95.0 66 74.7
20182436 ik 7 E | RF B | ERAR TR 20182 |5 (BFA) LTIA BRI 4% 0.0 75.5 52.85
20182437 [5FE | RFIIE T R E WA T IEEN 20187 % (BFA) LTIA PR3 21.8 75.5 60
20182438 (M =il | Rk | WA Tk 20187 |5 (BFA) LTHA PR3 0.0 0
20182439 |¥ & | RFIEIE T | ERAE T IEEN 20187 % (BFA) LTIA BRI 4% 0 435 30.45
20182440 [BARIN [ Rl | A 1k 20187 |5 (BFA) LTIA BRI 4% 8.4 54.5 40.67
20182441 |4k | RFIIE T PR E WA e 20187 % (BFA) LTIA BRI 4% 84.9 68.5 73.42
20182442 |4t | RFIIE T PR E WA T IEEN 20187 |5 (BFA) LTIA BRI 4% 100.0 85 89.5
20182443 [5kH [ R¥ILE S |[Piwd R s 20182 |1:2E (CBAA) LRA R 0 0
20182444 [#f3EH [ R¥00E = |[Piwd R BB =0 20182 |1:2E (CBAA) LHA | 78.4 55 62.02
20182445 [y | RFEE T | AR TR 20187 % (BFA) LTIA BRI 4% 0.0 61 427
20182446 [Xm | RFIEIE T |FRERAE T IEEN 20187 % (BFA) LTIA BRI 4% 100.0 67.5 77.25
20182447 [k [ KRFEIES | LB AL EERN 20187k % (BFHAD THA  |[wiR 100.0 64.5 75.15
20182448 [#L30EE [ K¥ETES | LB R LB 2018% (L& TAE (BHA) miX THA  |[miR 98.3 79 84.79
20182449 [HAFEMS | K2E00E — |G RERA BB 20184 [1TBUEH (ERA) ®iR LA | RAR 0 41 28.7
20182450 B2 [ K¥ETE— | LB RRE LB 2018%% IFEMEIESHEA (RieA) w%  |EiEks |§R 0 0
20182451 [l | REESGE T | REREE BB 2018% [1FEHLEFESHEAR (Efed) iR |&iRAs  [wi 100.0 30
20182452 [FkiEMN [ K¥ETE— | LB RRE LB 20187 [1FEAEIEESHEA GeA) i |[mlEA  |EiR 0 0
20182704 [/l | RZETE . | R TR AR 20187 [PiE = e CEFRA) . Wy [HAA s 78.3 63 67.59
20182705 [#Mif | K2E9uiE . | TR AR 20187 [PiE = e CEFRA) . Wy [HAA |4 91.6 0 27.48
20182706 Mz | K2E5uiE — |2 TR 20187 [PiE = e CEFRA) . Wy [HAA ks 0 47 32.9
20182707 e | R2ATUE . | TR AN 2018%% |&it% (LHAA) W% THA  |[miR 0 71 49.7
20182708 (M5 | K2E9uiE . | TR AR 2018 % (BF-AD THA  |[wiR 0.0 66.5 46.55
20182709 [x¥z  [R=EHGE T | PR TREERE 20187 |5 (BF-AD THA  |[miR 78.0 87 84.3
20182710 (&) [R=FEIGE T | PRI TR 20187 % (BFHAD THA  |[wiR 0.0 86.5 60.55
20182711 [l [RFEIE T | PR TR AR 20187 % (BFHAD THA  |[wiR 95.0 71 78.2
20182712 [ZARHE [ RZEdE = | PR A TR R 20187 % (BFHAD THA  |[wiR 0 64 448
20182715 [[A]mede | K2E0uiE — P22 I5E I e 20187 [PLiE = e CEFEA) . Wiy [HHAA  |EiR 0.0 0
20182716 [MiE 5k | R%E00E = [P 2R ol 2018% [1HEHLEESHEAR (BHA) wiR | TAA  [wi 0 0




20182740 [ [RFEIE " |E RIRE O 2018%% |4iE (LTHA) A TAA R 0.0 83 60
20182741 | EMHi | RZFEHE |ERREFO 2018%% |PUE S 2 CEFAA) . g | AL (Wi 93.3 60.5 70.34
20182742 [HHj | RZFEHE |ERIREPO 2018% |5 8 T8 (EAAE) m#E LTIHA | 100.0 57 69.9
20182743 [t | KR2EgaiE = |lE RERE PO 2018%% &1t (KAA) W LTIHA | 0.0 12 8.4
20182744 |#% | RFIEE " |E RIREH O 20184 [\ i BiiaiE sl (CEAA) ik LTIHA  |ER 0.0 60.5 42.35
20182745 [HiHB | KR2EgE = |iE REREP.O 2018%% [fTHUEH (LTIA) Hiz LTHA  |HR 83.4 86 85.22
20182746 | Fi¥ [RFdeiE . |lE RIREH O 2018%% [1THUEH (LTFA) Hiz LTIHA | 84.9 68.5 73.42
20182762 [mibi e [ K¥3E = |l TR 2018%% |PUES ¥ CEAAD . Wi LAk |Iks 83.4 73.5 76.47
20182763 | /M | R2EF0E = Mk AR R 2018%% |PGEE % (BFA) mifg. e |[H74A  |[g 100.0 70.5 79.35
20182764 [IMEMT | R0 Wbk FIAR R R 2018%% (PUGEZ % (BIHA) MR, g | LA [ 0 79.5 55.65
20182765 [ [ K¥INE = | B 2018%% |PUES ¥ CEAAD wiR. Wi | LA | 100.0 30
20182766 |k el | RS0l [Mibk T EIAR R R 2018%% (PUGEE % (BIHA) mifR. g | LA |[wiE 61.2 435 48.81
20182767 [mids  [RFIIET [k E AR R 20184 [PUES 2 (BAA) Wt g | &EALK BRI 4% 66.0 91 83.5
20182768 [mifH  [R=FEdiE [k AR R 2018%% |25 (A4 &k THA R 74.6 65.5 68.23
20182769 [T [R=FEIiBE Mk AR R 2018%% |Hh#5% (LAA) &k THA R 96.7 57.5 69.26
20182770 [megnm [ RFEdi = Mk AR R 20187 [thZETHESTZE CERAA) Hi% LTHA BRI 4% 89.9 83 85.07
20182771 | T4 [R=FHBE T Mk AR R 20187 [thZETAESTZE (CBRAA) Hi% LTHA BRI 4% 98.4 84 88.32
20182772 [ X8} [RFEFE = Mk R AL 2018%% (b THRETE (T4 W% LA R 100.0 69.5 78.65
20182773 MR | K20l = Mk AR 2R 20187 [t TS T2 (LA mR LTHA BRI 4% 73.2 75 74.46
20182774 [ Wi kb [R=FEdiBE bk AR 20187 [MIETAE (LFA) iR LTHA BRI 4% 100.0 76.5 83.55
20182775 |mim [ RFEIE T Mk AR R 20187 MBI (LFA) MR LTHA BRI 4% 91.7 89 89.81
20182776 [ [REEIEE S MR TR AL 2018%% |feltb LR (CETFA) iR LA R 68.4 83.5 78.97
20182777 [stdhian [RFEE [k FE AR R 20187 |&@hz: (LFA) R LTHA BRI 4% 98.3 71.5 79.54
20182778 ik m [ RFIHIE T Mk FE AR R 2018%% | &1t (LA W% THA  |[wiR 100.0 46.5 62.55
20182779 [ A= Mg [ RZEdiB = Kbk AR 2018%% | &1t (LHAA) W% THA  |[miR 83.5 80.5 81.4
20182780 (X% 45 [ R=FEdE Mk FE R R 2018%% |&it% (LHAA) W% THA  |[wiR 96.7 81 85.71
20182781 [Xfil, [ R=FEHE T Mk FE AR R 2018%% |&it% (LHAA) W% THA  |[miR 95.0 63.5 72.95
20182782 |t [RGB Mk FE AR R 2018%% |&it% (LHAA) W% THA  |[wiR 100.0 69 78.3
20182783 [4Hy [ RFHIET Mk FE AR R 2018%% |&it% (LHAA) W% THA  |[miR 96.7 70.5 78.36
20182784 |k ik [ RI0E = Mk T R AL 2018%% | &1t (LA EiZ LIA [ 100.0 87 90.9
20182785 | A ifrlgy [ R=EdiB = Kbk AR 2018%% |&it% (LHAA) W% THA  |[miR 66.0 76.5 73.35
20182786 [ | KRZESE T Mk ARR AR 2018%% &2 (BFHA) R THA  |[wiR 100.0 72 80.4
20182787 |fF=2E | KRB Mk AR 2R 2018%% &2 (BFHA) iR THA  |[miR 100.0 85.5 89.85
20182788 [Z=30iE | K20l = [Midk AR 2R 2018%% &2 (BFHA) R THA  |[wiR 100.0 30
20182789 (&t [ R=FEHIBE [MkFE AR R 2018%% | N wtiRE s (TR W% THA  |[miR 100.0 75.5 82.85
20182790 (X b [ R=EdiB = Kbk FE AR 2018%% [4THUSH ((THA) Hix THA  |[wiR 100.0 86 90.2
20182791 [ M5 [RZEdBE = [k FE AR R 2018%% [4THUSH ((THA) Hix THA  |[wiR 66.0 49 54.1
20182792 [sk Wit [ K=ol = Wbk AR 2018%% [4THUSH ((THA) Hix THA  |[wiR 100.0 88.5 91.95
20182793 [FF4F [ R=FEHBE T Mk FE AR R 2018%% [4THUSH ((T1A) Hix THA |[wiz 64.4 70.5 68.67
20182794 [iwar [ R=FHE T Mk FE R R 20187 [Ri%E% (LHA) W% THA |[wiz 98.4 79.5 85.17




20182795 w5 | REFIE T Wik T IR R 2018%% [R4EZ: (BTA) it T A PR % 64.4 89.5 81.97
20182796 [xI&l [ R¥FFIE | RREEEER 2018%% % (BFA) LTHA  |ER 100.0 88.5 91.95
20182797 [Ty | RFIE " Wbk T IR R 2018%% % (BFA) LTIHA | 100.0 69.5 78.65
20182799 [A& ¥ | KSR Mk FE R R 20182 |5 (BF-A) LTRHA | ER 93.3 68 75.59
20182800 [Hlg [ RFHE Mk TR R 2018%% ik (BIHAD LTRHA | ER 100.0 86.5 90.55
20182801 |yt | K2Eguih = Mk AR R 2018%% % (BFA) LTHA  |HR 64.4 81 76.02
20182802 [k Il | R&FIE " |Mibk T EIAR R 2018% [#L=TAE (LAHA) M LTIHA | 100.0 66.5 76.55
20182803 | ik | RZESE Mk FE AR R 20182 |5 (e A e B4 73.4 79 77.32
20182804 [ik7s | KRZEFE Mk FE AR R 20182 % (e A A R 63.2 74.5 71.11




